
 

 

 

 

 

 

 

  

  

  

 

  

 

 

 

 

  1فصل 

  های متناهی و نامتناهی مجموعه
���� ���� 	
��
� ����� �� �	���� ��� �� .��� �� ������  ! ���" �#$��� ������ �%& �"   	'
��
� ���'� �� ��(    )'*�+� �'$

�#� .  

	
��
� )� 	  )��$ � ,� ! �#���� - )� .������ ��#/� �$ )� )*�+� .���!� �� ���� �#�  . �
� �'�� 	  0�� �,1 	'
�   �� �'$

	2��� ! �#��� 	���� ��� 	� .����$ -� �#� �� �#3��� �� �$.  

: { , , , ,...}1 2 3 4=ℕ  
	
��
�  ���
� �

)+#89  

: { , , , , ,...}0 1 2 3 4=W  
	
��
�  ���
� �

)��/;  

: {..., , , , , ,...}2 1 0 1 2= − −ℤ  
	
��
�  ���
� �

<#=>  

m
: { |m, n ,n }

n
0= ∈ ≠ℚ ℤ  

	
��
� �  ���
�

����  

	
��
� )?#?; ���
� �� )�3 	  -� ��� 	� �� �$  )*��+�� �/  @��>

0��3: ′ =ℚ  

	
��
�  ���
� �

A��  

: ′=ℝ ℚ∪ℚ  
	
��
�  ���
� �

)?#?;  



 

 

 

2  

	2��� 	  0�� BCD� �.�� 	���3 EF�2� 	� 	"�(�� 	
��
� �#� ��, � ��&�� 1�� ��$0�� �.  

⊆ ⊆ ⊆ ⊆ℕ ℤ ℚ ℝW  

��������:  

− =φℕ ℚ )1  

{..., , }2 1− = − −ℤ W )2  

′− =ℝ ℚ ℚ )3  

  

     �#'�I�$ ! ���� ��'"! )'?#?; ���'
� ��=� �!� -� �� �J���� 	2?3 K� ����#L� �M3 �� )$��CF� ��
 �$ 	  �#3��� ����

 �� �J�������� ��"! )?#?; ��
 K� ���=� �!� 	2?3 �$.  

	
��
� ��N
� ��O� -���
 	� ��$A { , , }3 1 5= − 	� �� ����� )?#?; ���
� ��=� �!� ��, @��>:  

  

  

  ها بازه

���� ����, �����  �� .��,!� )��3, �� 	  ��#�  ���� .,�� ����� �� �� ��� ����� �%& 0�/& ��� ��.  

)3��Q�� .��#R K� ��9 �� 	  ��#�  ��%( �� .�� 	���  S��
 !� �3�.  

	T>�* 	� ��; 	� �( -� �#� � .��  0&� �$ -� ��� U��� 	T>�* 	� �$ .�� 	���  �$ ,� �!�/� � U�3�  

0V�#3 �-��Q�� W�1 ��$  ! X�� Y��Z ��$ ...	T>�* �� [1��+� )� .��� ���& �$ ,� -�/V� ��$ �3��.  

 �@�#\��� ��.,�� )� K�  �� 	� �$ 	T]/� ,� ���#/� �#3���� �( ���  �#�  ^; �� �$.  

)� ��O� -���
 	� .,�� ,� �#3��( .��#R K� ��9 -�� BCD� ���� ��$   ��'9 �� 	  )3��Q�� ���+( )�; �� ��#�  .������ !�

.��#R K� .�� 	���  !� �#��#� �� �3�.  
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 K� ��9 �� 0Q�� _� ��� ��O� -���
 	�.��#R 	2?3 ,� !� 	2?3 �( -� )������ � 	T>�* �� �-� )����3� �   	�'��  �!�/� �

����� ������ .��:  

  

1  +
  

 ���+(

.,�� �$  

=
  

 ���+(

-��Q��  

  

.,�� ��9 �$  ×
  

 ���+(

��., �$  

=
  

 ��9

.��#R !�  

  

1−-��Q�� ���+(=  ��9

.,�� �$  

÷
  

 ��9

.��#R !�  

=
  

 ���+(

.,�� �$  

  

  

����� �� .,�� ��$�����  ,� )V� ��������.  

  .های زیر فکر کنید ه سوالب

1. ������ �
�� 
��� �  ���� ��� �3 �� ���� ���� 
�� . ���� ���1    ��� ����� ��� ����� �� ���  �� ! .

�� "�# ��$% ������ �& �'( �
�� 
��� � )
�� ���� ��� � 

 

2.  ������ ����+,� ����
! -���(′11 30: ���� ������ ������ �
 � 
����′1 00:  ���� /��� �0 ���� �����.  

�� 1 ��& �-�( �
 2�� �% ��+,� ��
! )�3( 
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"��� 4 � �
� ه�	 ز���� ��ز���5  �
�� �6���.  

  

  

)� ��; .,�� �#3��( �#�  `��+( )\��� -��, 	� �� ���
� �.  

  تعریف

.,�� 	
��
���, �$ )� 	  ���/$ )?#?; ���
� ,� )��$ -� -��( �Z �� �� �$	��� � �#/?( ��, � ��  ����.  

  ی باز بازه -1

�#�  a�*a !b ! )?#?; ��
 !�a b< ��� �� ����� 	
��
� @��>     �#'� )'?#?; ���'
� ��'�( �a !b ) '   ^��'� 	

��Qa !b ����83 (	� �� @��>(a,b) )� _���3 .,�� �� -� ! �#$� �#� ,�� �a !b )� �#��3 .	� -� )\��� ���3    �'�, @��'>

0��:  

(a,b) {x | a x b}= ∈ < <ℝ  

��� 	� ���=� �!� -� )���$ _���3 �#�I�$ 0�� 	3��:  

  

b  

  
A ( , ) {x | x }3 1 3 1= − = ∈ − < <ℝ :,�� .,��A �#�( , )3 1−  

0�� .�� .��� _���3 ��, @��> 	� ��=� �!� .,�� ���:  

  
� <\�! ������ 	  )(�=#\�( 	� 	"�(���3���&�� ��, c��!� 	  0�:  

A A A A2 0 3 5− ∈ ∈ ∉ ∉  
	  0�� <\�!( , ) ( , )3 1 6 2− ⊂ − 0��.  

0  
�#�I�$ !( , ) ( , )2 0 3 1− ⊂ −.  

0
  

	2��� �������� ����� �� ��, �:  

( , ) ( , ) ( , )2 0 3 1 6 2− ⊂ − ⊂ −  
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  باز ی نیم بازه
.,�� �#3 � 0��� ,� ,��a !b )WZ ,� 	�/� �#3 ��(	  �(a b)< 	� �� )� `��+( ��, @��> ���:  

[a, b) {x |a x b}= ∈ ≤ <ℝ  

  

.,�� �#3 � 	� e#3 �WZ ,� ,�� )� `��+( ��, @��> ���:  

(a,b] {x | a x b}= ∈ < ≤ℝ  

  

	  0�� <\�!:  

A (a, b]= ⊆[a, b) B=  

���,b A∈ )F! �0��b B∉.  

  ی بسته بازه
.,�� 	�/� � �[a, b] 	 a b<	� �� � )� `��+( ��, @��> �#� :  

[a, b] {x | a x b} (a,b) {a,b}= ∈ ≤ ≤ =ℝ ∪  

)���$ _���3 �$�D� ��=� �!� �� -��#�  ..  

  
	  0�� <\�!:  

(a,b) [a, b]

(a,b] [a,b]

[a, b) [a, b]

⊆

⊆

⊆

  

  کران های بی بازه

.,�� -� f�9 K� ^&��; 	  )��$+∞ ��−∞ .,�� �0�� )� ��$ 	� ! �3��� ��3 -��  )� `��+( ��, @��> �3��.  

)�#�  0&�+∞ !−∞ )\��� ���3 K� ! ���/#3 )?#?; ���
� �3�(.  

  

(a , ) {x | x a}+∞ = ∈ >ℝ

  

  

[a , ) {x | x a}+∞ = ∈ ≥ℝ

  

b  

( , b) {x | x b}−∞ = ∈ <ℝ

  

b  

( , b) {x | x b}−∞ = ∈ ≤ℝ
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��
� )� �� )?#?; ���
� � 	� -��( ��� -�D3 ��, @��>:  

( , )−∞ +∞ =ℝ  

  
-��$ )� 	  ��9 .,�� ��, �� ��#�#� .�� BCD� ��=� �$ �� �J���� ��$ �3�.

 
  

( , )−∞ 2    

[ , )+∞1    

[ , )−2 0    

[ , ) [ , )− +∞1 2 2∪    

  

  

[ , ) [ , )−∞ +∞0 0∪    

.,�� 	���� �� ��; .�� BCD� ��$  )� _���3 ��=� �!� �� �#$�.  

( , ) ( , )− +∞1 4 2∪  

.,�� ,� ��� �$ �!� )� -�D3 ��=� �!� �� �$ �#$�:  

  

	� .,�� !� ��� g���"� 0�� ��, @��>:  

  

( , ) ( , )− +∞1 4 2∩  

-� h����� ��; )� _���3 �� �$ �#$�:  

  

[ , ] [ , )− −1 1 2 3∪  

  

	
��
� �� ����� .,�� !� g���"� i�e� � )� �( ���. 
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���A B⊆ �����A B B=∪.  

.,�� _���3 ��, �� 	
��
���, ,� )N+� �� )� �� )?#?; ���
� �����  �R ��$ �#�#�:  

( , )

( , )

( , )

[ , )

( , ]

0

0

0

0

0

0

0

0

> +

< −

≥

≤

= −∞ +∞

= = +∞

= = −∞

= +∞

= −∞

ℝ

ℝ ℝ

ℝ ℝ

ℝ

ℝ

  

���a∈ℝ .�L3� �����[a,a] a= !(a,a) =φ.  

  شعاع بازه

)� .,�� K� ���� )� �M3 �� .,�� -� ��9 `%3 �� .,�� K� g�+� ���  `��+( g�+� -��( ���#�.  

���b∈ℝ !a .,�� g�+� ������ �(a,b) �� �����b a−
2

 0��.  

j�?3 ,� )V� ���a ��b�∞ )� �� .,�� g�+� ������ )� `��+( 0���3 �#� .  

).,��3� �� ��#kl( �.,�� -��� 	�/� �� ,�� ����3 g�+� �(.  

.,�� e �� �#�I�$ �(a,b) ��a b+
2

 )� `��+( �#� .  

  
.,�� e �� ! g�+� �[ , )1 5  E#(�( 	�2 !3 0��.  

  

  

  های متناهی و نامتناهی مجموعه

 0�� @�#\��� �� )���� ! ���#�� �#$��� ,� )V� 	
��
�     	T]'/� ^'; �� m'&��� ,� ���#'/� �� 	'     -� ,� `'T�C� ��'$

)� .������ ��� .-� �( �0�� �,1 �������� )� 	  �" �#��� 	���� @�
n9� -� ������ �#3��(.  

	
��
� ����� �%& 0�/& ��� �� ����� ���� 	
��
� ����� �� ��; �( 	���� ��� ��     )'*�+� ��'� 	'� �� )$�����3 ! )$���� ��$

�#� . 
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  .در مورد متن زیر فکر کنید

	���� K� _3�� ,!� �� ���� �%& 	3��/R � 	I� 	� �,��� o�8�� �#��� ��Q )F!� pn  ��$ �$�� 	��$ �,�� . 0�� )����

_3�� ���+( ���� 	  	�$ 	� �( ���� BCD� )F!� pn  -�,��� -� � o�8�� �#��� �$ ���� �,�� .	��$ ���+( ��� ���,    �'��  �'$

����.�9�Q 0�� �V�� � �3��3 �" 	� )��Q �!  

_3�� ��� )� -�D3 1�� ��� ����#L� �M3 �� 	
��
� K� �� �!� pn  -�,���   �	'
��
� K� ��N
� ���+( ��/3�� 	  �$�

0�� 0#�$� �����.  

  

���+7� ��8�� 
��9& �:3( ;<'� �� � � ��5.  

1 (	
��
� 	��$ ��$,!� �  

2 (	
��
� �� � ^;�� ���  ��$  

  تعریف

	
��
�  )$���� �� ��)-���R�� ()�  )��'/; ��
 K� -� ��N
� ���+( .���$ ��#���{ , , ,...}0 1 2      ^'�
 m'&�! �� �'� ��'���

���� -���R 	� -� ��N
� r����.  

	
��
� �1�� ��O� �� 	
��
� )F! �0�� r���� ^��& 	��$ ��$,!� � �� � )�3 �� ^;�� ���  ��$ ���� -��(.  

	
��
�  )$�����3 �� ��))� -���R ()� ���83 )$���� .���$ ��#���.  

	
��
� ��N
� ���+( 	  0�� ��!���� 	� �,1 �A �� ��n (A) )� _���3 �#$�.  

���!
� : 	
��
� ��N
� ���+( �φ )� �M3�� ��> �� ���#�.  

	
��
� ����� �� -�� ���� ���� )� ��
 �� )$�����3 � )� .������ @�#\��� �� ���� )F�O� ,� �0���3 �#� .  

  زندگی در هتل آقای هیلبرت

0�� E#

 ��� K� )�/���( ^�$ ���( E;�> @�8T#$ ��&� .      �'��� ��#'�  `#'>�( �� @�'8T#$ ��'&� ^�$ �#$��C� ���

X�(� �#��L�  ^�$ ��� ��$����3 )���() !)� ����� -��$ ��� ! 0�� 0���3 (.      ���'� ^'�$ �'�� ���! 	'  )'%C� �$ ���� )�+�  

���� ��"! X�(�.  
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.���� �*�/� 	� 	  �#�  ��%(  �1 X�(� �1.���� �*�/� s  �2 X�(� �2    .���'� �*�'/� 	'� E#(�( �#�$ 	� ! �n X�'(� �n 

0�� .�� .���.  

X�(� ���( 	  )2���� �� 0��� ^�$ 	���=(� -���,�� ,� )V� .�� �R ^�$ ��$ )� ^�$ 	� )��,�� ���� �-����    �'%& ! �'��

���� 	���� 0��&� -� �� �,!� ��Z 	  ����.  

.���� X�(� 	D#�$ �-���,�� 	� j���� X�(� @�8T#$ ��&� ^�$ ��  �1 0�� .��� . ��� ��� �M3 	�   �'�� 	'  ���� ��"! )$��

.���� X�(� �� p�,��  �1 U��� � ��  

0�� 08O� ���� ��� t��R .X�(� -�Z )� ��3���3 )���( ^�$ ��� ��$ .���� �*�/� -��(  �1 .���� X�(� 	� ��  �2  �*�'/� �

.����  �2 .���� X�(� 	� ��  �3  ! ...�/� 	  �� p�,�� ! ��� 	���� �� ��  ��� E#(�( �#�$ 	�.���� �*  �0  )'� �M3 ��   ����'#�

.���� X�(� ��  �1 ��  � ��.  

  

	
��
� �1�� ��O� 	� 	"�(�� ��$W !ℕ	
��
� � )� ���, ����/$ )$�����3 ��$ �3��� �N
 0���3.  

  

  های متناهی مجموعه

)1 A { , , ,..., }1 2 3 10=  

n(A) 10=	
��
� �������� � 0�� )$���� ��.  

)2 B {x | x , x }2 9= ∈ < <ℤ  

��N
�B 	� 	
��
� @��> �{ , , , , , }3 4 5 6 7 8 �������� �0��n(B) 6= !B	
��
� 0�� )$���� ��.  

)3 C {x | x , x }9= ∈ ≤ℕ  

��N
�C 	� 	
��
� @��> �{ , , ,..., }1 2 3 9 �0��n(B) 9= !C 	
��
� 0�� )$���� ��.  

 

)4 D {x | x ,= ∈ℕ 	
��
� o�N� �  ��
 ��$2  ,� ���  !10 ���� x}  

��N
�D 	� 	
��
� @��> �{ , , , }2 4 6 8 )� ! ����n(D) 4= !D 	
��
� )� )$���� �� ����. 
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  های نامتناهی مجموعه

)ی اعداد حسابی مجموعه) 1 )W  
)� 	
��
� �#3�� 	� )��/; ���
� ��$ @��>{ , , , ,...}0 1 2 3 0�� .  ���'
 ����#L� �M3 �� 	  ���
 �$ �	
��
� ��� ��

)� i�e� -� ,� 	  0*�� ��� ���� �( .      0'/#3 r���'� ^'��& 	'
��
� �'�� ��'N
� ���+( �������� . ������'��W � 	'
��
�  ��

0�� )$�����3.  

)ی اعداد صحیح مجموعه )2 )ℤ  
 @�=#\�( ��3��)1(�� 	  ���
 �$ �ℤ i�e� -� ,� ���
 ����#L� �M3�� KZ�  -� ,� ! �(   )'� 0'*�� �(  ��'� .  ������'��

)�3 ��N
� ���+( -��(ℤ  ��xR ���  r����ℤ 	
��
� 0�� )$�����3 ��.  

  3ی اعداد مثبت و مضرب  مجموعه )3
	
��
�  o�N� ! 08O� ���
� �3 	
��
� e#3  	'� -� ��N
� ! 0�� )$�����3 ��   	'
��
� @��'> �{ , , , ,...}3 9 12 15 

0��.  

  

�#�  a�*A B⊆ ����� ���A 	
��
� ����� )$�����3 ��B 	
��
� e#3 0�� )$�����3 ��.  

>:?
: ���A 	
��
� )�3 r���� ^��& -� ��N
� ���+( �������� ����� )$�����3 ��  -�'Z ! ����A B⊆   �0'��  ���'+(

��N
�B �� ����� ��A i�e� �� ,� �(A �������� �0��B 	
��
� �$ 0�� )$�����3 ��.  

  

)�  	  �#3��⊆ ⊆ ⊆ ⊆ℕ ℤ ℚ ℝW . ! .�� -�#� 	�V3 	� 	"�(�����  	'
��
� 	  �ℕ      ,� ���'  �'$ �0'�� )$�'����3

	
��
� ��$W �ℤ �ℚ !ℝ )� )$�����3 e#3 ���.  

  

�#�  a�*A B⊆ ������� �B 	
��
�  ����� )$���� ��A 0�� )$���� e#3.  

>:?
 :���B  	'
��
�    ������'�� ��'��� )$�'��� ��n(B)          	'  �'�� 	'� 	'"�( �'� ! 0'�� BC'D� ��'
 K'�A B⊆ �

���;n(A) n(B)≤ )� ��� .xRn(A) 0�� BCD� ��
 K� e#3 .��������A 0�� )$���� e#3. 
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  متمم یک مجموعه 
�#3��C� 0&� �� �� ��, ��� ��#�  )*�+� �� 	
��
� K� ���� ������ �%& 0�/& ��� ��.  

)T
 i�e����� )� )��3, ���!� �� ���� 0�!� ��#/� �� 0+#89 )T
 ���  .     �'� ! )��'Q 	'� �� )T#'%=( ��� ���( ��������

)� p�� �y�3� 	�$ �3���� ! ��  ��z� 0#?*�� �� �� _(�3�=��� �( �3��Q     ��'9 �� )'T
 �!�'� ���!� 	� �� -��/��( @n#2+( �

)�3 )T#%=( ��� �!�� ���!� 	� �3��(.  

�
� ��� ���;	
� .�� � �� ��� ��$U	
��
� �  .�� � �� -��/��( ��$A 	#?� ! .�� � �� ��� ��$A′   �'�� ��N
� ��#����

	
��
� 	� �$ ���/$ ��, @��>:  

}�����Q ��#( ������ ������� ��� �-��� ��{� ��� ����� ������ �����!�* �0D�8����U {=  

}������ ��#( ������A {=  

}����Q �0D�8���� �����!�* ������ ����� ��� ��{� �-��� ����A {′ =  

  

��O� ��� ��U 	
��
� 	�$ � .�� � ���� ��$A 	
��
� .�� �     )'� )'T
 	'  0'�� )��$     ! �!�'� ��'�!� 	'� �'3��(A′ 

	
��
� 	#?� � .�� �  ��� ��$).�� ,� �#| 	�  -��/��( ��$ (0��.  

  تعریف

��
�	
  	'
��
� �m"�� �        	'
��
� ��'�( ! 0'�� �'M3 ���'� }'=� �� )T'>� �      	'
��
���, -��'�
 	'� �'L�� ��'$  �  

)� 	�*�� �M3 �� -� 	
��
� �� 	
��
� ��� ��3�� )� e#3 )3��" � �� �� -� [1��+� ! ����3U )� _���3 ��$�) . f�';U  ,�

�T 	  �Universal0�� .�� 	�*��.( 

	
��
� -��  `��+( �� -�� � )� �m"�� � �#�  `��+( e#3 �� 	
��
� K� ���� �#3��(.  

	
��
� ���� �A�A U⊆�� �� �A′ )� _���3   	'
��
� ! �#'$�  '�$ �	  ��$�'N
 �U   �� 	'  0'��A  ���'/#3 .  

	
��
� )�+� �U A−0�/& � )� BCD� �� 	
��
� ��� .�,����$ ��$ �� .  

  

	� ���� 	
��
� K� ���� -��!� 0�� 	
��
� ���� [���; � ���� BCD� m"�� �. 
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�@�= 1 2 3 4 5 6 7 8 9 10U { , , , , , , , , , }�= 2 4 6 8A { , , , } �= 1 2 3 4 5B { , , , , } ���+7� �����  ���5′A �′B 

�:3( ;<'� ��. 

′ = 1 3 5 7 9 10A { , , , , , }  

′ = 6 7 8 9 10B { , , , , }  

� �:G� �6� �
 �� � � >H�.  

U

A
f

b

d

  

3 ��)� 1�� ^V� 	� )?#&� .�L 	  �#�#�d !f 	
��
� �� �U 	
��
� �N
 )F! ����/$ �A �������� ����/#3:  

A {d , f}′ = ��d , f A′∈.  

 ���+7� �� �I�& �� ���+7� J+K� �L�� ;<'� ��5A �:M �3� ��.  

= ∈ ≤

= ∈ ≤ ≤

7

4 6

U {x| x , x }

A {x | x , x }

ℕ

ℕ
  

���� 	� 	"�(��U { , , , , , , }1 2 3 4 5 6 7=!A { , , }4 5 6= ��������:  

A { , , , }1 2 3 7′ =  

  

� 	
��
� K� ���� ����� �� 	  ��;�3���&�� ��, c��!� 	  0�� <\�! ����� ���.  

U′ = φ )1  

U′φ = )2  

(A ) A′ ′ = )3  

A A′ = φ∩ )4  

A A U′ =∪ )5  

 ���+7� �@� ���+7� � �9:N# 
���� �� OI�� � �A     /! �J ��:G� ��6� �
 P�� ��9:N# 
����� ��  �L��@′A �

���+7� �� 
�Q �9:N# 
���� � 
��.  

�@�ℝ   ����+7� /���3� �� ��    � J ��:G� ��6� �
 O�I�� �= ∈ ≤ ≤2 3A {x| x , x }ℝ ����+7� � �′A � �

�:3( ;<'�.  
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���+7� �� � �
 ��5U�A �B L�� ;<'� ��� .���+7� ��8�� �′(A B)∩ �′ ′(A ) �:M �3� ��.  

=

=

=

1 2 3 4 5 6 7 8 9 10

1 5 6

3 5 6 7

U { , , , , , , , , , }

A { , , }

B { , , , }

  

  
�#�  a�*U 	
��
� ! m"�� �A !B 	
��
� !� ����� .��CF� �.  

	�$ 	
��
� �� �� � �B A− ����� )����� .	� -� -! �����3 0�� ��, @��>:  

  
-��$ )� ^V� �� 	  ��9 �#�#�.  

n (B A) n (B) n (A B)− = − ∩  

  
)� �#3��A U A′ = − ����� xR:  

n (A ) n (U) n (A)′ = −  

  تعداد عضوهای اجتماع دو مجموعه
	2��� ����� �%& 0�/& ��� ��  	8��=� ���� �� �#$� 	~��� 	
��
� !� g���"� ��N
� ���+( �.  

�:���<� �

 �� �� � � 4K�  
�^L�" ,� 	#;�3 K� �� 10 )� )��3, r���Q ��
  	  ��� 6 -� ��(  ! �#�� �$4 -� ��( 0�� .�#� �$.  

	
��
� ��$A !B 	� �� )� `��+( ��, @��> �#� :  
}r���Q ���/$ �#�� 	  )��$A {=  

}r���Q ���/$ .�#� 	  )��$B {=  
����� 	
��
� !� ��� 	� 	"�(��:  

n (A)

n (B)

n (A B)

6

4

10

=

=

=∪

  

  
  

0�� ��, @��> 	� ��O� ��� -! �����3:  

  
	2��� ��O� ��� �� 0�� ���&�� ��, �:  

?
n (A B) n (A) n (B)= +∪  
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"��� :�� � !  4 � /��&���+7� �
 �5 ���� �� �R��� L��<?
 �A �B )����  

             �� � ! �R��� /! �
 �( �:�S� �?�T� �:���& )���N� ���
�� U�� �  

  

�:3( �

 � � "�T� ��.  

-�( /��V& �
 �( L�(�35 W  �� ��S@�� �M �3��� � ���$� ��5 ( ��3200   
��
 ��I�35 ��X� .120   �� ��X�

/! �M �3��� -�( �
 �5� 100   � ����$� -�( �
 �X�20  /! �� ��X�      ��� �(��� -��( �
 ��5 �
 ��5  ��33( .  

���+7� ��5A �B �� ��  �� �Q�9� � � 2��Y J:3(.  

}��$)� 0 �� )/�����Q pn  �� 	  )��$�" ��� A {=  

})� 0 �� )��?3 pn  �� 	  )��$�"��$ ��� B {=  

})� 0 �� pn  !� �$ �� 	  )��$�"��$ ��� A B {=∩  

�	
��
� 	� 	"�(� ����� �.�� )*�+� ��$:  

n (A)

n (B)

n (A B)

n (A B)

120

100

20
! 

200

=

=

=

=

∩

∪

  

	� ��O� ��� -! �����3 0�� ��, @��>:  

U

B A−A B−

A B

A B

100 8020

  

	2��� 	  0�� <\�! 	��� �  ��� �� �^8& ��O� �� .�� 0/#3 ���&�� �".  

)� ^V� 	� 	"�(�� 	  �#�#�:  

( )*n (A) n (A B) n (A B) n (A B) n (A) n (A B)

n (B) n (B A) n (A B)

= − + ⇒ − = −

= − +

∩ ∩

∩
  

( )*n (A B) n (A B) n (B A) n(A B) n (A B) n (B)

n (A) n (A B) n (B)

n (A B) n (A) n (B) n (A B)

,� .����'''�� �'''� 
= − + − + = − +

− +

⇒ = + −

∪ ∩
����	���


∩

∪ ∩

  

���	2 	� � )� �� .��� 0�� 	8��=� ���� �#3��( 	� 	
��
� !� g���"� ��N
� ���+( � ���8� �� .  

	2��� ,� �#�I�$ �n (A B) n (A B) n (B A) n (A B)= − + − +∪ ∩ 	T]/� ^; �� )� .������ �$ ���.  
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�#�  a�*A !B    � �'�� �'�� ���'��� 	
��
� !�     	�'���3 ) ��'D� �'N
 �#'$ 	'
��
� !   ��'���(n (A B) )0=∩   

�#���A !B �$ ,� ��" �� �e
� 	
��
� !� �3�.  

  

 �-�( W  �
20 Z��
 �� �X�  � �[� � -�
 �
 /����!25 /! �� �X� L�� "�N
 W S:Q -�
 �
 �5 ��� .� �@15   ��X�

�X� �3% -�( 4 � ��3��� L�� "�N
 -�
 �
 �5 �
L )���  

	
��
� )� `��+( �� ��, ��$ �#� :  

}_3��  .�� ��8& )\��� p�� �� 	  )3�,��� �3�A {=  

}_3��  �� ��8& K�e#* p�� �� 	  )3�,���. �3�B {=  

}_3��  .�� ��8& p�� !� �$ �� 	  )3�,��� �3�A B {=∩  

��N
� ���+( -��  ��#R ���� ��� f�$ 	  0�� BCD�A B∪ 0�� .	2��� �89 ����� �����!� 0�� 	� 	  ��:  

n (A B) n (A) n (B) n (A B) 20 25 15 30= + − = + − =∪ ∩  

 pn  ��� xR30 _3�� ��3 ���� ,���.  

	� ��O� ��� -! �����3 0�� ��, @��>:  

U

A B

5 1015

  
	2��� 	  0�� <\�! 	��� �  ��� �� �^8& ��O� �� .�� 0/#3 ���&�� �".  

�7:K�:  

�$ ,� ��" 	
��
� !� ����A !B�N
 ���+( �	� ��, 	2��� ,� 	
��
� !� ��� g���"� ��$ )� 0��  ���:  

n (A B) n (A) n (B)= +∪  

  4:� ��10  �L�G����! W  �:�
6 /! �� �X�   �W� S:Q �55    � ��[� � ��X�2     1 ���& �� -�
 �
 ��5 ��X�

�� �33( ./! �� �X� �3% \:5 ��5 �+� 1 ��& �� -�
 �
 4 � �� W  )�33(  

 �@�= 2 4 6 8A B { , , , }∩�= 10n(A) �=6n(B) ��8�� 
��9& �����A B∪ �:3( ]�M, ��.  

 ���+7� �@� ��5A �B �� �� ��8�� 
��9& �J:��� �K��
 � � 2��YA B∪ �:3( ]�M, ��.  

} o��N�3 KZ�  	   ,� �(10 �����A {=  

} o��N�2 KZ�  	   ,� �(10 �����B {=  
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  پاسخ مثال

  

  
A {x | x , x x }�� 2 3′ = ∈ < >ℝ  

  

�����A B { , }5 6=∩�������� �:  

(A B) { , , , , , , , }1 2 3 4 7 8 9 10′ =∩  

�#�I�$A { , , , , , , }2 3 4 7 8 9 10′ = !(A ) { , , }1 5 6′ ′ =  

  

})� x���( K�e#* 	  )3��#�� ��� A {=  

}( )\��� 	  )3��#��)� x��� ��� B {=  

}.�L�,��� ��� -��#�� ^ U {=  

)� ��� �� -! �����3 ����� ���� ��� ^; ���� �#� .  

U

A B

4 32

1
  

	� 	"�(��   @��>���� )�  	  �#3��2 x���( )\��� �$ ! K�e#* �$ �.�L�,��� ��� -��#�� ,� ��3  )'�    �� ������'�� ��'�� 

 ��
 ) ����� 0�/&2 )� �� ! ������ 4 )� p�� K�e#* c?* ��3  ��$�) ���,6   �'3��� K'�e#* x���( ��3 (  �#'�I�$3   �'�3

)� p�� )\��� c?* ��$�.  

)� ���
� ��� g��
�  ���( )4 2 3+ +)� ��3 K� c?* �������� � �� !� �$ ��� ,� K� �#$ 	  �3��)�3 x���( �� p  �'�  .

))� p�� )�#� [nO� )�+� �$�(.  

	� �� ���� ��� t��R �#$��C� ��� ���� ���� ��� 	  )*�$ �#/���� )F���* @��>n (A B)′∪ 0��.  

( )n (A B) n (U) n (A B) n (U) n (A) n(B) n (A B)

( )10 6 5 2 10 9 1

′ = − = − + −

= − + − = − =

∪ ∪ ∩

  

  
n (A B) n (A) n (B) n (A B) 10 6 4 12= + − = + − =∪ ∩  

  
�����:  

A { , } , B { , , , } , A B { }

n (A B) n (A) n (B) n (A B)

3 69 2 4 6 8 6

3 4 1 6

= = =

= + − = + − =

∩

∪ ∩
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  و دنبالهالگو 
�#�  08=> @�#\��� �� 	F�83� ! �LF� ���� �� ����� �%& p�� ,� 0�/& ��� ��.  

)� K�  �� 	� m&��� ,� ���#/� �� @�#\��� �#3��� 0�� EF�" _#R �#3���� �( ��  �#�  )���!  

	  0�� )�!��" @��& K� ��$�LF� -��  h�� ! -�#��* �0�� @�#\��� �� EF�" };�8� ,� )V� �$�LF�   -� ,� .����'�� ��

)� _#R �#3��( ���8� @�F ��D#� ! �#�  h�� ���� �� ��Q f��9� -��" ��#�  `D  ��#�  )���.  

)� )����� }
�� ! 0�� �,�� K� �$�LF� �� -��  ��  �#�I�$ ���.  

.�#I#R ��  @�&!� )$�� ! 0�� )�;�� ��  ��LF� K� B#CD( m&��� )N+� �� )� ��( ���.  

  

 �+� �6� ��L� �
 ��I �� ^�� �% �?�� ��5 )J ��_G� � �5  

  

  

)���, p�; 0��� 	T�(!  

  

 L��+� >H� �
 �+� �6� ��5 ^�� `:&�& )��� ���G% �5  

  

  

 �Y�� ��G?� � !�
 �� )�M5 �+� 45a �:M �3� �:���&.  

 

  

)� e#3 ���
� �� �#��� 	���� ���+�� ��$�LF� �#3��(.  
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  تعریف
	
��
� ���
 ��LF�  ,� �����/$ j�8(�� �� �L��V� �� )>�Q E#(�( ! �M3 �� 	  0�� ���
�.  

  

�� � ! �:�S� -�, �� � � ��G?� �
 ��9� 
�� �� �:���&. 

............., ............. ,............. ,57, 59, 61  

0�� ���  �;�! !� ��Q ^8& ��
 ,� ��
 �$ 1�� ��LF� �� .����� xR:  

51, 53, 55, 57, 59, 61  

 �:3( �0 � � ��G?� �
 �� �?�� ��I. 

............. ,52, 43, 34, 25, 16, 7  

 ��Q )T8& ��
 ,� ���
 �$ e#3 �LF� ��� ��9 0�� ��D#� �;�! .��
 )F�Q ��" ��������52 69 1+ = 0��.  

 �� J:��:� L�� L
�
 "��I �
 �� � � ��G?� 
�� 4:���V% J:5���. 

4  3  2  1  .����  

? 230  170  110  ���+(  

	� ���� )� �  �!� ��
 ,� �� �!� ��
 ����� �����Z ��
 -��!� 0�� �#� .  

( )− =170 110 60  

)� �  ��� ��
 ,� �� �!� ��
 .���!� �#� .  

( )− =230 170 60  

)� ��#R -��#�9� ��;  �LF� ��� ��$��
 fn�Q� 	  �#� 60 0�� . ��Q )T8& ��
 ,� ��
 �$ )�+�60      ������'�� 0'�� ��'D#� �'(

 ����Z ��
60 0�� ��D#� ��� ��
 ,� �( . ���� xR60 	� ��
 �#����Z �( �#�  	*�\� ��
 �#��� 	� �� ���#� 0��.  

230 60 290+ =  
�:���<� �

 �� �� � � 4K�  

m��� ���+( 	� 	� ��$  0&� ^V� �$ �� 	�*� �� �#� .  

  
4  3  2  1^V�  

? 14  10  6���+(  

  

	>nQ ���� ����
 ��$�LF� �� )� .������ )\��� ��������3 ,� )/��3 �#�  . .���'� ^V� �#��L� 	  ��� ��" 	� [nO�  �

)� K� �#/��3a1 ))� !  �#3��Qa  x��3�1.(  
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��$�#��� 	�a1 �a2 !a3x��3� ��$�#��� � )� ��� -� ����?� 	  �#��� 	� �$  E#(�(6 �10  !14      ����'?� �'�� 	'� ! 0'��

)� 	��� �LF� @n�" ���.  

 )�+�6	T�" �  ! �LF� �!� �10	T�" �  ���� E#(�( �#�$ 	� ! �LF� �!�)� 	 �#$�.  

��������3 ��� ��a8 -�D3 .��$� m��� ���+( � ! 0�� ��D$ ^V� ��$na m��� ���+( ^V� ��$n���.  
  

na ��+I �� �� �G?� ���+� � J:���  

  

na )� BCD� �� �LF� @n�" ���Q�� ���, �0�� ����, 0#�$� �����   )'� -� ,� .����'�� �� ! ��      �� �'LF� @n'�" -��'(

	� ��!� 0��.  

�LF� ��� �� ��� �M3 	�na 	� 	3�LZ )� 0�� ���.  

^V� �� 0&� �� )� �$ �#�#�.  

n

a ( ) a ( ) a ( )

a ( n )

1 2 34 1 2 4 3 2 4 5 2

4 2 1 2

= + × = + × = + ×

⇒ = + − ×
  

��;a4 !a8 	� �� )� 0�� ���!�:  

a ( )

a ( )

4

8

4 2 4 1 2 4 14 18

4 2 8 1 2 4 30 34

= + × − × = + =

= + × − × = + =
  

  الگوی خطی
	� �� 1�� ��LF� @n�" �#�I�$ )� ��, �!�" @��> �#/���� �#3��(.  

��+I cM� �na  
na

  

n

  

2 4+  
a1

  
1

2 4 4+ +  
a2

  
2

2 4 4 4+ + +  
a3

  
3

2 4 4 4 4+ + + +  
  

a4
⋮

  
  

4
⋮

  
  

  

n

...
  �( 

2 4 4 4 4 4 4+ + + + + + +����	���


  

na

  

  

n
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na n2 4= +

����� 	
#�3 ��:  
  

	T�" !� �$ ^\��(  ,� )8��\ ! 0��k ���?� �LF� ��� )F���� �4 0��.  
  

  

	=�> �!� �� .�� BCD� j�?3 _���3 �#�#8� @�%�C� �.  

( , ) ( , ) ( , )1 6 2 10 3 14  

  
	F��+� cQ ��� �y x4 2= + 0�� .cQ �!� j�?3 ��� )�+�y x4 2= + �3��� ���&.  

  تعریف
�#�  a�*a !b -� ������ )���k ! .��CF� )?#?; ���
� 	T�" �� )��$�LF� .�� )���
 �nt an b= +   )'2Q ��$�LF� ��

)� �#��3 .-��$ ����� ^8& ��O� �� 	  ��9a ! cQ E#�b 	F��+� ��8� ,� a�
 cQ �y ax b= + 0��.  

  
	T�" !� �$ fn�Q� 0�� )���k ���?� )2Q ��$�LF� �� )F���� �) .E��\ -��$ 0��k ���?� ���n )�+�a 0��(.  

 � � !��+I )��� �R� ��G?� W  � � ��G? �:3( ��:0 �� /! ���+� �) .  ��:3( e��Qna    ���[� 
���9&

O��� ���� �5(.  

(1) (2) (3)
  

 ��+I �� � ��G?� �� �I�&�� �:M �3� �� ���+� � .  ���� �R� ��G?� W  �G?� 4 � � !)  ��:3( e��Qna 

`9H� 
��9&  �5 ��5���� >H�(. 

  

 0��k 

�#��� 
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  دنباله
�#���3 �� -� �� �J���� ���
 ��LF� �)���$ ��LF� �$ ���� �)T8& _C� ��.  

	F�83� 	
��
� ���
 ��$ 	2��� K� �� 	  ���/$ ���
� ,� �� 	� BCD� � )� �$ ��83� 	� )F���� ��9     �L��'V� �'� ! �'���

�3��� )\��� j�8(�� K�.  

	F�83� @n�" �� ���
� ���  )� #����.  

  های بازگشتی دنباله
	F�83� 	T�" K� ����3 ���� 	 ���/$ )��$ �#3��� �� -� ^8& @n�" �� 	T�" ���� -� �.  

  
)� �#3��a1	T�" � ��!� �a2 	T�" E#(�( �#�$ 	� ! �!� �na  	'T�" �n���    0'�� 	'F�83� K'� .    0'�� <'\�! ������'��

	 na 1−	T�" � �n 1−�� ! �na 2− 	T�" �n 2−��� 0��.  

  

���� ���
�� �?�N�
 W  2�+I 4:� � � c���� �:3( e�Q. N�
 4 � 2�+I�:M �3� �� �?�.  

− −

= =

= + ≥
1 2

1 2

1

3n n n

a a

a a a , n
  

a a a

a a a

a a a

a a a

3 2 1

4 3 2

5 4 3

6 5 4

1 1 2

2 1 3

3 2 5

5 3 8

= + = + =

= + = + =

= + = + =

= + = + =

  

	� 	F�83� ��� @n�" �������� ���/$ ��, @��>:  

 ..., 8, 5, 3, 2, 1, 1  

	F�83� 	F�83� ,� )V� �.�� � { � 	F�83� 	� ! 0�� @�#\��� �� ���� ��$ 0�� f!�+� )Z�3�8#* �.  

 �?�N�
 �� 
���� �� �� �YJ ��
 � � 2� .��+I     ���+I � ��:3( ���:0 �� ��?�N�
 4 � ���+� �   �� /! g��Y �

�:M �3�. 

 ..., 9, 7, 5, 3  

 ��+I �@� �?�N�
 W  ���+� �= −1na n(n ) ��+I �����  �200 �� �� /! gh� � ��! ��
. 
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  پاسخ مثال

  

� �!�" K� EF�& �� �� ���� 	� j���� @�
n9� �����) �#/��3:  

4  3  2  1  : n^V� .����  

? 52  36  20  n: a gn\� ���+(

m��� �$  

  

	T�" ,� 	T�" �$  �)T8& �4 0�� ��D#� �;�! .^V� 	� 	"�(�� )� 	  ����
� ! .�� .�#D  ��$ ����� ��#�#�:  

��+I cM� �na  na

  

n

  

4 16+  20  1

4 16 16+ +  36  2

4 16 16 16+ + +  52  3
4 16 16 16 16+ + + +
  

  

68
⋮

  

4
⋮

  
  

  

n

...
16

4 16 16 16
×

+ + + +���	��


  

na

  

n
  

����� xR:  

na n4 16= +  

)� �)T8& `��+( ,� .������ �� �������� 	  �#�#�na 0�� )2Q ��LF� K�.  

  
)� �!�" K� EF�& �� �� ���� 	� j���� @�
n9� ����� �#/��3:  

4  3  2  1  : n^V� .����  

64  27  8  1  n: aE+V� ���+( ^V� �$ ��$  

( )34

  

( )33

  

( )32

  

( )31

  
c/�na  

	  0�� <\�!na n3= 0��.  

a a

a a

2 1

3 2

8 1 7

27 8 21

− = − =

− = − =
  

)�      	'T�" !� �'$ fn�'Q� 	'  �#'�#�       0'/#3 )���'k ���'?� ��'LF� �'�� )F��'�� � .    	'2��� ,� .����'�� �'� �'$  	'� �   0'��

.���na (n)3= 	T�" !� fn�Q� ,� .������ �� �$ ! )� �)F���� � 0/#3 )2Q ��LF� ��� 	  �#�#�.  
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	F�83� 	� )$�L3 ��  )� 	
��
� 	  �#�#� 
� �i�e� ��* ���  ,� �(1 0�� .�� 	���3 .)� �� 	F�83� 	� j���� @�
n9� �!�" �#/��3.  

 cM�

��+I �na  

na

  

n

  

( )2 1 1× +  3  1

( )2 2 1× +  5  2

( )2 3 1× +  7  3

( )2 4 1× +  

  

9
⋮

  

4
⋮

  

(n)2 1× +  
na

  

n
  

	T�" 	� 	F�83� ��� )���
 � @��>na n2 1= + 0��.  

a100 2 100 1 201= × + =  

  

a = × =200 200 199 39800  

  

  

  ی حسابی و هندسی دنباله

	F�83� ,� ��Q g�3 !� ���� �� ����� �%& 0�/& ��� �� ����� ���� 	F�83� ! �LF� ����� �� 	���� p�� ��    �����'  	'  �$

�#�  08=> ��3��� ����,.  

	F�83� ����� K� m&�! �� 	  )��/; ��$ )� -���
 �� 0�� ^8& p�� ,� ��!���� �#�  .�#�  0&� ��, `��+( 	�.  

  های حسابی دنباله

   تعریف

	F�83�  )� �$ ��83� 	� )F���� ��9 	� 	  0�� ���
� ,� 	��� K� m&�! �� )��/; 	T�" �� 	T�" �$ fn�Q� ! ����   �-� )'T8& �

 0''�� 0''��k ����''?� .   �''� �� 0''��k ���''?� �''��d  )''� _��''�3  	''T�" �#''�I�$ ��#''$�  	''F�83� K''� �!� �  )��''/; �  

 ��a )� �#��3.  
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U0�� ���� ��� ���� 1�� `��+( ���  

���, p�; 0��� �	T� .	F�83�  	'2��� K� -� ���� 	���� �� 	  ����/$ )2Q ��$�LF� -��$ m&�! �� �)��/; ��$   BC'D� �

)� `��+( � ��Q ^~�/� ^; �� ! �#� )� .������ -� , �#�  .	F�83� @n�"      ��'
3� 	'  )'���+( 	'� 	"�( �� �� )��/; �   ��'�

 E/;��a  !d )� �#/��3:  

a , a d , a d ,2+ + …  

 

)� ��� �� 	F�83� ��� 	� j���� @�
n9� �!�" 	���� ��3�� �#�  

n n

n
n

n t t

t a a d

t a d a d

t a d d a d

t a d d d a d

n t a d d d d a (n )d

1

2

3

4

1

c'''/� 

1 0
2 1
3 2
4 3

1
−

= +
+ = +
+ + = +
+ + + = +

+ + + + + = + −
⋮ ⋮ ⋮ ⋮

⋯���	��


  

�����:  

  

  

است  d و قدر نسبت آن  aکه جمله اول آن ) ی عمومی آن جمله( ی حسابی اُم یک دنبالهnی جمله
=صورت به + −1nt a (n ) d باشد می.  

  

  

  

�?�N�
 W  2�+I �� ��K�� i �9& �� �I�& �� /! �NM� ��
 �( ���M, �=2d  ���+I � /! "�� �=5a   �� �����

�:3( ;<'�.  

�����:  

a 5=  

 ��
 ��!� )F�Q ��" ��5 )� �� ������.  

, , , , ...
t t t t1 2 3 4

5  

	F�83� ��� 08/3 ��&d 2=  0�� . ��
 )F���� 	T�" !� �$ fn�Q� )�+�2 0�.  

����� ��������:                          
t

t

t

2

3

4

5 2 7
7 2 9
9 2 11

= + =
= + =
= + =
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                    , , , ,
t t t t1 2 3 4

5 7 9 11 …  

��+I �?�N�
 W  ���+� � �� ���M, � �2��Y= − +2 5nt n  ���� .  ���+I ���V%    �� ��?�N�
 4� � "�� �

�:3( ;<'�.  
 

��+I �?�N�
 ���+� � ���M, �−2 4 10 16, , , , ... �� �� � ��! ��
.  

	� ���� 	T�" -��!� 0�� 	F�83� K� )���
 � )��/; �( )nt a (n )d1= + −	T�" ���� �  �� 	F�83� 08/3 ��& ! �!� �

�#��� 	����.  

	F�83� �� 0&� �� )� .�� .��� )��/; ��$ 	T�" 	  �#�#� ��
 -� �!� �2− 0�� .  

����� ��������:  

a 2= −  

U0�� ���
 	Z 08/3 ��& ��� �M3 	�  

)� 	T�" ,� �	T�" K� fn�Q� �08/3 ��& 	  �#3�� 0�� -� )T8& � .����� ��������:  

d t t ( )2 1 4 2 6= − = − − =  

����� �� ��;a!d 	2��� ��/3�� ! �nt a (n )d1= + − �����: 

nt (n ) n n2 1 6 2 6 6 6 8=− + − × = − + − = −  

 xRnt n6 8= −0�� .  

  

  ی حسابی صعودی و نزولی دنباله
	T�" ����� 08O� )��/; 	F�83� K� 08/3 ��& ��� 0�� <\�! )� _��e*� )���k ���?� 	� 	F�83� ��$  08/3 ��& ��� ! �����

	T�" ����� )���  ���?� 	� 	F�83� ��$)� _$�  )���k ����� .���d 0≥ 	F�83� K� �� 	F�83� �����  ��� ! ���+> �d 0< �����

	F�83� K� �� 	F�83� �#��� )F!e3 �.  

  

�?�N�
 �
 �H  �NM� ��
 ��� �����
 ���MH  ���� �( � � �= 1d 
 �NM� ��
 ���G = −1d�:3( L�5�'� �� ��� .  

d : , , , , ,1 2 3 4 5 6= ⇒…  )���+> 	F�83�(  

d : , , , , ,1 2 1 0 1 2= − − − ⇒…  ))F!e3 	F�83�(  

  

���mt !nt 	T�" !� 	F�83� ,� .��CF� ! @!���� � 3 ��& ������ )��/; ��� 0�� ����� 	F�83� 08/:  
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m nt t
d

m n

−
=

−
 

 �@�rt �st �pt ��+I �� �?�N�
 W  �?��K� � �:5
 /�'� ��3��� ���M, �
+

=
2

r p
s

t t
t. 

	� 	F�83� ��� @n�" �/$ ��, @��>��:  

r s pt , t , t  

	F�83� K� -�Z �������� ������ )��/; �: 

p s s r p r s

p r
s

t t t t t t t

t t
t

2

2

− = − ⇒ + =
+

⇒ =
 

  

	T�" !� �#� ��� �pt !qt �n 	� ��#$� ���& ��
 	  ���9n 2+ 	F�83� ^#VD( ^>�; ��
  0F�; ��� �� ���$� )��/; �

)� �#� �#���pt !qt �n 	2��! .��  ��� )��/; � ��� .  

 4:�2 �10 �R��� �� �:5
 ���
 ���M, � .  

����d #��#� ���.  

, , , ,2 10  

�����: 

nt a (n )d

a

t d d
1

5

2

10 10 2 4 2= + −
=

= → = + ⇒ =
  

	F�83� @n�" ��������  ���/$ ��, @��> 	�: 
, , , ,2 4 6 8 10  

 تعریف دنباله هندسی

	F�83� 	T�" o�\ ,� 	T�" �$ -� �� 	  0�� ���
� ,� 	��� K� )���$ � 	� 0��k ���?� K� �� )T8& � )� 0�� ��� .  

	F�83� 08/3 ��& �� 0��k ���?� ��� )� )���$ �  �� �� -� ! �#��3r)� _���3 �#$� .  

  ی مربوط به دنباله هندسی دست آوردن رابطه به
	T�" ��� 	~��� 	  )���+( 	� 	"�( �� 	F�83� ��$ ���/$ ��, @��> 	� )���$ �.  

 

	F�83� ��� 	� j���� @�
n9� )� �!�" �� e#3 �� �#/��3. 

 n  nt  nt ���?� 

 1  t1  a ar0=  
 2  t2  a r ar1× =  
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 3  t3  a r r ar2× × =  
 4  t4  a r r r ar3× × × =  
 ⋮  ⋮           ⋮  
 

n  nt  

n

n

a r r r ar 1

	''8(�� 1

−

−
× × × × =…��	�


 

  

	  �����:  
  

  

  و قدر نسبت آن aکه جمله اول آن ) ی عمومی آن جمله( ی هندسی اُم یک دنبالهnی جمله

r صورت است به−= 1n
nt ar باشد می.  

  

  

���?�N�
 W��  2���+I �� ����K�� i�� �9& ���� ���I�& ����  /! �N��M� ����
 ���( �����35 �=2r����+I �  "�� �  

 /!=3a�:3( 4::9& �� ����� .  

�����:  

a 3=  

 ��
 �!� )F�Q ��" �� ��������3)� �� ������.  

, , ,
t1

3
 

 ��
 	F�83� ��� 08/3 ��&r 2=0�� .	T�" )�+�  ��!� �2	T�" ����� 0�� �!� � . 

t2 2 3 6= × =  

����� E#(�( �#�$ 	� !: 

t

t
3

4

6 2 12
12 2 24

= × =
= × =

 

��������: 

t t t t1 2 3 4

3 6 12 24
 

�?�N�
 W  �
 ��+I ���35 �  "�� �5 /! �NM� ��
 �=3r��� .��+I �� �� /! ���+� � � ���:� ��
 .  

�@�z�y �x ��+I �� �?�N�
 W  �� �?��K� � �:5
 /�'� ����� ���35 � .  

= ×2y x z  
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 ��
 !� �#� �#$��C� ���a !b ���+( 	�m	2��! -� ��#�  ��� )���$ � .�� 

m b
r

a

1+ =  

  

�?�N�
 W  �
  �NM� ��
 �� ���35 �2 
�� �
 4:� �2  �16 �R��� �3% �� ���35 � )J:3( P�
 J:���& 

m m m
4

1 322 2 1 3 2
2

+ = = ⇒ + = ⇒ =  

�jk�� �
 ���� l�S��
�� �� m���0 �G��Q 2�& 
�� n�:, � �5
 . �� "�� "�� �
6    ���� �K���( ����
 . �


2�& �� ��9� "��  �G��Q  � L
�( ���
�� �518 ��� �K��( ���
 . L�3 ! "�� �
 
��
 ��
 ��54 
��H� ���
.  

`F� (	F�83� ^#VD( ���
� ��� )� )��/; � U)���$ �� ��$�  

o ( ����� i�e�����8 U0��  �$��Q 	3�� ��Z �+� ���  

  

`F� ()� ��� �� ���� ��� @�
n9� 	� j���� �!�" �#�  .  

4  3  2  1  :n	3�� 0��  ��� 

162 54  18  6  n: t	3�� ���+( ��� �� 	  )��$n 	���  ��   

)� ���. 
)�  	T�" �$ 	  �#�#�)	T�" ,� �#| 	� �!� � (	T�" ����� 	� 0�� r��Q ,� ^8& � .	F�83� ^#VD( ���
� ��� ��������  �

)� )���$ ��$� . 

o (	8��=� ���� ��� f�$ �t8 0�� .  

n
n

a , r

t ar t ar ( )1 7 7
8

6 3

6 3 13122−
= =

= ⇒ = = × =
 



 

 

 

29  

2فصل   

 های مثلثاتینسبت

0�� �,1 	Q�� ,� )V� @�OTO� 	  �#3���     	'�!�, ! gn'\� ��'9 �#'� c��!� 	  0�� @�#\��� ��$     	'+F�2� �� }'TO� ��'$

)� ��  ..���� @�+F�2� �� -� �����  �#�/C3 0�� .��� )����.  

)� ���� }TO� !� 	��D( )������ �#$��� �� �� ��� ����� p�� ��� ��  08'/3 -� ,� .������ �� xz� ! �#�   � ��'$  �� )(�'OTO

	� )� 0�� ���!�.  

0�� -��� 	#8� �L��V� 	� ! -��� ��3��$ )�+� 	� 	��D(.  

)�  �� )3�V� �$ 	D?3 �#3����Q 0�� 	��D�� -�V� -�� -� 	D?3 �� )�+��      K'Z�  )'%CD� ! 0'��k 08'/3 �� ��+�� 	�$

.�� 0�� .�� 0��
� -� �� E���( ! �3�.  

�� �#�I�$�#��� -���Q��� �,1 @�8��=�  �� -�V� K� ����)� ��
3� -� 0 �� �!�     -�'� BC'D� ,� x'R ! �'�$�

)� -� 0Q�� 	� ���&� �@�#~e"��� .  

)� ������������ ����, �����  �� f��9� ��#3� �� 	��D( 	  �#�#�.  

��� ������ ���� 	��D( ����� �� 	���� ��$.  

  یادآوری
 !�n  )+T\)(��> �� �� 	  �#��� 	��D��:  

1- 	�!�,����� �!�/� !� 	� !� -�D��$.  

2- �J���� gn\� ��9 08/3 )�+� ������ E����� -�D
n\�� ����� �����.  

 }TO� !� ���ABC  !A B C′ ′ ′ )� ������ 	��D���#/��3: ABC A B C
∆ ∆

′ ′ ′∼ 

 

  

  

���� !�:  

AB AC BC ˆ ˆ ˆ ˆˆ ˆA A ,B B ,C C
A B A C B C

! ′ ′ ′= = = = =
′ ′ ′ ′ ′ ′

  

	���$ �� )� 0��k���:  

	��D�� }TO� !� -� ����� ����� �L�� }TO� ,� 	�!�, !� �� �}TO� K� ,� 	�!�, !� .���$�3�.  
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 نتیجه

}TO� �� ����~�& ��$	�!�eF�ABC !A B C′ ′ ′ )��, ^V� ��3��(� 	���� � �#��
��
C C′= �-� .��. ABC ~ A B C

∆ ∆
′ ′ ′  

  

)� ���� 	T]/� �� 	��D( �����  �� ��, ��O� ������. 

 

 ���140 �K��� 
��
 �
 �K� .�� ���
 4:�� ��� �� �3 ! W  �����I ���
 �� �� /! � �5
   ��� ��I    �����K� ��& ��3(

 �� ���
 �R$� 4 �&�3�� /! �
�3:N� . �3 ! �� ��� ��Y�Q �@�5/1  �3 ! �& ���
 ��Y�Q � �K�3    ���3�� ������ �K�

 )��� ��$% ���
)�:3( L�G� � � >H� ��.(  

 

 

	�!�, ��$� �A A=2 1  �3����� �$ ��)U��Z(  

  

  

  

 ���� �� �	
��
��ABC  �A B C′ ′ ′ ��
����	�
� ���
:  

BC AC / /
B C / m

B C AC B C

1 4 1 5 2 8
3

′ ′= ⇒ = ⇒ =
′ ′ ′ ′ ′

  

 0Q�� g��(�� ��������280 )�3��0�� ���.  



 

 

 

31  

  زنگ تفریح 

�!�/�� }TO����#L� �M3 �� �� )
n\1� .�!�/�� }TO� ! �#�  ^>! �$ 	� �� -� gn\� c�! ���R c�! �� 	  )
n\1�

)��#���3 f�; -� ,� �� ���.   

 

�� }TO� 	� -�� ��!�/)&�� gn\1�mT\ c�! ! ���#L� �M3 �� �� ^V� �� .�3�� ��'  ^>! �$ 	� }TO� �$ �� �� �$.  ,� !

K� �$ -!��� �!�/�� }TO�)� ���R c�! �� 	  )
n\1��#���3 f�; �� ���.  

  

)� �( �� �����* ��� ���  }TO� �� .��� 0�� 	� ^V� ��#�  ���V( 0���3�#��� )V/�#R�� . }TO��$�  )L�$ .��� ��"! 	�

	��D�� �L��V� ���3�.  
  

)�  �#3���~�& }TO� !� ��� 	�!�eF�ABC  !A B C′ ′ ′ 3�������� ������ 	��D�� ��, ^V� �: 

AB BC AC

A B B C A C
= =

′ ′ ′ ′ ′ ′
              

)� ���08/3 ��� -��(	� �� �$ U0��3 ��, @��> )U��Z(  

( ) ( ) ( ) ( )

BC B C AB A B BC B C AB A B

AB A B BC B C AC A C AC A C

1 2 3 4

′ ′ ′ ′ ′ ′ ′ ′
= = = =

′ ′ ′ ′ ′ ′ ′ ′

  

���� �
 ��
�
 �� �� ��
���
  
� !
"#$ �� �	
��
�� ��%& �'�( �)� 
".  

-��$  }TO� !� ��� 	��� 	  ��9ABC  !A B C′ ′ ′ 	��D�� 	'�!�, 	
#�3 �� ��3�-

-� �J���� ��$\� ! �3����� �$ �� �$ �L��V� �� �-���J���� gn���8����� )� ��������-

-� -��(	� �� �$  @��>	�!� !� ��  ��� e#3.  
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 }TO� ��;A B C′′ ′′ ′′  �� 	  ���#L� �M3 �� ��A B C′ ′ ′ 0�� 	��D��.  

 
)� ��� .��� 	  )(�=#\�( 	� 	"�(����  ��� �� ��, ^V� -��(.  

 
�)� �� �3!� ��08/3 ! �#$� 	���� �#$��C� 	  ���+( �$ 	� �#3��(�#��� 	���� �� ��, ��$.  

 ��
+ �
�,�
BC B C B C ...
AB AB AB

′ ′ ′′ ′′
= = = =

′ ′′
  

  (**) مثال
}TO� ��, ^V� �� ��$ABC  !AB C′ ′  !AB C′′ ′′ 	��D���3�. �.,��3� 	� 	"�(� ��9 .�� .��� ��$AB′′ U0�� ��?Z  

                
BC B C

AB
AB AB AB

3 12 12 4
16

4 3

′′ ′′ ×
′′= ⇒ = ⇒ = =

′′ ′′
  

 

)� 0��k ���?� ��� ,����� �����  ��#/� @�#\��� �� 	  �#�� EF�" ����� K� 	� -��( .  

  تعریف
�� �~�& }TO� .��CF� ! 	�!�eF�ABC .��; ! BCD� 	�!�, ���� �A  08/3 ^��?� mT\ ��9 	� 	�!�,A    mT'\ ��'9 	�

 �!�
� �-� ��0�� 0��k ����?� .����$.  

 	�!�, 03��3�( �� 0��k ���?� ���A )� �� �� -� ! �#��3tan A )� _���3�#$�.  

                            
BC

tan A
AB

= 

( )*
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 ��O� �� (**)�����: 

tan A =
3

4
  

 	�!�, xV
A )� 03��3��  �� �� �� -� ! �#��3cotA )� -�D3�#$� . @��8
 	��~�& }TO� �� �L�� 	�!�eF�ABC �����:  

A AC
cot A

A BC
= =                     

��O� ��(**) �����:  

    cot A =
4

3
  

^V� ���� ��;       )�08/3 -��( ��$)3 ( !)4 (08/3 ��� ! 0��3 .��CF� ���+( 	� ��?� .����$ e#3 �$ ���/$ )���k ���

�����:  

��
+ �
�,�  
BC B C B C ...
AC A C A C

′ ′ ′′ ′′
= = = =

′ ′ ′′ ′′
  

��
+ �
�,�  
AB A B A B ...
AC A C A C

′ ′ ′′ ′′
= = = =

′ ′ ′′ ′′
  

  تعریف

�~�& }TO� �� .��CF� ! 	�!�eF�ABC � .��; ! BCD� 	�!�, ����A � 08/3^��?� mT\ ��9 	�  	�!�,A    ��'(! ��'9 	�

 	�!�, p��#� �� 0��k ���?� ��� �0�� )���k ���?� .����$A )� �� �� -� ! �#��3Sin A )� _���3�#$�. 

  

BC
Sin A

AB
=

                                

  

mT\ ��9 08/3 �#�I�$  	�!�, 	� �!�
�A  	�!�, p��#/  �� �(! ��9 	�A )� �� �� -� ! �#��3Cos A )� _���3�#$�.  

AC
Cos A

AB
=  

��O� ��(**) �����: 

AC AB BC

Sin A ,Cos A

= + = + = + =

⇒ = =

2 2 2 2 24 3 16 9 25

3 4

25 25

  

� �!�
� mT\ ��9	�!�, 	 

	� ^��?� mT\ ��9  	�!�,  

( )*
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	  ����� �
��� �(:  

�~�& }TO� K� ��)� �	�!�eF�	�!�, ! gn\� �#� �#3��(	2��� �$�#��� 	���� �� .08/3 @�#\��� ��  �p��#'/  �p��#� ��$

08/3 �� 03��3��  ! 03��3�(�#��� )(�OTO� ��$.  

08/3 ����� �%& 	���� �����!� 0�� 	� .��; 	�!�, ��Z ���� �� )(�OTO� ��$.  

  

�~�& }TO� �� 	�!�eF�ABC �#�  a�* �� �A B= = 45�  �������� �����AC AB= 0�� .  

�����:  

a b
a b c a c c a

=+ = → = ⇒ =2 2 2 2 22 2                   

 

a
Sin A Sin

a

b aCos A Cos
a a

a a
tan A tan

b a

CotA Cot
tan A

1 245
22 2

245
22 2

45 1

1 145 1
1

= = = =

= = = =

= = = =

= = = =

�

�

�

�

 

08/3 �#��� [n8& 	  ��9 -��$�BCD� 	�!�, K� ���� )(�OTO� ��$ ���/$ )���k ����?� . ��������)� �#3��(  08'/3  ��'$

	�!�, ���� �� ��O� ��� �� .��� 0�� 	�45� 	� ����z/� �9�Q.  
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�!�/�� }TO� �� gn\1�ABD  g��(��BC )� ��� ���#� .  

)� �#3���A = 60�  !�B =1 30� 0��.   

  

  

�����:  

AD AB
AD AB , AC AC

AB (AB)
(AB) (AC) (BC) (BC) (AB) ( )

BC AB

= = ⇒ =

= + ⇒ = − =

⇒ =

2
2 2 2 2 2 2

2 2

3

2 4

3

2

  

)� 	
#�3 �����������:  

AB
BC

Sin Cos
AB AB

AB
AC

Sin Cos
AB AB

AB
AC

tan Cot
BC

AB

AB
BC

tan Cot
AC

AB

= = = =

= = = =

= = = = =

= = = =

� �

� �

� �

� �

3
3260 30

2

1
1230 60
2

1
1 3230 60

33 3

2

3

260 30 3
1

2

  

)� 	#>�(	� ����?� ��� ����z/� �9�Q 	� �� .��� 0��.  

 

 p�� q��% �:& W  �:3( e�Q10     ����� �K���
 ���3�� ��K� .  "��#

 �$&�9�� Z��& � ��� �( ���G35 �� /! � �� �N  4:��� ��� �:���� ��558� 

 ����� �I�
�:3( �N��r� .58 1 6003(tan / )� ≃  
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`:� sR� W  "�# �:3( e�Q  ��
50m 4:�� �� /! � ��� �30� ���� .�+� �@�    4� � ��R$� 4 �&U�� �&

R�s `:�)��� ��$% 4:�� �& �+� ��X&�� �� ��� U�� ��
  

  

 

 .��''CF� }''TO� �''$ ��ABC -� �#''� 	''�!�, ! mT''\ !� .,��''3� -��''� ��''T+� �''� �  �''$)''� -��''(  �� }''TO� 0;�''/�  �''�  

	2��� ��, 	8��=� �� :  

 

AB BC Sin B= × ×
1

2
  �-
��ABC

∆
                        

 

�:3( ��:0 �� � � t�T� �,�M� .25 0 42(Sin / )≃  

 

  

Sin / /= × × × = × × × =
1 1

10 7 25 10 7 0 42 14 7
2 2

�  �-
��ABC
∆
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  مثلثاتی دایره

�~�& }TO� ,� .������ �� �	���� p�� ��08/3 �#�/3��( �	�!�eF���$  	8��=� BCD� ! .��; 	�!�, K� ���� �� )(�OTO�

�#�  .)� ^8& p�� @�
n9� ,� .������ �� ���08/3 �#3��(U���!� 0�� 	� ��, ����!, ���� �� )(�OTO� ��$  

  
)� .�$�D� 	  ��9 -��$�~�& }TO� �#� 08/3 	8��=� ���� )����( 	� 	�!�eF� ,� 0�� �,1 ! 0/#3 )*�  )(�OTO� ��$

����� .,��3� ! 0�" ����� 	  �#�  .������ �$ ��L�� ��e� .U����� Y��� ���e�� ��  ��� ���� ���   

 ����� �%& p�� ��� �� ��3 	� ���e���#�  )*�+� ��� 	� �� )(�OTO� .����.  
  

���#L� �M3 �� �� @�%�C� .�L��� ..���� �;�! g�+� 	� ��)1 ()� ��� -� �!� @�%�C� ��8� e �� !  .���� �� -� ! �#�

)� )(�OTO��#��3.   

  
)� )���� �� )(�OTO� .���� @�#>�%Q 	���� ���#� .  

-��$ )� .�$�D� 	  ��90�� .�� �#/?( �!�/� 0�/& ���Z 	� .���� ��� �#�  .0�/& ��� ,� ���  �$ 	#;�3 K� �$

 )(�OTO�)1
4

 )(�OTO� .���� ( �,1 ! ���/$-� 0���#�  e����� �L��V� ,� �� �$) .U��Z(  

	#;�3 �����3 ��, @��> 	� �� )(�OTO� ��$)� ������#� .  
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�#�  BCD� .���� ��� �!� �� ��Q �M3 ���� 	�!�, �#3���� ���� ��;.  

 	2?3 �����A )� �M3 �� 0 �; ��8� -���
 	� ��)� ������& ! ���#� 	2?3 ��� �#�P  0�" fnQ �� .���� �!�

	��?
   	�!�, ���  0 �; 0
�� ��$( ) AOPθ 	��?
 0�" �� ��� ! 08O�0�� )��� 	�!�, ��� ��  0 �; 0
�� ��$.  

  

  

  

  

� �����590��180��−180��280� �30− �  �&�T�T� L� �
 ���;<'� L�����.  
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 �� 	�!�, ���	#;�3 � ����Z ���� ���&.  

  

	#;�3 �� 	�!�, ���  ����� ���& ����Z.  

 

  

	�!�,��$0��90��180��270� !360� -� ! ���/$ �,�� ����!,	#;�3 ,� K� �#$ �� �� �$ �M3 �� )(�OTO� ��$

)�3 ���#�.  

	#;�3 ���� �� 	I3� 	� 	"�(������� ��#��� )(�OTO� ��$:  

 ���< θ<0 90� � -� ����� .��θ 0�� �!� m�� ��.  

 ���< θ<90 180� � -� ����� .��θ 0�� �!� m�� ��.  

 ���<θ<180 270� � -� ����� .��θ 0�� ��� m�� ��.  

 ���<θ<270 360� � -� ����� .��θ 0�� ����Z m�� ��.  
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�:,�� �� g��( �5 �
 �:3( ;<'� � ��� �
 ��&�T�T� ��5.  

  

,30 68� �  : �!� m�� ��  

,97 175� �  :�!� m�� ��  

,190 268� �  : m�� �����  

,290 356� �  :����Z m�� ��  

  

 �#�  a�* ��;P 	2?3 ! ���� �!� m�� �� )(�OTO� .���� �!� ��θ .��; 	�!�, �#� �� cQ .��ROP  ��=� !x ���� .

 �#�  a�* �#�I�$P1  	2?3 ,� 	  ���� ����
 cQ ��RP  ��=� �!�x 0�� .�� ��� .�~�& }TO� �� 	�!�eF�OPP1 �

�����:  

OP ,PP sin , OP cos= = θ = θ1 11  

 ��������P (cos ,sin )= θ θ )*�9 ,� �P  .��CF� 	2?3 _���3(x, y) 0�� .	
#�3 ��:  

x cos , y sin ( )= θ = θ 1  

 

08/3 	8��=� �� �.��� 0�� 	� 	2��� !�)� .������ .��CF� 	�!�, �$ ���� )(�OTO� ��$�3�� .� �� 	  �#3��� 0�� �,1 )(�OTO� .���

 0�" ����?� �� .!n
)-��� )��� �� 08O� ()� 	�*�� �M3 �� e#3���) . 0�n
x  !y )� ��=F ! 0�� ��� ���(  

  

�L�� �KX@ `?�R� �� �I�&�� "�,180sin ��180cos � �270tan � �� ]�M, �� J:3(.  
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	� ����  -��!� 0��sin180��  	�!�, �����180� )� BCD� )(�OTO� .���� �!� ���#� .  

)� .�$�D� 	  ��9 -��$ 	�!�, ���� ��#� 180�	2?3 @�%�C� �  �P �( , )1 0− 0�� .  

  

 	2��� �89 ��������( )1 �����:  

  

sin y , cos x180 0 180 1= = = = −� �  

 	8��=� ����tan 270� )� ^�
 E#(�( �#�$ 	� e#3�#� .  

  

  

)� �#3��
y sin

tan
x cos

270270
270

= =
�

�
�

 0��.  

.�D3 `��+(   
x cos

tan
y sin

270 0 1270
0270 1

= =  −⇒ =
= = − 

�
�

�
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�:3( >��( �� � � "��I.  

360�  270�  180�  90�  0�  ���$�  

          
sinθ

  

          
cosθ

  

          
tanθ

  

          
cot θ

  

  

  

360�  270�  180�  90�  0�  ���$�  

0  1-  0  1  0  
sinθ

  

1  0  1-  0  1  
cosθ

  

0  
 `��+(

.�D3  
0  

 `��+(

.�D3  
0  

tanθ
  

 `��+(

.�D3  
0  

 `��+(

.�D3  
0  

 `��+(

.�D3  

cot θ
  

  

08/3 	  0�� �,1����z/� �9�Q 	� �� 1�� �!�" )(�OTO� ��$.  

 �(08/3 �#�/3��( �
���	#;�3 �!� �� )(�OTO� ��$�#�  	8��=� )(�OTO� .���� �,�� ��$.  

)� K�  �� 	� ^~�/� ^; �� 	  )(�V3 ,� �L�� )V�08/3 ,� K� �$ 0�n
 �#3���� 	  0�� ��� ���  �� �� )(�OTO� ��$

	#;�3 �#$� B#CD( )(�OTO� ��$.  
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�NM� ����  �5 �
 �� �&�T�T� ��5�:,�� �� W�:M �3� L�� ;<'� ��5.  
  

 O��

g��V%  

 O��

g��  

 O��

g�
  

 O��

"��  
���$�  

        sinθ  

        cosθ  

        tanθ  

        cot θ  

  

  

0�n
 ����� ��$x  !y 	#;�3 �� ��)� BCD� )(�OTO� ��$�#� .  

  

 O��

g��V%  

 O��

g��  

 O��

g�
  

 O��

"��  
���$�     ⇒          

 

  

−  −  +  +  sinθ  

+  −  −  +  cosθ  

−  +  −  +  tanθ  

−  +  −  +  cot θ  

  

 .��CF� 	�!�, �$ ����θ�����:  

cos , sin− ≤ θ ≤ − ≤ θ ≤1 1 1 1  
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 	�!�, !�θ  !−θ ���#L� �M3 �� �� ^V� �� .�� BCD�.  

	�!�, !� ��� ����3��  j�?3 �� �� )(�OTO� .����P  !P′ )� m2&��� .  

 	2?3 @�%�C� ���P  ��(x, y)  	2?3 @�%�C� ����#L� �M3 ��P′  @��> 	�(x, y)− 0��.  

����� ��������:  
x

cos( ) x−θ = =
1

  

y
sin( ) y

−
−θ = = −

1
  

( )
P : (x, y) (cos( ),sin( ))

P : (x , y ) cos ,sin

′ − = −θ −θ

= θ θ
  

)�	  0*�� 	
#�3 -��(:  

cos( ) cos , sin( ) sin

sin( ) sin
tan( ) tan

cos( ) cos

cos( ) cos
cot( ) cot

sin( ) sin

−θ = θ −θ = − θ

−θ − θ
−θ = = = − θ

−θ θ

−θ θ
−θ = = = − θ

−θ − θ

  

 >H� �
 �@�"�# �� �  �R$�P  
��
2

5
 �NM� ����� � ��� �&�T�T� ��5θ �:M �3� ��.  

              )�R$� �:3( �I�&  �P ���  �&�T�T� L� �
 ���( 

  

�NM�� ��� �&�T�T� ��5195� � ��� `M,�� ��15� �:3( �N��r�.  
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-� 	� 	"�(�� )� ^V� �� 	  	Z08/3 ��#�#� ��$ 	�!�, ���� �� )(�OTO�θ 	� ���!� 0��.  

  

  

 )�	  �#�#�  

( ) ( )− + = + =2 22 5 4 5
1

3 3 9 9
  

���� ���& �;�! .���� �!� 	2?3 ��� ��������.  

����� 	
#�3 ��:  

cos xθ = = −
2

3
  

sin yθ = =
5

3
  

y
tan

x
θ = = = −

−

5
53

2 2
3

  

x
cot

y tan
θ = = = − = − = −

θ
1 1 2 2 5

55 5

2

 

 U�3���&�� ��, c��!� ��� ��� �M3 	� ���O� �#�$ ��)��ZU (  

cos cosθ = β  

sin sinθ = β  

tan tanθ = β  

cot cotθ = β  
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  زاویه با تانژانت خط شیب رابطه
�� ����� �%& p�� ,� 0�/& ��� �� cQ E#� �#� 	2�! �#��#� �� 03��3�(.  

�#�  	"�( ��, ��O� 	�.  

�#�  a�*OA )� .�$�D� 	  ��9 -��$ ����� �!� m�� �� )2Q����� �� cQ ��� ,� 	2?3 !� @�%�C� �#� .{ }p,o ��������:  

y y

x x

−= =
−

0
0

 cQ E#�  

y
tan

x
θ =  

	
#�3 ��  

tan= θ cQ E#�  

  

	�!�, 03��3�( �� 0�� ����� 	2?3 �$ �� cQ E#� )?*� ��=� 08O� 0�" �� cQ -� 	  ��) ��=�x�$ ()��,��.  

m tan= θ  

  

?3 ,� 	  �#/���� �� )2Q 	F��+� 	2( , )1 2 )� ��=� �� -� 	�!�, ! ����x �$45� 0��.  

  

�����:  

y tan x b y x b= + ⇒ = +45�  

 	2?3( , )2 1 )� X�> cQ 	F��+� ��� ����  .	
#�3 ��:  

b b= + ⇒ =2 1 1  

	� cQ ��� 	F��+� 0�� ��, @��>:  

y x= +1  
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���� ���� ����� ��� �� �� � !"#$#� �%&'�( �' �%)�#��* +(�,-,. ���θ ��$/. �' ��� 0*1 !x  �y "23�� �43�� ��.  

  

  

��"6�7 8-,. �� �9%("#��� :$3 ;<=. �#��>?�:  

( ) y y

y

+ = ⇒ = − =

⇒ = −

2 2 22 4 21
1 1

5 25 25

21

5

  

θ  A�� ��0��BC  ��$/. DE !���y ��� +F&..   

x , y= = −
2 21

5 5
  

cos x , sin yθ = = θ = = −
2 21

5 5
  

y x
tan , cot

x y

− −
θ = = = − θ = = = − =

−

21 2
21 2 2 215 5

2 2 2121 21
5 5
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$4���#��* �195�  �15� +. ;<=. ��"2&' . �G/� �� �43HI $&��.P  �P′ 0�� +(�,-,. : #�� ��� �� +. ���HI"2&' .  I�

 �G/� J�K4<.P  ��  �� �(x, y)  �G/� J�K4<. !$3��( x, y) −′P .---------------------0ا.0 .---------------------, − ���.  

  

( )
( )

P : (x , y ) cos ,sin

P : ( x, y) cos ,sin

cos cos , sin sin

sin sin
tan tan

cos cos

cos cos
cot cot

sin sin

=

′ − − =

⇒ = − = −

−
= = =

−

−
= = =

−

15 15

195 195

195 15 195 15

195 15
195 15

195 15

195 15
195 15

195 15

� �

� �

� � � �

� �
� �

� �

� �
� �

� �
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  3فصل 

  ریشه و توان عددهای حقیقی

  

"�T� /! ]��I 
��� �
 � �:���<� �

 �� �� � � ��5 �:3( �HQ �5.  

  

  

uU �'0   uU � �
���     ��� ��j� ��'0

����Y�Q  �72  ������
 �����
 �G ���H  �� ����K�. 

uU ���� �5 �
 �
�� �'037   �+�� �� �K�

�� �(�, ���� uU � �3(  �5 �
 �S:� �j� �'0

����10   ��� ����� �+� �� �K� 
�� ./!   ��5

J5 �� �(�, �� ���� /��� ��� �3% �� 10 ����Q � �
�� 4 � ��33(�� �G �H  �� � )�3��  

�0�&  ��X&�� �� ��100 L
�( �5� ��K� J � . ��� 
����� 4:�� �� �( ��� �5 �
 v�&   ��& ��3(2 2
7

   ���X&��

�� U�� 
�� ��N
 � ! .)��� ��$% 4:�� �� 
����� �
 �� 10 v�& ��X&�� 

  

�� ��� ��V% �� -�& W  J ����� .4 � "�+K,� 7� �(  L��� �� 
���� ��+

 �� �K+(15 � ��! ��
 �� �� ����. 

  

-��$ -� ,� m&�! �� ! ���/$ @�#\��� �� ������  ����� !� -��( ! 	D�� �����  .�$�D� 	  ��9   �� ��e'�� K� -���
 	� �$

	T]/� ^; )� .������ )\��� ��$ ��� .��� �� ���� ���� ����� !� ��� �� 	���� ��$ .  �'%& ^'%* ��� ��    @�'
n9� �'����

^��  	�#�, ��� �� �� ��� �#�  �( .��� �� .�� 	��� EF�2� �� ��!�� ����� 0�� o�Q �#��� 	���� 	���� ��$.  
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)"��� �� 
��� �3% �� >
��, �:5�� ]��I � � ��5(.  

 �KM��
 �� �I�&�� �:5
 w��0 
�� ��5. 

)1 52      )2 3 32 4 5 2× + ×  

)3 ( )39−     )4 a a a a

b b

× × ×
×

 

)5 ( )23 2×     )6 ( ) ( )2 31 1
2 2

+  

)7 ( ) ( )2 23 12
2 3

−     )8 2 33 3×  

)9 ( )2 34−     )10 (ab )3 3  

)11 ( ) ( )3 4 22 2− × −    )12 ( ) ( )3 32 2
3 3

− × −  

)13 ( ) ( )12 53 3
2 2

÷     )14 ( ) ( )5 58 4− ÷ −  

)15 32−      )16 ( ) 23
4
−  

)17 a b z

a b z

3 4

1 6 2−
× ×
× ×

   )18 − −×1 22 3  

)19 a ( )
a

2 21− +     )20 ( )0 01 3
2

+  

  

� )V�	� �� 	  )(�V3 , 	D�� -��!� 0�� ��$ )� K�  �� 	� ��� ! �!�      	'�e
( ���'9 �� ��'
 �#3��'�� 	  0�� ��� �� 

	� 	  �#�  -��( E#(�(  ��$2  !3  �3�� �$�J -� ��) @��> ��-�V��.(  

�&���:5
 w��0 � � 2U��� �� ��� /�:� "�H 
�� � �' � 
��� �
 �( �N?�R� �� �I. 

)1 16       )2 16−  

)3 1
9

      )4 1
9

−  

)5 25−      	D��  ��
 �!� �25 )6  

 ��
 �!�
�11 )7      )8 3 9×  
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)9 9 16+      )10 121
25

 

)11 49 36
64
×

     )12 ( )26  

	D��  ��
 �!� �3 )13     )14 9− 	D�� ��
 �!� �  

)15 3 27−      )16 3 1
64

−  

)17 ( )33 7      )18 3 34 16×  

)19 3 8
125

     )20
3

3
192

3

−
 

)21 5−  	D�� ��
 ��� �     )22 − ×3 729 36  

  :به مثال زیر توجه کنید

J'% �:3( e�Q     �
 x���k W�  ���5  

����X&��h   �K����
 �����
 ��� �
 i��( �� ����K�  

����K� �� � ����d     ���3:N� �� 
��� ��$Q� ��K�

���@�3 23 57 1d / h= +    e���Q ���� �������  

 4� � �Q ���( ���Y J��'% �   �� ;<��� 4�� � ���5  

 � �
 i(5 ��Y�Q ����� �K�     4� � ��$Q� �� 
 �

;<�(d) �:3( �N��r� ��.  

  :صورت زیر است جواب این سوال به

h
d / h /

== × + ×3 2 353 57 1 3 57 26  

���?� 	  0�� �,1 ��������3 26 	��� ���!� 0�� .)� )*�9 ,� ���#3:  

= =3 33 27 3 3  

 ��
 -�Z26  	�27 )� p�; �0�� K��e3 )T#Q   	'D�� �#'3,   ��'� �26  ��'
 �7/2 )     	'� K'��e3 ��'
 K'�3 ( �'��� .  

��� ���� ���?� ��#�  _���,� �� ��Q p�; 	 ( / )32 7 )� 	8��=� �� �#� .  

( / ) / / / /32 7 2 7 2 7 2 7 19 683= × × =  

	� ��
 � 0��	
#�3 .�� ��83 )��T2� �.  
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)� p�; 	  ���
 0�� <\�!  ,� ���  ���� �#3,3  ��
 �������� �����8/2 )� -�=��� �� �#� .  

�����:  ( / ) /32 8 21 952=  

 ��
 �0/#3 o�T2� n��  ��� ��� ���� 0#+\!9/2 )� -�=��� �� �#� :  

( / ) ( / ) / / /3 22 9 2 9 2 9 24 389 24 4= × = ≃  

  E��?( �� ��
 ��� ,� ���1/0  	� )��Q �; �(26 0�� K��e3.  

 ,� ���  )8��?( �( �#$��C� ���01/0 )� ���!�� �T" �#&� ��
 �#3��( 	� �� ��( ���!�#� 0��.  

 ��
96/2 )� -�=��� �� �#� .  

( / ) ( / ) / /3 22 96 2 96 2 96 25 934336= × =  

	����Q 	� ��#/� ��
 ��� 0�� K��e3 �� �.  

��������:  

/3 26 2 96≃  

  

  

  

�#��� ��� )� ��#��� 	���� )��Q o�/; )8��?( ���?� �#3��(3 26 	� ���D
� �&� ����Z �( ��   �#'$ �'�� ����!� 0��   .�'�

)�3 	� �� -� �#&� ���?� �#3��( ���!�#� 0�� 	� ���D
� @��>. ��� ��  @��> ���()� �&� �#3��( � ���D#� ��D
� ��$�#�#8!   
  

��� 	� 	"�(�� )� )+� )\��� �� .����$ 	         ,� ��'
 �'�� _��'�3 ���'� ��'��� �'V�� ���'?� �����  	� �2Q ����3 26 

)� .������ ����� �,1 �� -� )8��?( ���?� )+&�! )��3, �� ! ^�
 �� ��� ��#�  . 	'� �� )8��?( ���?� �#3���� ���� ��������   0'��

���!�#�.  

	� ���� ��� t��R 	
#�3�� 	� ��, @��> )� 0�� ���:  

d / / / /= × × =33 57 26 3 57 2 96 10 5672≃  

)� ���| ���  �( �8��?( �3��(5/10 ��#8� �� )?*� ����.  

    �K�M� 4:��� ��� w� �� �_k�( u
��
�� W  �:3( e�Q

��� L�� .�� J:M� �( ���G35 ��:� ��K��� �
 u
��
�� �
��  �

�� U�� J%�0 
�� .�@� ��Y�Q ��:� �   4:��� �� �R$� /! �� J%�0 �

 ��� L�� �KM� u
��
�� �(3    u
���
�� w�� "�# � �K�11   ��K�

 )��� ��$% 4:�� �� u
��
�� ��X&�� �����  
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-� ,� ^~�/� ^; ��9 �� ���, �����z/� �9�Q 	� �� ��, ���
� m��� 0�� o�Q .������ �$ )� ����, � ���.  

= = =

= = =

= = =

2 2 2

2 2 2

2 2 2

11 121 14 196 17 289

12 144 15 225 18 324

13 169 16 256 19 361

  

��' � y:

 �  �N �$& ���$ �:3( ;<'� �
���� ��r� ��� � �N��r� �� �5.  

)1 3 8  

)2 23  

)3 3 6  

)4 3 1−  

)5 3 64−  

)6 324  
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  های چهارم و پنجم معرفی ریشه
	D�� )� 	��� ����
� 	� �08O� ��
 K� ����Z ��$ )� ���Z -��( 	� )�&! 	  ��� �3�� ��
 -� �� ����� ����.  

	D�� 	��D� ��9 	� )� ���
 	� ���
 K� �
�R � ��� ��
 -� �!�/� ����� ��R -��( 	� )�&! 	  �����.  

  

-�Z( ) ( )= − =4 43 3 81 ��������3± 	D��  ����Z ��$81 ���/$.  

��� 	� 	"�(�� 	 52 32= )� ��� .��������5 32 2=.  
  

  

��V���� �#$��C� ��� 08O� ��
a 	� ����Z 	"�* �� �� K� c?* ^>�; ����!�#� 0��  �%& ��� ��� ���� �$��Q 08O� ���?�

	D�� �#��� 	���� 	� �� �$ 	� )��� ! 08O� o��" !� ����!�#� 0�� )� 0�� ���.  
  

>Y�,−4 42( ) 
�� �%� )���  

  

  

( )− = − =44 2 2 2  

  

�@�4( )− �' � J730 �a �����a )��� �
�� �% 

  

  
( )4− 	D�� �
�R �a 0�� .)�+�( ) a54− =�������� �:  

a 1024= −  

2��N� >Y�, �� �� � � ��5 � ��! ��
. 

)1
5

4
32

81

−
 

)2 5 43 3125 7 1296× +  

)3 a b c
5 10 7 6−  

)4 5 72  

)5 5 1
10000000000

 

)6 /50 00243  

)7 4120000  
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  پاسخ مثال

  

 )1 = × × × × =52 2 2 2 2 2 32 

)2 ( ) ( )× + × = × × × + × × × = × + × = + =3 32 4 5 2 2 4 4 4 5 2 2 2 2 64 5 8 128 40 168  

)3 ( ) ( ) ( ) ( )− = − × − × − =−39 9 9 9 729 

)4 a a a a a

b b b

× × × =
×

4

2
 

)5 ( )× = =2 23 2 6 36  

)6
( ) ( )

( ) ( )
++ = + = + = =

2 3
2 3

2 3
1 11 1 1 1 2 1 3

2 2 4 8 8 82 2
 

)7 ( ) ( )
−− = − × = − = =

2
2 2

2 2
3 1 3 1 9 2 81 8 732 2
2 3 4 9 36 362 3

 

)8 +× = =2 3 2 3 53 3 3 3  

)9 ( ) ( ) ( ) ( ) ( )− = − = − × = − × = × = = =2 3 6 6 6 6 6 2 6 124 4 1 4 1 4 1 4 2 2 4096  

)10 (ab ) a (b ) a b= =3 3 3 3 3 3 9  

)11 ( ) ( ) ( ) ( ) ( ) ( )− × − = − × − = − = − × = =3 4 2 12 2 14 14 14 142 2 2 2 2 1 2 2 16384  

)12 ( ) ( ) ( ) ( ) ( ) ( ) ( )+− × − = − = − = − × = × = =
6

3 3 3 3 6 6 6 6
6

2 2 2 2 2 2 2 641 1
3 3 3 3 3 3 7293

 

)13 ( ) ( ) ( ) ( )−÷ = = = =
7

12 5 12 5 7
7

3 3 3 3 3 2187
2 2 2 2 1282

 

)14 ( ) ( ) ( )
−− ÷ − = = =
−

5 5 5 588 4 2 32
4

 

)15
( )

( )− = = =
3

3 3
3

11 12
2 82

 

)16 ( )
( )

− = = =2
2

3 1 1 16
3 94 19
4 16

 

)17 ( )a b z a z
a b z a b z a z

a b z b b

− − − − −
−
× × ×= = = × =
× ×

3 4 4 2
3 1 1 6 4 2 4 5 2 4 2

1 6 2 5 5
1

 

)18 ( )− −× = × = × =1 2 21 1 1 1 12 3
2 3 2 9 18

 

)19 a ( ) ( ) ( ) ( )
a a a a a

− + = + = × =2 2 2 2 2
2

1 1 1 1 22  

)20 ( ) + = + =0 01 3 1 1 2
2

 



 

 

 

56  

 

)1 = =216 4 4  

)2 − = − = −216 4 4  

)3 ( )= =21 1 1
9 3 3

 

)4 ( )− = − =−21 1 1
9 3 3

 

)5 ?− =25  )�3���3 ��" )��� ���
� (.  

6 (	''D��  ��''
 �!� �25 	''  ����''
� )''�+� �   -��''( 	''� �''��2   �''� �''���� ���''���25 )''� �3�''� . )''�+�5 !5−.  
  

( , ( ) )= − =2 25 25 5 25  

7 ( ��
 �!�
�11 )�+�=211 121 

)8 × = × =3 9 3 3 3 3  

)9 + = + =9 16 3 4 7  

)10 = =121 121 11
25 525

 

)11 × × × ×= = = =49 36 49 36 7 6 7 3 21
64 8 4 464

 

)12 ( ) =26 6  

13 (	D��  ��
 �!� �3���
� �3 !3− 0�� .���,( )23 3= !( )23 3− =.  

14 (�3���3 	D�� )��� ���
�.  

 )15 ( )− = − =−333 27 3 3  

)16 ( )− = − = −33 31 1 1
64 4 4

 

)17 ( ) =33 7 7  

)18 ( )× = × × = =3333 3 34 16 4 4 4 4 4 

)19 ( )= = =
3

33 33
3

8 2 2 2
125 5 55

 

)20 ( )
− −= = − = − = −

3 3333
3

192 192 64 4 4
33

 

21 (	D�� ��
 ��� �5− -��( 	� )�&! 	  ���
 )�+� �3 �� ����� �����5− ��� .)�+�3 5−.  

)22 ( )− × = − × = − × = −33 3729 36 9 6 9 6 54  
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       ���'?� �'��� 	'  0'�� <'\�! �	T]'/� @�=#'\�( 	� 	"�(��a  �'� ��

�#��#� p��|�O#* 	#N& ,� .������.  

a b c

a ( ) ( ) a ( ) ( )

+ =

+ = ⇒ = − =

2 2 2

2 2 2 2 2 23 11 11 3 112
  

-�Za-�#� � )� �M3 �� �� -� 08O� ���?� �0�� g��(�� �� ���#�.  

��������:  a 112=  

)8��?( ���?� ����� �%&a 	� �� ���!�#� 0��.  
  

)� �#3��  :   , ,100 112 121 11 11 121 10 10 100< < × = × =  

100 10 112 121 11= < < =  

112 c�! �8��?(10  !11 0�� .)� p�; �������� �#3,a /10 5= ���� .)� _���,� �� ��Q p�; �#� .  

( / ) ( / ) /10 5 10 5 110 25× =  

)�  	� ���?� 	  �#�#�112 0�� K��e3 )T#Q.  

��������:  a /10 5≃  

  

  

= =3 33 8 2 2 )1  

0  

< < ⇒ = < < =16 23 25 16 4 23 25 5 )2  

 ��
 �����  _���,� 	  p�; ��Z �#� ��/4 7E���� E��?( ��� ��( .	D�� �������� ��$23  )'8��?( ���'
� �/4 7±  ���'/$.  

���,:  

( / ) ( / ) /= − =2 24 7 4 7 22 09 23≃  

0
/4 7/4 7−
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< < ⇒ = < < =3 3 31 6 8 1 1 6 8 2 )3 

3 6  �#� ��
 K�1  !2 0��) . ��
 -�Z6  	�8 K��e3  �( 0�� �(1(	D�� xR �  	� -� ��� �2( )3 8 K��e3    0'�� �'(

�(1( )31.  

 ��
 �p�; ��Z �#� ��8/1 ���� ����� E��?(3 6 0�� .���,( / ) /=31 8 5 8 ��������:  

/3 6 1 8≃  
0

/1 8

 

  

3 1 1− = − )4  

0  

  

( )333 64 4 4− = − = − )5  

0  

  

( ) ( )= − =2 218 18 324 )6  

0  

   

)1
( )−− −= =

555

4 4 4

232 2
381 3

 

 

)2 × + = × + × = × + × =5 45 4 45 43 3125 7 1296 3 5 7 2 3 3 5 7 6 57  

 

)3 a b b
a b c (a ) b b c c a bc b c

c c

− − − − −= × × × = × = ×
2 25 510 7 6 5 2 5 2 5 1 2 1 2 15 5  

 

)4 5 72  

= < < =5 52 32 72 3 243  
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p�; 	D#�$ ��3�� )� _���,� �� ��Q ��$ �#�  .   )'� 	'  p�'; ��Z �#�    ��'
 �#'3,3/2   E'���� E'��?(   �0'�� ��'( 

���,:  

( / ) /=52 3 64 36343  

��������:  

/≃5 72 2 3  

  

)5 ( )− − −= = = =5 10 2 5 255 1 110 10 10
10000000000 100

 

 

)6 / ( )− − −= × = × = × =5 5 5 5 155 30 00243 243 10 3 10 3 10
10

 

 

)7 4120000  

< < =4 41 12 2 16  

 ��
8/1 ���� ��412 )� p�; )� ! �#3, 0�� )8���� E��?( 	  �#�#�.  

( / ) /41 8 10 4976=  

�������� �����:  

/=412 1 8  

/= × = × × =≃
4 44 44 4120000 12 10 12 10 1 8 10 18  

  اُم nریشه
	� r!� �� -�� �( 	D�� -��!� 0�� ���� ���� �
�R 	D�� �( ���
 K� ��$ .     	'� ���'� 	'  )��'LF� 	'� 	"�(�� ��;   0'��

	D�� -��!�)� ��#�Q��� �$	D�� �#3��(n �� ��
 K� �(n )∈ℕ �#�  	8��=� ��.  

  اُم یک عدد nریشه
 	  �#�  a�*n ���* )+#89 ��
 K�n ≥ 3 ����� . 	D��n����3�� ��
 K� �a  �'�3�� ���'* 	� �%=�� ��
 �b   0'��

-��( 	� ��� 	 n  �� ����� �����a ���. n(b a)=  

�#�  a�* ��;n ���� �!, )+#89 ��
 K� .	D�� n�� ��
 K� �08O�  ��3��a  ��3�� )��$��
b± �    	'� �'�� 	'  �0�

-��(n �� ����� �����a �3��. n n(b ( b) a)= − =  

  

#�  0&�� 	D�� 	 n ���  ��
��> .����$ ���> 0��. 
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���n 	D�� ����� �!,n ��  `��+( 08O� ��
 K� ���� ���� �� ��#�) .U��Z (  

  .های حل شده زیر توجه کنید به مثال

=6 62 2  )1  

( )− = −77 3 3  )2  

n na a a= ≥0  )3  

       n     ��*n na a=  )4  

  

���n ��
 K� ��* )+#89 !n ≥ 3 ����� �����:  

n n n

n
n

n

ab a b

a a

b b

= ×

=
  

�@�n )�����
�� U�� c���� 2��Y �% �
 ����� P�� �9:N# 
�� W   

��� 	  �#��� 	���� ��� 	�n �( 1�� c��!� ����� �!, )+#89 ��
 K� 	  �3���&�� )(��> �� ��a, b >0 �����.  

  

  

= ×6 6 612 4 3 )1  

− = − × = × −7 7 7 7 718 6 3 6 3 )2  

 �� �� � � 2��N� >Y�, � ��! ��
.  

− − −6 76 75 5 5 5( ) ( ) 

  پاسخ مثال

  

/

( ) ( ) ( )

⇒ − <

⇒ − − − = − − − = − − + = −6 76 7

5 2 2

5 5 0

5 5 5 5 5 5 5 5 5 5 5 5 10 2 5

≃
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�9:N# 
�� �
 �5 ���� � !m �k  )��� ���
�� � � �R���))��%(  

= > 0k m mka ( a) (a )  

�� � �,',- ��4 �" !
�� �'�
� ���� a  �5'�6 ��4 �" �n �7�
� ��
 �
�)�� �	� !.  

( )
( )

( )

n n n

mk k k k k k km m m m k

ab a b

a a a a a a a a ... a− − −

=

= × = = =
1

1 1 2

1
  

  

"�T� �� L�� >, ��5 �:3( �I�& � � �.  

( )=
24 2 42 2 )1  

( )=
35 3 510 10 )2  

  

  های گویا توان

  .مثال زیر را با دقت بخوانید

��
 ���( �
( �� 8��& ��
9 �#
�:9 �� #
�%��� ;	. ��
 ��
� <
=�
 ��>
? �
( �#
�%��� �	
 �
��
�-!  

�
� <
=�
 �
 �( �9
��
A� ��� �& �?%��� %B C
D'��9 ��4 �� �( �� #
�%��� �	
 E��F #
G'� #
	���� �	
H� � I

J
�	�,9 K�
 ��� #
	
La5 �<�� ��� #
	
L ��( a)25<%� ��� #
	
L �� �( a)35 �  ...��
 ��%� .  

 !�
( K�
 ��� M�� �� �#
�%��� �	
 E��F #
G'� �
N& �O� ��P��
 ��,Q  

P�%7Q !�
( <�� ��� M�� ��  

E��F #
G'� !�
( K�
 ��� M�� �� ���( ��"
�� �
��
�- �	
( a)

1
25 ��
 .�
�,� !�
( <�� ��� M�� �� �'�RN"( a)

3
25 

�� ��$ ���.  

#
%9!
"( a)

1
25 �( a)

3
25 #
%9 
��� 
	%S !
"�� � �'	%S#$ �
 ������ �S��� �� �'�
%9�'�( ��
���
 
" .  

#
%9 <%:�� 
� �( K
-#$ �'�
%�� �	
� ��	�& 
�&$ 
	%S !
"  
"�'�( ���
A� 
�.  
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 ��4 �H
	� ��( a)

1
25 �� 
�  C�%Ta5 �� U	
N��'"�.  

RN" �'�( a)

1
35 �� 
�  C�%Ta3 5 �� U	
N��'"�.  

 V'9�9 �'N" ��n( a)

1

5  WX& ��n a5 �� ��
� U	
N��%&.  

 �:M �3� "�H 
�� 2��Y �� �� � � 
����.  

1
33 )Z>
   

1
26 )I   

1
79 )[   

( )

1
111

2
 )�   
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  تعریف
�'�( \�Fn � [�� �5'�6 ��4 ;	a �� Z	�59 ��&
� ���� �,',- ��4 ;	 �'�(:  

nna a=
1

  
  

RN"�'�( \�F �'�m �5'�6 ��4 ;	 �(m≥ 3 �b  ;	 ��4�� Z	�59 ��&
� �,',- �'�(:  

mmb b=
1

  

�� U'L K
]� �	
 K
-  !��4 �'"
%^� �S
 �( �	$���
�
k

na A� 
��� 
	$ P��( �	
� �Q ��'�( ���
 P�'"� _�
L �'�
%9!  

�	�
�:  

k k nk kn n na a (a ) a
×

= = =
1 1

  

)���� )��� ���83 ��!, 	"�* �� ��V���� ��, @��8
 	  �#��� 	���� 0&� 	�8F�(.  

`N? ��%� �� �( ��'�
%) <
N9 �( �'&
� ��&
� �?%9�a	��9 � #
%9 �'�,9 � I�H %9 ��%� �� ���& ���S 
"#
  �" 
	%S !
"

�� b�T ��(.  

"�H 
�� �� W  �5 �� �� �5 �:M �3� ��M( /��& 2��Y 1H��� �.  

) ) ( m) , m

) ) ( p)

) ( a) ) ( )

) ( a) ,a ) m , m

34

1 4
2 3

4 2
5 3

54 4

1 8 2 7 0

3 16 4 6

5 10 6 64

7 0 8 4 0

>

> >

  

 2��N� �:3( L
�� �� � � ��5.  

) ( n ) ) ( r )

) x yz ) x y z

3 4
4 62 3

3 4 2 24

1 64 2 8

3 384 4 96

  

 �� �� � � 2��N� >Y�, � ��! ��
.  

( )− 26 327 6
4
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  پاسخ مثال 

  

=
1

333 3 )Z>
  

=
1
26 6 )I  

=
1

779 9 )[  

( ) =
1
11 111 1

2 2
 )�  

  

  

)

) ( m) ( m) ( m)

) ( )

3
4 34 4

3
3 32 2

1
2

1 8 2 2

2 7 7 7

3 16 16 4

= =

= =

= =

  

) ( p) ( p) p p p= = =
4

4 4 43 3 334 6 6 6 6 6  

) ( a) ( a) a= = ×
4

54 4 4555 10 10 10  

) ( ) ( ) ( )= = = = =
2

32 6 2 12 43 336 64 64 2 2 2 16  

) ( a) a a= =
5

45 54 47  

) m ( m) m= = ×
1 1 1

4 4 4 48 4 4 4  
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) ( n ) ( n ) n n n
× ×

= × = × = × =
3 3 3 36 44 6 4 9 6 62 2 2 21 64 2 2 2 512  

) ( r ) ( r ) ( ) (r ) r r= × = × = × =
4 4 4 4

6 3 6 3 6 4 8 83 3 3 32 8 2 2 2 16  

) x yz x yz x xyz x xyz= × = × × =3 7 3 33 384 2 3 2 2 3 8 6  

) x y z x y z x y z x y z4 2 2 5 4 2 2 2 2 2 24 4 4 44 96 2 3 2 2 3 2 6= × × = × =  

  

( ) ( ( ) )− = −
1 1

2 26 6 23 327 6 27 6
4 4

  

( ) ( )
  
  = − = − = + −

   
   

= + − =

22 31 1 1 43
3 26 2 2 227 3 33 3 3 3

4 2 4

27 33 9
4 4

  

  های جبری عبارت
)�	T]/� ,� ���#/� �� 	  �#3��$�#/���� )\��� -��, 	� �� ���� @��> 0�� �,1 �� .	T�"��Z�� �$��=(� ! �$)�  ��3��(

^~�/� ^; �� ���  K�  �� 	�.  

 ���#���� �* ^�
 m&��� )N+� �� �xV
�� )$�� ! �#/���� )\��� ��=(� K� @��> 	� �� ��8" @��8
 K� ���� )$��

)� ��  -��� �� 0C� ���� K� �3��(.  

1 ����������,���#� o�Q �� ��#���� �* ! �$��=(� �� -��  ��  	  0�� �,.  

  

O��� O+I >Y�, �( �:��:� �� �NT� �?��K� � 
�Q 
�� �
 /! ��5  �5130 
�� .  
  

  
m )� �M3 �� ��* ���
 �� )� )\��� -��, 	� �� 	T]/� ! ���#� �#/��3.  

m (m )

m m m

m m

m m (m )(m ) m m

2 2

2 2

2

2

2 130

4 4 130

2 4 126 0

�''� 2 63 0 9 7 0 9 7

+ + =

⇒ + + + =

⇒ + − =

⇒ + − = ⇒ + − = ⇒ =− =

  

  

m 7= �0�� ��8& ^��&  ���?� ���() .U��Z ( ���
 !� -� ��������7  !7 2+ ���/$. 	� o��" �)� -�=��� �� .��� 0� �#� .  

( )2 27 9 49 81 130+ = + =  
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 �� ��S?� Jz�
 t�T� W  �&� "�#2 :� �,��  ���� t��T� 4 � ��[� �� �H  "�# �� �K' .     ��G 
 O��[ "��# ��@�  

 t�T� 4 �8 �:3( ;<'� �� /! �G 
 O�[ �
 L����� ����� �,��.  
  

  
����� p��|�O#* 	#N& 	� 	"�(��:   

  
          x ( ) (x ) x x x

x x

2 2 2 2 28 2 64 4 4
64 4 4 15

+ = + ⇒ + = + +
⇒ = + ⇒ =

⇒    

  
  

-��$ )� 	  ��9 	� 0��� 	D#�$ ��8" �!�/( K� �#3�� ��� 	  )�+� �-� ��$�#��� ���� .�� `��+( ���?� �$ ��,� 	�

)� ��8" ��=(� K� �� ���� 	���� )3�/V� ^>�;�#���.  

	�*�� ��* -�� �( 	  )��$��=(�)� �!�� �� ����#� :  

(a b) a ab b

(a b) a ab b

(x a)(x b) x (a b)x ab

2 2 2

2 2 2

2

2

2

+ = + +

− = − +

+ + = + + +

  

�#$�� r,��� ��� 	� �� �L�� ����� �R ��=(� ��Z ����� �%& 	���� ��.  

 2��N� >Y�,+ 3(a b) �� �� � ��! ��
.  
  

  

(a b) (a b) (a b) (a ab b )(a b)

a a b a b ab b a b

a a b ab b

3 2 2 2

3 2 2 2 2 3

3 2 2 3

2

2 2

3 3

+ = + + = + + +

= + + + + +

= + + +

  

��������:  

(a b) a a b ab b3 3 2 2 33 3+ = + + +  

� 	2���	  	� ! 0�� ��=(� K� .��� 0�� ��=(�0�� f!�+� g��
� E+V� . ��" 	� ��;b ���?�( b)− $� ���& �� ! �#

c/�(a b)3− �#/���� ��.  

(a b) a a b ab b− = − + −3 3 2 2 33 3  

� 	2��� !�	 ����z/� �9�Q 	� �� ���/$ g��
� E+V� ��$��=(� 	  .��� 0�� .  
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  زنگ تفریح

 EF�" 	2��� K�! ! !  

�#�  0&� -� ���
� �#� 	2��� ! ��, }TO� 	�.  

  

����� )*�9 ,�:  

(a b)

(a b)

(a b)

(a b)

(a b)

+

+

+

+

+

0

1

2

3

4

  

 �� � ! ���$� �:���&+ 5(a b) �� �� )� ��! ��
  

��#Q }TO� 	� �����  .�$�D� 	  ����
� }TO� - 0�� f!�+� ��V��R.  

��#Q }TO� - �\ ^V� )OTO� _���� 	� ��V��R�	T�" !� c/� E�)� 	��� �����. 
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  جبری تجزیه عبارت

)� �#3��:  

(a b) a a b ab b3 3 2 2 33 3− = − + −  

����� )*�9 ,�:  

(a b) (a b)(a b)(a b)3− = − − −  

�#/���� ���:  

a a b ab b (a b)(a b)(a b)3 2 2 33 3− + − = − − −  

)�^>�; 	� �� WZ 0�� @��8
 �#��� .��  	�e
( 0��� 0�� @��8
 	� o�\��� .@��8
 ,� K� �$ ��$(a b)−  ^��
 K� ��

)� 	�e
( .�3���� ���#��3 .^��
)� 	�e
( ��$����83 �!�/� ��3��( ..�#I#R ��  @��8
 K� 	�e
( @�&!� )$��)� ��(���.  

  

�:3( � S7& �� � � 2��N�.  

a(a b) b(a b)22+ − +  

 

a(a b) b(a b) (a b)[a b(a b)] (a b)(a ab b )+ − + = + − + = + − −2 22 2 2 2  
  

  .متن زیر را مطالعه کنید

��� ����
 /�:����(
 {��# ���� ��0 .� W  u
�( p�&� ���� ��   4K�M'� ��� L��� �( �L
�( �,��# �K,�� >N

]�N�� /
�
 ���
 ���� /! �U�� ��8Q �� /��K�  
��( L
�XK�� ���� .     ��� ��,��# 4� � ��:?�� L�� �    ���� �� � 2���Y.  


�9�� �� `9H� W  ��K�� ��A �:N�W%�( `9H� W  1|� � L
�( ���� 
�9�� �� �&B  �� ��}3h( �� �H  ��5   /���:� /!

��� L�:'( .�
�� `9H� J7, �+� �6� �� )��� ��$% L����  

  

 i�e� E+V� �
; fn�Q�  �( ,�KZ�  E+V� �(A B3 3− 0��.  

)� ��;-� 	� 	"�(�� �#$��Q)� ^V� �� 	  	Z �#�  	8��=� �� �M3 ���� �
; �#�#�.  
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���� �/" E+V� 	� �� �M3KZ�  ��$)� �#/?( �()� 	8��=� �� K� �$ �
; ! �#� �#� .  

  
�����:  

A B (A B)A (A B)B (A B)(AB) (A B)(A B AB)3 3 2 2 2 2− = − + − + − = − + +  

 ���?� �$ ���� ��, 	2���A  !B 0�� f!�+� �|1 ! X�Z ��=(� 	� ! 0�� X��>.  

A B (A B)(A AB B )3 3 2 2− = − + +  

)� )*�+� �� �����  �R ��$��=(� ,� �L�� )V� 	���� ���#� .  

2��N� >Y�,2(a b c)+ + �� �� � ���:� ��
.  
  

  

[ ](a b c) (a b) c (a b) (a b)c c

a ab b ac bc c a b c ab ac bc

22 2 2

2 2 2 2 2 2

2

2 2 2 2 2 2

+ + = + + = + + + +

= + + + + + = + + + + +
  

  

	� 	2��� 	T�" 	� m��� 	� ! 0�� ��=(� K� .��� 0��0�� f!�+� �� .����� ��������:  

(a b c) a b c ab ac bc2 2 2 2 2 2 2+ + = + + + + +  

)� �#�I�$0��3 -��(:  

a b c (a b c) (ab ac bc)2 2 2 2 2+ + = + + − + +  
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�@�8a b c+ + = �2 2 2 16a b c+ + = >Y�, �����ab ac bc+ + %)��� ��$  

  

2��N� >Y�, �� �� � � ��5 � ��! ��
.  

)`F�  ( a b)32 3−  

)o  ( a b )2 2 33 −  

)�  (a )2 31+  

)�  ( a )( a a )− + +22 3 4 6 9  

)'$  (a a )(a a a )− + +5 3 10 8 6  

)!  (a b)(a a b b )2 4 2 2+ − +  

�� �5
�r&� �� L
�XK�� �� �� � � 2���N� >Y�, � ��! ��
.  

 )`F� (a )(a )(a )22 2 7− + +  

)o (a )(a )(a a )4 21 1 1− + + +  

)� (a )(a a )(a )2 31 1 1+ − + −  

)� (a )(a a )(a )2 31 1 5− + + +  

)'$ (a ) (a )3 31 1− +  

  عبارت گویا
	T�"��Z -� ��C� ! @��> 	  0�� ��/  ����� @��8
 K� �)T  ��9 	� ��0��.  

  

)� ��> �� ��C� 	  �#��� ,� )��$���?� ��,� 	� ���� @��8
 K�)�3 `��+( ��� ����.  

  

  

@��8
 ��$x

x

+
−

22 3
4

�
x y

xy y

+ −

+ −

3 3

6
2

7
�

y

1 !x3

1
 @��8
 ��$ ���/$ ����.  

@��8
 ��$x

x2
1

1

+
−

 !x x

x

2 3 4
7

+ −
+

 @��8
 ��$  ���'/#3 �����    @��'8
 ^��'� ��'�,  '8" ��'$  ���'/$ )F�'V���� �� .  

)���� <#=> ��
 ���� �$�#��� -��((  
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��� ! o�N� ����� �� 	���� ��.�3�  ��
 [nO� ����� ���� ���
�18 3 6= × ���#L� �M3 �� ��. 18  ���� )��N�  

 ���
�6  !3  ! 0�� �$���   ���
� ,�3  !6  ���� .�3���� K�18 ���/$ .  

)�0/#3 ��* 	� �%=�� ��
 K� o�N� �#3��.  

)� e#3 ��8" @���8
 ���� �� �#$��� ������ �#�+( ���.  

  تعریف
o�N��8
 �$ ��$@� 	T�"��Z K� �� ! ��8"@��8
 �� ! <#=> ��$��
 �� @��8
 -� o�\ ,� ���  �L�� ��8" ��$  

)�$ �� ! !� �$ �� -��, ()� 0�� 	�����.  

@���8
(x )x+ 27�(x x )x+ +2 23 4�x
x

y

2
26 !(x )x+3 25 2 )���N� )L�$ ����x2 ���/$.  

 (x y)7 +  o�N�x y+  ���, �0/#37 )�3 <#=> ��
 K�����.  

  های گویا با مخرج یکسان جمع و تفریق عبارت
���A !B @��8
����� ����� ��8" ��$:  

A C A C A C A C
,

B B B B B B

+ −+ = − =  

  های غیر یکسانهای گویا با مخرجمراحل جمع و تفریق عبارت
)� 	�e
( �� �$�/  ��C� -�V�� @��> �� ����� �#� )����� ��#���� �* ! �$��=(� ���� �� 	  )(�
n9� ,� .������ ��(. 

c���� �� ) ��D� ��C� xz�  ��,)� ��#R �#� .  

��C� h��D��#| ! h��D� ^���
i�e� �� �$ )� o�\ �$ �� �� 	�$ ! 	�*�� �M3 �� �� -��( ���( �#� )KZ�  ���+�  ���(

���
� �� h��D� o�N�(.  

��C� �( .��  o�\ �,1 @���8
 �� �� �/  �$ ��C� ! @��> �+� 	T;�� ���3�� )V� �$.  

 m�" r!� ,� .������ �� xz�	� �M3 ���� o��" �-�/V� ��C� �� ���� @���8
 ����( ! )� 0�����.  

  

�� �� � � 2���N� >Y�, � ��! ��
.  

a b ab
+

2 3

7 5

2 3
 )`F�  

x x

(x )x (x )(x )

1
2 1 2
− −
− − −

 )o  

x x x x2 2
1 2

2 1 3 2
−

− + − +
 )�  
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`F�(a b22 !ab33 ���/$ ���� ��$�/  ��C� . .�� 	��� @�=#\�( 	� 	"�(��a b2 32 3× × ×  h��D� ��C�

���� 0�� �M3 .��������  

b a b a

a b ab a b a b

× × + × × ++ = =
× × ×

2 2

2 3 2 3 2 3
7 5 7 3 5 2 21 10

2 3 2 3 6
  

o((x)(x )(x )1 2− − 0�� .�� .��� �/  !� ���� h��D� ��C�.  

(x )(x ) x(x)x x

(x )x (x )(x ) x(x )(x )

x x x x

x(x )(x ) x(x )(x )

2 2

1 11
2 1 2 1 2

2 1 2 1
1 2 1 2

− − −− − =
− − − − −

− + − − += =
− − − −

  

� (���� ���� ��� �� 	� )� 	�e
( �� .�� .��� ��$�/  ��C� ����� �h��D� ��C� -��!� 0���#�  .�����:  

x x (x )

x x (x )(x )

(x ) (x )

(x )(x )x x x x (x ) (x )(x )
x x x

(x )(x ) (x )(x )

2 2

2

2 2 2 2

2 2

2 1 1

3 2 2 1
2 2 11 2 1 2

2 12 1 3 2 1 2 1
2 2 2

2 1 2 1

− + = −

− + = − −
− − −− = − =

− −− + − + − − −
− − + −= =
− − − −

  

 2��N�
2

2

1 121

5 41

x xA

x x

− −
=

− +
 �:3( L
�� ��. )��� � �@ 2��N� W  >Y�, � !  

  های گنگگویا کردن مخرج
)� ��
3� A�� �/  K� ��C� ! @��> �!� 	  )(�#T�
 	� -��  ���� ���� ���� @��8
 K� 	� ^��8( -� ��C� �( �#$�

)� 	��� ��C����.  

  

�?�H 
�� 2��N� P�<�
3

1

x
 �:3( � �@ ��.  

  

x x x

xx x x

3 3 32 2 2

3 3 32 3

1 × = =  

2��N�
3

1

1a +
 �:3( L
�� ��.  
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  پاسخ مثال

  

( )
a b c (a b c) (ab ac bc)

ab ac bc

(ab ac bc)

ab ac bc

2 2 2 2

2
2

16 8 2

2 48

24

+ + = + + − + +

⇒ = − − +

+ + =

⇒ + + =

  

  

( a b) ( a) ( a) b a ( b) ( b) a a b ab b3 3 2 2 3 3 2 2 32 3 2 3 2 3 3 2 3 3 8 36 54 27− = − × × + × × − = − + − )`F�  

( a b ) ( a ) ( a ) b a (b ) (b ) a a b a b b2 2 3 2 3 2 2 2 2 2 2 2 3 6 4 2 2 4 63 3 3 3 3 3 27 27 9− = − × × + × × − = − + − )o  

(a ) (a ) (a ) a a a a+ = + × + × × + = + + +2 3 2 3 2 2 2 2 6 4 21 3 1 3 1 1 3 3 1 )�  

( a )( a a ) ( a) a2 3 3 32 3 4 6 9 2 3 8 27− + + = − = − )�  

(a a )(a a a ) (a ) (a ) a a− + + = − = −5 3 10 8 6 5 3 3 3 15 9 )'$  

(a b)(a a b b ) (a ) (b) a b2 4 2 2 2 3 3 6 3+ − + = + = + )!
  

  

(a )(a )(a ) (a )(a ) a a2 2 2 4 22 2 7 4 7 3 28− + + = − + = + − )`F�  

(a )(a )(a a ) (a )(a a ) (a ) ( ) a4 2 2 4 2 2 3 3 61 1 1 1 1 1 1− + + + = − + + = − = − )o  

(a )(a a )(a ) (a )(a ) (a ) ( ) a2 3 3 3 3 2 2 61 1 1 1 1 1 1+ − + − = + − = − = − )�  

(a )(a a )(a ) (a )(a ) (a ) ( )a ( )( ) a a2 3 3 3 3 2 3 6 31 1 5 1 5 5 1 1 5 4 5− + + + = − + = + − + − = + − )�  

(a ) (a ) (a ) a a a3 3 2 3 6 4 21 1 1 3 3 1− + = − = − + − )'$  
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@��8
 ,� K� �$ �����)� .��� �� ��C� ! @��> ��$�#� .  

(x )(x )x x

x x x x

(x )(x )x x

x x x x

(x )(x ) (x )(x ) (x )(x ) x x
A

(x )(x ) xx x x

2

2 2 2

2

2 2 2

2

2 2 2

4 31 12 121

4 15 4 5 41

4 3 4 1 4 3 3
4 1 1

− +− −− − = =

− −− +− + = =

− + − − − + += ÷ = × =
− − −

  

-��$0����� @��8
 K� ^>�; �����  .�$�D� 	  ��9.  

  

  

( a a ) a a

aa ( a )( a a )

3 32 3 2 3

3 3 23 3

1 11 1
11 1 1

× − + − += =
++ + − +
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  های مختلف حل آن دوم و روش  ی درجه معادله
  

�#3��C� 0&� �� �� ��, ��O� :  

 	'2?3 �#/� �!� ���(�� ���& K� �#�  a�*   �� �#'Z

���� 0 �; . o� -���" 0
�� ���
km

h
3 ) -�D3 0�" ��

.�� .��� (  .�'� )9 -��, ^  !) 	'2?3 ,� �A  �'(C (12 

��� 	� 	"�( �� ����� 0
�� 	2?3 0*�/� 	  �A �(C  �!�

 )�=��km96       	8'��=� �� ���'& 0' �; 0
�'� �0'��

�#� .  

  

  

  

  

  

  

 �� ���& 0 �; 0
�� ���x      	'2?3 ,� o� -�'��" 	'� 	'"�( �'� ���& 0 �; 0
�� ����#L� �M3 �� �A  �'(B    �'� �'����

km
x

h
3− 	2?3 �� !  �B �(C  �

km
x

h
3+ 0��) .U��Z (  

)� �#3��:     

�L�MMM�. 

�N MM� 
 =  -��,⇒  -��,×  0
��= 0*�/�  

 ��������
x

48

3−
 )� ��9 0
�� �(�� ���& 	  �D 	2?3 ,� �� �A 	�B  !

x

48

3+
 )� ��9 0
��   	'2?3 ,� �'( �D   �

B  	�C �!��.  

 �� ����� .�� )9 -��, ^  ����� @��> 	� 	"�( �� )*�9 ,�12  0
��0�� .	
#�3 �� :  

, x
x x

48 48
12 3

3 3
+ = ≠±

− +
   

(x ) (x )
(x ) (x ) (x )(x )

(x )(x )

48 3 48 3
12 48 3 48 3 12 3 3

3 3

+ + −
= ⇒ − + + = − +

− +
   

x x ( )*
2 8 9 0⇒ − − =   

 	'F��+� �#M3 )(1��+� �� ^~�/� ,� ���#/� ��   	'�!� 1�'� �  )'� !�    -� ^'; ���'� ! ���'�       ��'�
� ���'?� �#3��'�� �'��� �'$

	F��+� (x) �#��#� �� .)� ���� @1��+� 	3��3 ��� ^; �� ��& 	� ��& ��; ���� .  
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  : تعریف

 ^V� 	� 	F��+� �$ax bx c2 0+ + = 	F��+� K� �� 	"�� � )� !� � .���$ �#��3 :  

1 (a 0≠     2 (a , b , c∈ℝ    3 (x ��� K����� �# .  

	F��+� ��3�� 	F��+� �$ m&�! ��  �( )* i�e� 	"�� �-��  .��� ,� xR 	    	'F��+� K'� �� ����� !� -� �#��� -��( ���(  �

	"�� )� !� � �#��3.  

  

 	"�� )L�$ ��, @1��+� ���/$ !� � .  

x x , x x , x x2 2 2 1
3 5 0 2 1 0 2 3 0

2
+ − = − − = − + =   

 �`��+( 	� 	"�( ��a  ��� ����� ��> `F�C� )?#?; ��
 ����b !c )� !� �$ �� ! ���  �$    	'� ��'��� ��> ��3��(   -��'�


@1��+� ��O�x x , x , x+ = = − =2 2 23 5 0 2 0 9 0 ���/$ !� 	"�� )L�$.  

  

 ���?� ��, �!�" ��b,a !c 	"�� @1��+� )Q�� ���� .�� BCD� !� � �3� .  

  

  

c  b  a  2U
�9�  

9−  5  3  x x23 5 9 0+ − =  

1

2
  0  1−  x2 1

0
2

− + =  

0  0  3 1+  ( )x23 1 0+ =  

1

4
  1

3
−  1

2
  x x2 1

0
2 3 4
− + =  
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�I�
 � � 2U
�9� �� �& �3% �:3( ;<'� )�3KM5 �
 �  

x x22 3 5− = )�  x x21
2 5 0

2
− + = )o  x2 1 0+ =  )`F�  

(x )x22 0− = )'$  (x )(x )1 2 0− + = )!  x x2 12 3 0−
− + = )�  

  

	"�� @1��+� ^; ���� ���?� ���� !� �x �3�� ���?� K� ����� �!�/( 0��� 0�� ! WZ 0�� 	  �#��#� ���9 ��.  

.��� 0�� 	� ����?�  ����x	D�� � 	F��+� ��$ )� .�#��3 !� 	"�� � �3��.  

r!� 	"�� @1��+� ^; �� �� 	� 	  �3��� ��"! )��$ )� K�  !� � ��� .  

i?� (�I�
 2U
�9� >, �
 �   >H� ��a , ax20 0≠ =   

����� :  

ax , a

x

x.x

2

2

0 0

0

0

= ≠

⇒ =

⇒ =

   

-��$  	  ��9)� .�$�D� 0�� �!�/� 	D�� !� ����� 	F��+� ��� ��#� .  

�?
�9� � x23
0

2
− = �:3( >, ��.  

] ( >H� �� �
 �I�
 2U
�9� >,ax bx2 0+ =   

�����:  

ax bx

x(ax b)

b
x x

a

2 0

0

�MM# 0

+ =

+ =

= =−

  

�:3( >, �� � � 2U
�9�:  

x x23 2 0− = )�  x x24 5 0− + = )o  x x2 0+ = )`F�  

  

  �'��AB 0=   ��'���

-�  .��A 0=  ��B 0=  
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P ( >H� �� �
 �I�
 2U
�9� >,a,c ,ax c20 0≠ + =   

�����:  

ax c a,c

ax c

c
x

a

c
x

a

+ = ≠

=− ⇒

=− ⇒

=± −

2

2

2

0 0

  

 0�n
 �
��� ��
c

a
 0�� ���.  

 ���
c

a
0> -� � 	F��+� .��  )� ��V���� ��, )��� ��
 ���, �����3 )?#?; o��" 0�� )�+� .  

 ���
c

a
0< -� � 	���& 	  ���� )?#?; o��" !� 	F��+� .�� �3�L��V� �.  

�� �� � � 2U
�9� ]��I � ��! ��
.  

x23 27 0− = )`F�  

x22 6 0+ = )o  

x27 4 2− = )�  


 (�I�
 2U
�9� >,  >H� �� �
 �(a ) , ax bx c≠ + + =20 0   

���� ��"! @1��+� ��� ^; ���� 	��R r!� 	� :  

1-  	�e
(  

2- -��  ^��  m���  

3-  ����* ,� .������  

1 - � S7&  

	F��+� �#3���� ��� 	"�� �  !� �ax bx c ,a+ + = ≠2 0 0 	� �� ^>�; @��> �\ ��� ��#/���� ��8" @��8
 !� o

)� ^; )�;�� 	� 	F��+� ��� .  
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�:3( >, /
�( � S7& �� L
�XK�� �� �� � � 2U
�9�.  

x x2 3 2 0+ + = )`F�  

x x2 2 15 0− − = )o  

x x24 6 4 0− − = )�  

  

x x2 2 15 0− − =  

(x )(x )5 3 0⇒ − + =  

x 3 0+ =  ��

x 5 0⇒ − =  

x 3=−  ��x 5⇒ =  

  

)o  x x2 3 2 0+ + =  

(x ) (x )2 1 0⇒ + + =   

x 1 0+ =  

��x 2 0⇒ + =   

x 1=−  ��x 2⇒ =−   

  

)`F� 

x x24 6 4 0− − = )�  

( x )( x )2 4 2 1 0⇒ − + =   

x2 1 0+ =  ��x2 4 0⇒ − =   

x
1

2
=−  ��x 2⇒ =   

  

2- /
�( >��( O���  

� ��	F��+� ����� �%& r!� �� 	"�� �  !�ax bx c,a+ + ≠2 0   ^'��  m��� ��8" @��8
 K� 	  �#/���� ���9 ��

��� �$�J -� �� .0�� ^; ^��& )�;�� 	� 	F��+� @��> ��� ��.  

)� )�;�� 	� )$�� ��� ��
3� �� ��  ��� ��� .  

  

x x (x )2 26 9 3+ + = + )`F�  

x x (x )2 24 4 2− + = − )o  

���!� ��"! 	� ��8" @��8
 �� )(��##�( ���� )$��.  
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�:5
 g�7�� �� � � >,��� ��NI 2��N� W  /
�( >��( O��� ���� .  

1-  E��\ 	  ���� �]�2�a 1=  ��� �0��a 1≠  �� �� �!�/( �#*�9 �0��a �#�  �#/?(.  

2 - 	F��+� 0��k E��\ 	  �#/���� ���9 �� .��� 0�� 	� �(c) ����� �!�/( �L�� f�9 �� 	#?� ! �!�/( f�9 K� �� .  

3- E��\x  -��( 	� �� ^>�; ! �#�  �#/?( !� �� ��2 �#3����.  

4- 	� ��
 	� �� .��� 0�� �#�  	*�\� �!�/( f�9 !�.  

5- 	� ��8" @��8
 �#/���� ^��  m��� @��> 	� �� .��� 0��.  

6- 	F��+� )� )�;�� 	� �� ^>�; � �#�  ^; �!� 	D�� 0#>�Q ,� .������ �� �#3��(.  

  

	F��+�  �x x2 4 0+ = �#�  ^��  m��� �� .  

  
-��$ )� e#3 ^V� �� 	  ��9 ��� ��#�#�  c?* ���� ^��  m��� 	  ��� ���� 	F��+�4 ����� ����� �  �;�!:  

  

x x2 4 0+ =   

x x2 4 4 4⇒ + + =   

(x )22 4⇒ + =   

(x ) x x22 4 2 2 2 2⇒ + = ⇒ + = ⇒ + =±   

x2 0=   !x1 4⇒ =−   

  
	F��+� �$ �, ��#�  ^; -��  ^��  m��� �� �� � :  

x x2 6 7 0+ − = )`F�  

x x22 4 1 0− + = )o  
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x x22 4 1 0− + =   

x x2 1
2 0

2
− + =   

x x2 1
2

2
− =−   

x x2 1
2 1 1

2
− + =− +   

(x )2 1
1

2
− =   

x
1

1
2

− =±   

x , x1 2
2 2

1 1
2 2

= − = +

   

)o  x x2 6 7 0+ − =   

x x2 6 7+ =   

x x2 6 9 7 9+ + = +

   

(x )23 16+ =   

x 3 4+ =±   

x , x1 27 1=− =

   

)`F� 

3 - "���Q �� L
�XK��  

� r!� ���)� K�  �� 	� ^~�/� ���#/� ^; � ��  .r!� )�&! ��������       o��'" 	'F��+� K'� �!� )'T8& .�'� 	��� ��$

)� ����* ,� .������ �� ����3 �� �M3���� 	
#�3 	� �#3��( �#��� .��CF� �.  

�#�  ��83� �� ��, ^;��� :  

ax bx c (a , a ,b ,c )2 0 0+ + = ≠ ∈ℝ   

)��
 	� �� f�9 !�a )� �#/?( �#�                     (
b c

x x
a a

2 0+ + =   

))� rn( �#��� ^��  m��� 	� �( �#�                         (
b c

x x
a a

2
+ =−   

)
b

( )
a

2

2
 )� 	*�\� f�9 !� 	� �� �#�  (

b b c b
x x ( ) ( )

a a a a

2 2 2

2 2
+ + =− +   

b ac b
(x )

a a

2
2

2

4

2 4

− +
+ =   

b b ac b ac
x

a aa

2 2

2

4 4

2 24

− ± −
+ =± =   

b b ac b b ac
x

a a a

2 24 4

2 2 2

− − ± −
=− ± =   

b b ac b b ac
x , x

a a

2 2

1 2
4 4

2 2

− + − − − −
= =   

 @��8
b ac2 4−  ��∆ )� �#��3 .  
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      �?
�9� �?���Q >, �I�
 � �
 �  

 ���ax bx c2 0+ + =  !a 0≠ -� ����� .�� :
b

x
a2

− ± ∆
=  

 	  b ac∆= −
2 4.   

  

  

�?
�9� �"���Q /
�� ��( �� �� �I�
 �  �
 �x x2 2 8 0+ − = �:3( >, ��.  

  

  

 E���\ �����b,a !c )� BCD� �� �#� .  

a , b , c1 2 8= = =−   

)� ���& ����* �� �� ����?� ��� ��; �#$� :  

( )b b ac
x

a

22 2 2 4 1 84 2 36

2 2 1 2

− ± − × × −− ± − − ±
= = =

×
   

x , x1 2
2 6 4 2 6 8

2 4
2 2 2 2

− + − − −
= = = = = =−   

  

  

  
�' � �?
�9� ��5 �� "���Q �� L
�XK�� �� �� � � � � ��! ��
.  

x x23 2 4 0+ − =   

  
a , b , c3 2 4= = =−   

( )b b ac
x

a

22 2 2 4 3 44 2 52

2 2 3 6

− ± − × × −− ± − − ±
⇒ = = =

×
   

x1
2 52 2 2 13 1 13

6 6 6

− + − + − +
= = =   

x2
2 52 2 2 13 1 13

6 6 3

− − − − − −
= = =   

 0�n
 ,� .������ �� ����� �%& 	���� ��∆	D�� ���+( � 	F��+� ��$ 	"�� � 	� �� !� � ���!� 0��.  
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1 ( ���0∆> 	D�� !� 	F��+� ����� ���� e����� )?#?; � .  

2 ( ���0∆= 	D�� K� 	F��+� ����� ���� )?#?; �) .	D�� 	8(�� ��V� 	D�� �� `
�N� �  !� �.(  

3 ( ���0∆< )�3 )?#?; 	D�� ����� 	F��+� ����� ���� .  

  

�?
�9�  �x x2 6 7 0+ + = �:3( >, �� .  

  

  

 ���?� �����∆ )� �� �#��� .  

b ac ( )2 4 36 4 1 7 8 0∆= − = − × × = ⇒ ∆>   

-��$ )� .�$�D� 	  ��9  ���?� .���$ ��#� ∆ 0�� e����� 	D�� !� ����� 	F��+� ����� 08O�.  

x x1 2
6 8 6 8

3 2 3 2
2 2

− + − −
= =− + = =− −   

  
�?
�9�  �x x2 4 4− + �:3( >, ��.  

  
 ���?� �����∆ 	� �� )� 0�� ���!� :  

b ac ( )2 4 16 4 1 4 0∆= − = − × × =   

x , x1 2
4 0 4 0

0
2 2

− +
∆= ⇒ = =   

�������� :  

x x1 2 2= =   

)�  	  )��L�$ �#�#�0∆= ���� 	D�� K� 	F��+� �0��) .	D�� -� 	� 	  ����� 	D�� !�  )� `
�N� �#���.(  

  
�?
�9� �:3( >, �� � � �.  

x x2 2 5 0− + =   

  
b ac ( )2 4 4 4 1 5 16∆= − = − × × =−   

-��$ )� .�$�D� 	  ��9  ��#� 0∆< 	F��+� �������� �0��  ����3 )?#?; 	D��.  
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�?
�9�  �mx ( m )x m2 2 1 1 0+ + + − = 
��
 �$:$, �' � �
 .���$�m �:��:� ��.  

  
 	
#�3 �� ����� )?#?; 	D�� !� 	F��+�0∆> 0��.  

b ac ( m ) m (m ) m m m m m2 2 2 24 2 1 4 1 4 4 1 4 4 8 1∆= − = + − − = + + − + = +   

m m m
1

8 1 0 8 1
8

∆= + > ⇒ >− ⇒ >−   

 ��� ��������m
1

8
>− ���� )?#?; 	D�� !� 	F��+� ����� .  

  
 �@� �:3( ����a �b �?
�9� ��3��� �������  �(a b )x (a b)x2 2 2 2 2 0+ + + + = 
���� �$:$, �' �.  

  

  
(a b) (a b )2 2 24 4 2∆= + − + ×   

(a ab b ) (a b )2 2 2 24 2 8= + + − +   

a ab b a b2 2 2 24 8 4 8 8= + + − −   

a ab b2 24 8 4=− + −   

(a b)24=− −   

 ���a b≠  .����$ �����0∆< )� ���.  

	F��+� 	
#�3 �� ����3 )?#?; 	D�� .�� .��� �.  

  
45! W  ���@ �� g��( �5 �� � �� rXY W  ��5�  "�# �� �9��� ��S�Q �cm3 �� m�� ��    ��� ���I � ��5
   ��3(

)>H� �3���(. �N? 1|� �
�� �rXY ��5 �� �?�, U�� �+� �� �� L���� �N9I W  �& ��5
  �@� �
�� �K��� ��� �� �

 �N9I J7,cm348  )��� �
�� �% �S�Q �rXY 
�9�� �����  

  



 

 

 

85  

  

 	=�> mT\ ��9 ���  ^V� )+��� �eT* �x ����� ����� :  

 	8+" �
; -�Zcm348 0�� .  

                     

(x )

(x )

x

x , x

2

2

1 2

3 6 48

6 16

6 4

10 2

− =

− =

− =±

= =

  

 

x2 2= 0/#3 ��8& ^��& .)� )��� E+V� gn\� ,� �( !� ���, ��� .	=�> mT\ ��9 �������� �eT* �x 10= 0�� .  

)� �� ��, EF�2� �#�  	+F�2� ^���( @��> �� �#3��( .  

  

	D�� 	  ����  .�$�D� �
��� �( 	�/��! -� E���\ 	� 	F��+� K� ��$ �3� . 	'2��� m2& ��9 	� ��������   	'D�� -�'#� ��   ! �'$

���� ��"! 	F��+� K� E���\.  

)� 	D�� �#3�� 	F��+� ��$ 	"�� �  �!� �ax bx c2 0+ + = �(a )0≠ 	� ���/$ ��, @��>.  

b b
x , x

a a
1 2

2 2

− − ∆ − + ∆
= =   

	D�� ����� �%& 	���� �� 	"�� 	F��+� K� ��$  �� �!� �)��"! @��> �� (�#�  m�" �$ ��.  

b b b ( b ) b b
x x

a a a a a
1 2

2

2 2 2 2

− − ∆ − + ∆ − − ∆+ − + ∆ −
+ = + = = =−   

��������  

 
b

x x
a

1 2
−

+ =   

	D�� ��� 	"�� 	F��+� K� ��$  �� !� �)��"! @��> �� (�#�  o�\ �$ ��� ����� :  

b b ( b ).( b )
x .x ( ).( )

a a a
1 2 22 2 4

− − ∆ − + ∆ − − ∆ − + ∆
= =   

b (b ac) ac c

aa a

2 2

2 2

4 4

4 4

− −
= = =   

 	
#�3 ��  

c
x .x

a
1 2 =   
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 �:3( e�Qx1 �x2 �' � �I�
 �?
�9� ��5  �
 �ax bx c2 0+ + = ���$� ��3���x x1 2− �� �� � ��! ��
.  

  

�����  

b b b b
x x

a a a a a
1 2

2

2 2 2 2

− − ∆ − + ∆ − − ∆+ − ∆ − ∆ ∆
− = − = = =−   

	
#�3 ��  

 | x x |
a

1 2
∆

− =   

�' � ]�[ >Y�, � ��+7� �/
�( >, /��� �9� ��5�?
 �� �� � � ��5 � ��! ��
 .  

x x2 3 5 0− − = )]  x x22 6 5 0+ + = )i?�  

   

 �:3( e�Qx1 �x2 �' � �?
�9� �X3��:k ��5  �x mx23 2 1 0+ + = �� �3��� ���#   J:���� �K��
 �(

x x1 23= .�' �  ��5x1 �x2 ���$� �m �:��:� ��.  

  

  پاسخ مثال 

  

  

  

�?�� �( ��
 dH
� [ � I �Z>
 C �
5� ����" �� !) .P
�Q(  

�>�
5�  !)� ( �'D�� !
�
�x 1− �?�� �>�
5� �	
 �	
��
�� ���
 ��'� �� !.  

 �N�) ��)� (�>�
5�  !(x )(x )1 2 0− + = �>�
5� #
N"  !x x2 2 0+ − = �>�
5� ;	 �( ��
 �?�� !  �� !

�� �%&.  

�>�
5� ��  !)f" (�	�
� :(x )x x x2 3 22 2 0− = − =g�G� �  �'D�� #
%9 �	�9x �3 �>�
5� �	
��
�� ���
  �?��  �� !

��'� .  

  

  

x x x x
OMM?� P�� QMM�) 2 2

1 2
3

0 0 0
2
− = → = ⇒ = =   
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x x2 0+ = )Z>
  

x(x )+ = ⇒1 0   

x+ = ⇒1 0  
	x 0=   

x 1=−  
	x 0=   

x x24 5 0− + = )I  

x( x )− + = ⇒4 5 0   

x4 5 0− + =  
	x 0=   

x
5

4
=  
	x 0=   

x x23 2 0− = )[  

x( x )3 2 0− =   

x
2 2 3

33
= =  
	x 0=   

  
x23 27 0− = )`F�  

x = ⇒
23 27   

x2 9=   

x 3=±   

x22 6 0+ = )o  

x =− ⇒22 6   

3 o��" 	F��+����� .x2 3=− ⇒   

x27 4 2− = )�  

x = ⇒
24 5   

x = ⇒
2 5

4
   

x
5 5

4 2
=± =±   
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a , b , c2 6 5= = = )`F�  

b
x x

a
1 2

6
3

2

−
+ =− = =−   

c
x .x

a
1 2

5

2
= =   

a , b , c1 3 5= =− =− )o  

b
x x

a
1 2

3
3

1
+ =− = =   

c
x .x

a
1 2

5
5

1
= =− =−   

  

x x1 23=   

c
x x x .x x x

a

2
1 2 2 2 2 2

1 1 1 1
3

3 3 9 3
= = ⇒ = ⇒ = ⇒ =±   

 -�Zx2 0> 0/#3 ��8& ^��& -� )��� ���?� �0��.  

x x2 1
1 1

3 1
3 3

= ⇒ = × =   

m m m
x x m1 2

2 1 2 4 2
1 2

3 3 3 3 3

− −
+ = ⇒ + =− ⇒ = ⇒ =−   

  سهمی

  

r!� �� ^8& p�� �� 	� ��$ 	D�� -��!� 0�� 	"�� 	F��+� K� ��$  ���� ���� !�.      ����'�3 �#'��( �'���� �'%& 	���� ��

	F��+�  	"��  �#$� r,��� ��� 	� �� !�.  

�����3 	  �#�  0&�a 0≠ �y ax bx c2= + +0�� )�=�� @��> 	�.  
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  :یفتعر

	F��+� �����3 	�  a 0≠ �y ax bx c2= + + )� 	��� )��� ���.  

^V� 	� �#�  0&� ��, ��$.  

  

))�&!a 0<	3�$� �  0�� �#��R 0�� 	� )���(.  

  

) )�&!a 0>	3�$� �  0�� 1�� 0�� 	� )���.(  

  

���� ���� )��� ��e"� �� 0�� ���� �����.  

 	2?3v 	2?3 ���(1�� �� 	   �#��R �� )��� 	2?3 ���(  -� ���� ���& ! �+V� -�� )� .�#��3 ��� .  

	2?3 �� 	  ����
 cQ  �#D  �#Z. )� )��� p�� ,� ! .�� ����� /��$& ��r� �#��� )���.  

j�''?3x1 !x2	''2?3 �   ��''=� �''� )��''� ���''Q�� ��''$x ���''/$ .-� m''&�! ��  	''D�� �''$  	''F��+� ��''$  	''"��   !�

ax bx c2 0+ + = )� o�/; 	� ���� .  

	2?3c	2?3 �  ��=� �� )��� ���Q��y 0��) .��8� ,� a�
(  

2yرسم نمودار معادله  ax=   

)� _#R ���� ��� ��; )� 	3�LZ 	  ��� �#3��( �����3 	F��+� y ax2= U�#�  ��� ��  

	F��+� �����3 ��� ����  y ax2= )F!�" ����� �)� �#D .  	� xz�x )� �� `T�C� ����?� ���?� ! �#$�y    �'� �J�'���

	� �� -� )� 0�� ���!� .  

c��( .��� 0�� 	� j�?3 ,� .������ ��x!y3 �	F��+� �� �J���� �����  �� )� ��� �#� .  
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 ��'''��� 	'''  �'''#�  	'''"�(( , )−∞ +∞  !

( , )+∞ +∞  	���� f�9 !� ,� �����3 	  0�� ���

���� .  

 

  

1(�@�0a > ����.  

x y

x y a( ) a

x y a( ) a

x y a( )

x y a( ) a

x y a( ) a
x y

=−∞⇒ =+∞

=− ⇒ = − =

=− ⇒ = − =

= ⇒ = =

= ⇒ = =

= ⇒ = =
=+∞⇒ =+∞

2

2

2

2

2

2 2 4

1 1

0 0 0

1 1

2 2 4

   

  
  

+∞  2  1  0  1−  2−  −∞  x  

+∞  a4  a  0  a  a4  +∞  y  
  

  
2(�@�0a< ���� .  

����� :  

+∞  2  1  0  1-  2-  −∞  x  

−∞  a4  a  0  a  a4  −∞  y  
  

  
)� .�$�D� )��� p�� @�%�C� �#� y ax2= 	2?3 ( , )0 0��=� �� �82�� -� -��?( ��=� !y   0��) cQx 0= .(  

^V�  	� ��$�����3 ����z/� �9�Q 	� �� .��� 0�� .  
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�:3( J�� �� � � 2U
�9� ��
�+�.  

y x , y x , y x2 2 21
2

2
= = = )`F�  

y x , y x , y x2 2 21
2

2
=− =− =− )o  

  

`F�(  

+∞

  
2

  1  0  
1−

  
2−

  
−∞

  x  

+∞

  
4

  1  0  1  4  
+∞

  y x2
=  

+∞

  
8

  2  0  2  8  
+∞

  
y x22=

  

+∞

  2  

1

2
  

0  

1

2
  

2  
+∞

  
y x21

2
=
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o(  

+∞  2  1  0  1−  2−  −∞  x  

−∞  4−  1−  0  1−  4−  −∞  y x2
=−  

−∞  8−  2−  0  2−  8−  −∞  y x22=−  

−∞  2−  
1

2
−  0  

1

2
−  2−  −∞  y x21

2
=−  

  

  
  

  
	F��+� �� y ax2=��� � | a | 	3�$� ����#� _��e*�  K���� )���  ��� ! �(| a | 	3�$� ���� �   S��
 )��� )� �( ���.  

	F��+� �����3  y ax bx2= + 	� 0�� ��, @��>:  

y ax bx , a= + >2 0   

  
y ax bx , a= + <2 0  
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y  رسم نمودار معادله ax bx c2
= + +   

 	F��+� �����3 ��� ����y ax bx c2= + + �#�  ��83� �� ��, ^;���.  

1-  )��� p�� @�%�C� -��  ��#R  

2-  ��=� �� ���Q�� j�?3 -��  ��#Rx !y   

3- @�%�C� 	� 	"�( �� 0���3 ��  	� )� ��� �� )��� �.��� 0�� �#�  .  

  سهمی   رأس - 1

�#�  a�*x1 !x2 	D�� 	T�"��Z ��$  ��y ax bx c2= + + ���� .��������:  

ax bx c a(x x )(x x )

b b
a(x )(x )

a a

2
1 2

2 2

+ + = − −

− + ∆ − − ∆
= − −

  

b b b
a x x ( ) x ( )

a a a

2
2

22 2 4

 − − ∆ − + ∆ −∆ = − − + 
  

  

xb x xb x b
a x

a a a

bx b
a x

a aa

b
a(x )

a a

b
a(x h) k , h , k

a a

2
2

2 2

2
2

2

2

2

2 4 4

44

2 4

2 4

 + ∆+ − ∆ ∆ = + + − 
  

  ∆ = + + − 
  

∆
= + −

∆
= − + =− =−

  

  

 

 

  

	� @��8
 	F��+� ^��  m��� ��* .��� 0��  	"��   !�y ax bx c2= + +     	'2?3 -� �� 	'  �0'��(h , k)   @�'%�C�

0�� )��� p�� .  

	"�� 	F��+� ���   !�y ax bx c= + +
2  @��> 	� -� p�� ��9 @�%�C� ����� 	D�� !� �����x x b

h
a

+
= =−1 2

2 2
 	� )� 0�� ���. 
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#�3 ET2� ��� 	� 	"�( ��  )�  	  ���#�x h= 0�� )��� -��?( ��=� .  

 ��� )T  0F�; �� 	  �#�  0&�a 0> ����� ���?�y )��� p�� @�%�C� ��(k)    !� 	'"�� 	'F��+� ���'?� �����  �

 ��� ! 0��a 0<  ���?� �����y  )��� p�� @�%�C� ��(k)����D#� � 	F��+� ���?�  0�� !� 	"�� .  

  

  

	F��+� �����3y ax bx c2= + +@�%�C� 	� )��� �
b ac b

( , )
a a

24

2 4

−
− 3��?( cQ !) 	F��+� 	�

b
x

a2
=− ����.  

  

 -�� 2��K<��?
�9� � �+V�  �+V� /��$& ��r� �:3( ��:0 �� � � ��5 ./! ���$� 4 �K+( �  4 �K':� 4:3j+5 �:3( ;<'� �� �5 .  

y x x2 2 3= − − )`F�  

y x x2 4 5=− + + )o  

y x x2 3 1= + + )�  

  

`F� ()� 	� )��� p�� @�%�C� 	  �#3��  @��>
b ac b

( , )
a a

24

2 4

−
− 	F��+� !   -� -��?( ��=�

b
x

a2
=−0�� .  

( ) ( )
V :( , ) ( , )

22 4 1 3 2
1 4

2 1 4 1

− × × − − −
− = −
× ×

   

x 1=  ! -��?( ��=�y 4=− �����  0�� )��� ��� ���?�) . ���,a 0> .(  

o (  

( ) ( ) ( )
v :( , ) ( , )

( ) ( )

24 4 1 5 4
2 9

2 1 4 1

− × − × −
=

− × −
   

x 2=  ! -��?( ��=�y 9= ����D#� 0�� )��� ��� ���?�) . ���,a 0<.(  

�(  

( ) ( )
v :( , ) ( , )

× × −
− = − −
× ×

23 4 1 1 3 3 5

2 1 4 1 2 4
   

x
3

2

−
=  ! -��?( ��=�y

5

4
=− �����  ��?�0�� )��� ��� �.(a )0>   
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 c� �@�3 1 0x+ =  �+V� /��$& ��r�22 1y x mx=− + −  �����4 �K':�  4 � ���$� �+V� )��� ��$%  

  

      )��� -��?( ��=�x x
1

3 1 0
3

+ = ⇒ =−   

b m
h m

a ( )

1 4

3 2 2 2 3

−
=− =− =− ⇒ =

× −
   

	� 	"�( ��  	  ���a 2 0=− <  ����� )��� ��� �����D#� 0�� ���?� .  

( ) ( ) ( )
ac b

k
a ( )

2
2

4
4 2 1

4 73
4 4 2 9

− − − −
−

= = =−
−

   

 4 �K+(  2��N� ���$�2 8y x x n= − +  
��4− ���. ���$�n �� �� � ��! ��
 .  

  yو xمحور نقاط برخورد با - 2

	"�� 	F��+�   !�a 0≠ !y ax bx c2= + +���#L� �M3 �� ��.  

1 ( ���x 0=  �����y c= )�  ��'� !  	'2?3  ( , c)0 	'2?3 �       ��'=� �'� )��'� �'�� ���'Q��y   )'� .�'#��3 �'$  ��'� .  

	T�"��Z ��� �����3 	  )�+� ��� 	� ��=� ��y	2?3 �� �� �$( , c)0 )� m2& ��  .  

2 ( ���y 0=  �����ax bx c2 0+ + = )� ���.   �#'�  a�*x1 !x2  	'D��      	'2?3 ���'��� 	'F��+� �'�� ��'$   ��'$

(x , )1 0  !(x , )2 0��=� �� )��� ��� ���Q�� j�?3 �x���/$ �$ .�+���=� )��� ��� �����3 )x j�?3 �� �� �$(x , )1 0  !

(x , )2 0 )� m2& ��  .  

)� 	D�� ���� �#3�� 	F��+� ��$   ����� ��"! 0F�; 	� �!� 	"��0F�; )� )���� �� `T�C� ��$ �#� :   

1-  ���0∆> 	2?3 !� �� )��� �����  ��=� �e
� �x )� m2& �� �� .  

2-  ���0∆= ��=� �� 	2?3 K� �� c?* )��� �����x )� p��� ��� .  

3-  ���0∆< ��=� �� )��� �����x 	2?3 �#$  ����3 ����Q�� .  

�#�  0&� ��, ^V� 	� .  
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�R$�  ��r� �� 
�����x �y�� � � 2U
�9� �� W  �5 �
 �� � ��! ��
 .  

y x2 9= −)`F�  

y x x24 5=− + )o  

y x x2 3 7= + + )�  

y x x24 20 25= + + )�  

  
  

	2?3  ��=� �� ���Q��y x y ( , )0 9 0 9= ⇒ =− ⇒ − )`F�  

y x x , x2
1 20 9 0 3 3= ⇒ − = ⇒ =− =   

	2?3 	
#�3 �� ��$( , )3 0 !( , )−3 0���Q�� j�?3 � ��=� ��x ���/$ .  

	2?3  ��=� �� ���Q��y x y ( , )0 0 0 0= ⇒ = ⇒ )o  

y x x x , x2
1 2

5
0 4 5 0 0

4
= ⇒− + = ⇒ = =   

	2?3 ��$( , )0 0 !( , )
5

0
4

��=� �� ���Q�� j�?3 �x ���/$ .  

	2?3  ��=� �� ���Q��y     x y ( , )0 7 0 7= ⇒ = ⇒ )�  

y x x20 3 7 0= ⇒ + + =   
23 4 1 7 19 0∆= − × × =− <   

	2?3 �#$ �� )��� ��� ��=� ��x )�3 m2& �� ��  .  

	2?3  ��=� �� ���Q��y x y ( , )0 25 0 25= ⇒ = ⇒ )�  

y x x20 4 20 25 0= ⇒ + + =   

x x2
1 2

20 5
20 4 4 25 0

8 2

−
∆= − × × = ⇒ = = =−   

	2?3 �� )���  ( , )
5

0
2
− ��=� ��x )� p��� ��� .  

2��N�= + + + +2 2 5y x (m ) x m   �� �:G� ��6� �
 �� .�        ��� ��R$� W�  �
 �+V�� 4� � ��
��+� ��@  

��r�x ���$� �
�� -�+�m �� �� � ��! ��
 .  

  رسم منحنی  - 3

)�=�� ��� ����a 0≠ !y ax bx c2= + + �#$� ��
3� �� ��, ^;��� .  
1- 0�n
 	�a �#�  0&�.  

 ���a 0>  ����� )��� �����3 ����������  1�� 0�� 	� -� 	3�$� ! 0�� ���?� �0� .  
 ���a 0< ����� )��� �����3 ���������D#� 	3�$� ! 0�� ���?�  0�� �#��R 0�� 	� -�.  

2- � )��� p�� @�%�C��#��#� �	2?3 )�+� � V : (h ,k).  
3- ��=� �� ���Q�� j�?3x !y �#�  BCD� �� .  
4- �#�  ��� �� )��� �����3.  
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�+V� ��
�+� �:3( J�� �� � � ��5.   

y x x2 3 10= − − )`F�  

y x x2 4 5= + + )o  

y x x22 8=− − )�  

y x x= − +2 2 2 2 )�  

  

`F� (a 1 0= > 	3�$� xR � 0�� 1�� 0�� 	� )��� � .  

  

b
h

a

3

2 2
=− =   

ac b ( ) ( ) ( )
k

a ( )

2 24 4 1 10 3 49

4 4 1 4

− − − −
= = =−   

 )��� p�� @�%�C�V :( , )
3 49

2 4

−
   

2?3	  ��=� �� ���Q��y     x : y , ( , )0 10 0 10= =− −   

y : x x (x )(x ) x , x20 3 10 0 5 2 0 5 2= − − = ⇒ − + = ⇒ = =−   

��=� �� ���Q�� j�?3x ( , ) , ( , )5 0 2 0−  

  

o (  

a 1 0= >	3�$� xR �  1�� 0�� 	� )��� �0� .  

  

b
h

a

4
2

2 2
=− =− =−   

ac b ( ) ( ) ( )
k

a ( )

2 24 4 1 5 4
1

4 4 1

− −
= = =   

 )��� p�� @�%�C�V :( , )2 1−   

	2?3  ��=� �� ���Q��y                    ( , )0 5 x y0 5= ⇒ =   

)��� ��=�x )�3 m2& �� ��  .( ) ( )24 4 1 5 4 0∆= − =− <   
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� (a 2 0=− <0�� �#��R 0�� 	� )��� 	3�$� �������� � .  

b
h

a ( )

8
2

2 2 2

−
=− =− =−

−
   

ac b ( )( ) ( )
k

a ( )

2 24 4 2 0 8
8

4 4 2

− − − −
= = =

−
   

 )��� p�� @�%�C�V : ( , )2 8−   

	2?3  ��=� �� ���Q��y x y ( , )0 0 0 0= ⇒ =   

y x x x(x ) x , x20 2 8 0 2 4 0 0 4= ⇒− − = ⇒− + = ⇒ = =−   

��=� �� ���Q�� j�?3x                 ( , ) , ( , )0 0 4 0−   

  

� (a 1 0= >	3�$� xR �  0�� 1�� 0�� 	� )��� .  

b
h

a ( )

−
=− =− =

×

2 2
2

2 2 1
   

ac b ( ) ( ) ( )
k

a ( )

2 24 4 1 2 2 2
0

4 4 1

− − −
= = =   

��=� �� ���Q�� 	2?3y       x y ( , )0 2 0 2= ⇒ =   

y x x (x )= ⇒ − + = ⇒ − =2 20 2 2 2 0 2 0   

x x1 2 2= =   

��=� �� p��� 	2?3x                                ( , )2 0   

  انتقال سهمی 

	F��+�  )���y x2= ���#L� �M3 �� �� .  

`F� ( ����
 ��?�3�  

k
y x k

k

2
0

0

>  = +
< 

  

.,��3� 	� )��� �����3 � | k | ��=� ������ �� �;�!y )� 1�� �!� .  

3.,��3� 	� )��� �����  �| k | ��=� ������ �� �;�!y  �#��R

)� �!� .  

^V�)

1(  

  

o ()?*� ��?�3�  

h
y (x h)

h

2
0

0

>  = +
< 

  
.,��3� 	� )��� �����3 � | h | )� WZ 0�� 	� �;�! �!�  .  

	� )��� �����3 .,��3� � | h | )� 0��� 0�� 	� �;�! �!�  .  

^V�)

2(  

  

� ( )��� p�V+3�  

y x2=− ��=� 	� 08/3 )��� �����3x )� 	���& ��� .^V�)3(  
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� ()?*� ! ����
 ��?�3�  

y (x h) k2= + +)��� �����3 �  .,��3� 	�| k |��=� ������ �� �;�!y 	��" �#��R �� 1�� 0�� 	� )� �" ��� .  

.,��3� 	� !  | h | ��=� ������ �� �;�!x )� 0��� �� WZ 0�� 	� �!� .  

  

  

  

 W  �5 ��
�+��+V� �� �:3( J�� "�$K�� m�� �� L
�XK�� �� �� � � ��5 .  

y x2 3= +)`F�  

y x2 3= − )o  

y (x )23= − )�  

y (x )23= + )�  

y (x )24=− − )-  

y (x )22 3= + −)!  

y (x )22 1=− − + )'$  
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  سهمی   دست آوردن معادله به

�#�  ��� �� )��� K� �����3 	3�LZ 	  �#�Q��� -�� �( .)� _#R ���� ��� ��;       �� )��'� K'� ����'�3 �'�� 	'  ���

	F��+� 	3�LZ ��#��� 	����   	� �� -�  U���!� 0��  

r!� ���� ��"! f�$ ��� 	� -�#�� ���� )�T�C� ��$ .���r!� ��� ,� .��� .��� 	� )L�/� �$  ��$	Fl/� ���� .  

	''2?3 �''��  )��''� p��(V : (h ,k))  )''� ��''��� .�''� .���  	''� ���''� �#3��''(   -��!� 0''���''��  ��''��* ,� 	''F��+�

y a(x h) k2= − +�#�  .������) .	2?3 K� ���� 	�8F�  �#��� 	���� e#3 �� )��� ,� �L�� (.  

	D�� ��� )� �#��� 	���� �� )��� ��$  ����* ,� �#3��(y a(x x )(x x )1 2= − − 	� ���� -��� 0��  	'F��+�    )��'�

�#�  .������ .	2?3 K� ���� ���\  )��� ,� �L��  �#��� 	���� e#3 ��. 

	� ��� �#��� 	���� �� )��� ,� .��CF� 	2?3 :)�  ����* ,� �#3��(y ax bx c2= + +   �'M3 ���� f�$ 	� -�#�� ����

�#�  .������.  
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�?
�9�  �+V� �� W  �5 �:M �3� �� � � ��5 .  

  
  

  
`F� ( 	2?3 )��� p��V ( , )2 2= ����� �������� �0�� :  

y a(x )22 2= − +   
)� �#�I�$ 	2?3 ,� )��� 	  �#�#� ( , )0 0 )� ���� .)� X�> )��� 	F��+� �� 	2?3 ��� �������� ��  .  

xR :  

a( ) a a2 1
0 0 2 2 0 4 2

2
= − + ⇒ = + ⇒ =−   

y (x ) y x x2 21 1
2 2 2

2 2
=− − + ⇒ =− +   

o (	F��+� �#�  a�*   )���y ax bx c2= + +���� .-��$    )'� ^V'� �� 	'  ��9     j�'?3 ,� )��'� �#'�#�( , )0 3 �
( , )3 3−  !( , )1 4 )� ���� .	F��+� �� j�?3 ��� ��������  )� X�> )��� ���  .  

( , ) : c

( , ) : a b a b

( , ) : a b a b

a b ( )

a b ( )

( ) , ( ) a , b

=

− = − + ⇒ − =

= + + ⇒ + =

 − =

 + =

⇒ = =

0 3 3

3 3 3 9 3 3 9 3 0

1 4 4 3 1

9 3 0 1

1 2

1 3
1 2

4 4

   

	F��+� ��������  	� )��� ��� 0�� ��, @��> :  

y x x21 3
3

4 4
= + +   

� ()��''
3� ,�  j�''?3 	'' ( , )3 0 !( , )4 0 	''D��      x''R ���''/$ �M3���''� )��''� ��''$ a�''*)''�   	''F��+� �#''�   
)���y a(x )(x )3 4= − − 	2?3 �����  ( , )0 2 ���� ���& )��� �!� .�������� :  

a( ) ( ) a
1

2 0 3 0 4
6

= − − ⇒ =   

y (x )(x )
1

3 4
6

= − −   

y x x⇒ = − +
21 7

2
6 6
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�@�1x �2x �' � ���$� ��3��� � � �+V� ��51 2x x+ �� �� � ��! ��
.   

 

 

  پاسخ مثال 

  

�	�
� :  

( )(n) ( )
n

( )

24 1 8
4 12

4 1

− −
− = ⇒ =   

  

(m ) ( m) m2 22 4 5 16∆= + − + = −   

m m2 16 0 4∆= − = ⇒ =±   

  

  

���?�y 	2?3 �� )��� ��� 2+!6−0�� ����� .  

AB BC h
6 2

2
2

− +
= ⇒ = =−   

x xb
h x x

a
1 2

1 22 4
2 2

+
=− ⇒ =− ⇒ + =−   
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 تعیین علامت

-��$ )� 	  ��9 .��e� �	F��+� K� �#3�� 	  0�� �� )� -�D3 �3����� �$ �� @��8
 !� �$� .  

��O� -���
 	�a b= 0�� 	F��+� K� .  

    )���'�� ������'�� ��#'�  .������ e#3 @1��+��3 ,� 	  0�� �,1 )$�� ! 0/#3 )*�  @1��+� ,� )$��� ���( ^~�/� ^; ��

-� �� 0�� )��eF� �$ .  

�#�  0&� ��, @���8
 	�:  

`F� ( ,� ��D#� )T
 �#��� 0�#&20 0/#3 -���( -�#T#� .(x )20000000≤   

o ( ,� ���  ���� ��"60 0�� ����T#  .(y )60<   

� (0�� -���( -�#T#� !� ,� ��D#� ��;� X�?; .(z )2000000>   

)� ��� 	T]/� �#3��(  �#�  ^; �� ��, .  

, .��3  �!� -�'=��� 	� �� ��$, -��86 �88  !78 ) ,�100 (  0'�� .�'� .       �#L3�'#� ���'�Z -�'=��� ,� �'+� �'$��C� !� �'��

.��3  ^&��; _��$80 .��3 	Z ^&��; ���� ����Z -�=��� �� �����  U��  E/  ��  

 ����Z -�=��� �� ��$, .��3 �#�  a�*x ���� .  

x
x x

x x

+ + +
≥ ⇒ + + + ≥ ⇒ + ≥

⇒ − ≥ ⇒ ≥

78 88 86
80 78 88 86 320 252 320

4

68 0 68

   

.��3 ^&��; ���� ����Z -�=��� �� ��$, )�+�  68 ��  E/  �� .  

  یادآوری
�#�  	"�( ��, �!�" 	� :  

���35 ��
�+�  ���M���  L���  

  
x a<  ( , a)−∞  

  
x a≤  ( ,a]−∞  

  
x a>  (a , )+∞  

  
x a≥  [a , )+∞  

  
a x b≤ ≤  [a ,b]  

  
a x b≤ <  [a , b)  

  
a x b< ≤  (a,b]  

  a x b< <  (a,b)  

  ℝ  ( , )−∞ +∞  
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  نامساوی خطی 

  تعریف 
)� 	  0�� �!�/��3 �)2Q �!�/��3 K� ^V� 	� �3��( ��� 	���3 ��, ��$ .  

ax b , ax b

ax b , ax b

0 0

0 0

+ > + <

+ ≥ + ≤
   

	  �#�  0&�b∈ℝ�a !a 0≠ 0�� .  

��� a�
 ���� �!�/��3 0�" ��#�  �#/?( �� o�\ �)��� ��
 K� �� �� �!�/��3 f�9 !� ��� �#3��� 0�� �,1.  

R �	F��+��3 K� -��  ^; ,� ��M�� 	  �#�  	"�(-� �#��� .�!�=� �� ���?� -��  ��#(x) 0��.  

  

  

�� ]��I � �:3( >, �� � � 2U
�9��� �:5
 Z �+� ��
�+� ��� �� L��! ��
 .  

x x2 3 5+ ≤ )`F�  

x2 3 1 8< − ≤ )o  

  

  

  

x x x x [ , )2 3 5 3 3 1 1+ ≤ ⇒ − ≤− ⇒ ≥ +∞ )Z>
  

   

  

x x x ( , ]2 3 1 8 3 3 9 1 3 1 3< − ≤ ⇒ < ≤ ⇒ < ≤ )I  

  

  جدول تعیین علامت
��3�� )2Q 	F��+��3 K� ^; ���� �)T  0F�; ��ax b 0+ > ��ax b 0+ ≤	T�"��Z 0�n
 	  0�� �,1 � ��a 0≠  !

ax b+ �#3��� ��.  
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c� ��
�+�= −3y x ��� L�� J�� � � >H� �
 .�� � !   ����� �/! �� L
�XK��� �� �:���&y   L
�
 "���I �
 ��

�:M �3� �L�� :  

  

  

-��$ )� .�$�D� �����3 �!� 	  ��9 )��L�$ ��#�  	 x 3>  ���'?� �0��y    )��'L�$ ! 0'�� 0'8O�  	' x 3<   �0'��

���?�y )� )��� ��� . [nO� :  

x : x y

x : x y

3 4 4 3 1 0

3 2 2 3 1 0

> = ⇒ = − = >

< = ⇒ = − = − <
   

  

����� 	
#�3 ��:  

  

	T�"��Z 0�n
 �##+( ���� ��ax b ,a 0+ ≠ �#�  ��83� �� ��, ^;���:  

1 (	T�"��Z 	D�� �� 	� �� ���!� 0��.  

b
ax b x

a
0+ = ⇒ =−   

2 (�#�  ��� ��, @��> 	� �0�n
 �##+( �!�" ��3 	� )F!�".  

  

)� .�$�D� )� -�D3 0�n
 �##+( �!�" 	  �#�  �$�:  

 ���b
x ( , )

a
∈ −∞ − 	T�"��Z 0�n
 ����� 0�n
 `F�C� ��a 0��.  
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 ���b
x ( , )

a
∈ − +∞ 	T�"��Z 0�n
 �����  0�n
 �� ��a 0�� )V� .  

  

  

 �?
�9���− ≥3 2 0x �:3( >, �� .  

  

��	� 
���
x3 2 0− = �� 
�'L 
� �'�(.  

x x x
23 2 0 3 2
3

− = ⇒ = ⇒ =   


� ��h4 �''59 K��? �� ��� �'�(.  

  
�	�
� :  

 �S
x ( , )
2
3

∈ −∞  ��&
�x3 2− ��
 ���� .  

 �S
x ( , )
2
3

∈ +∞  ��&
�x3 2− ��
 ���� .  

#%Q ��F
	 
� i�"x�� �( ��
 �	
"  #$ !
�
x3 2 0− ≥� ��  jL �&
�x [ , )
2
3

∈ +∞.  

  

���M���− ≥6 2 0x �:3( >, ���� 4::9& "��I �� L
�XK�� �� �� .  

  

x x6 2 0 3− = ⇒ =   

  

#%Qx6 2 0− ≥  �>�
5�
� I
%? jL ���
 �O���x ( , ]3∈ −∞ �%� �"
%B.  
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��M��� � �:3( >, ���� 4::9& "��I �� L
�XK�� �� �� � � ��5.  

x5 2 0− < )`F�  

x x14 12 3
6 8
+ −− ≤ )o  

x (x )(x ) (x )26 2 2 4+ − + ≥ + )�  

  دو  درجه  نامعادله
	F��+��3 )� 	  �� ^V� ,� )V� 	� �3��( �+��3 K� �� ��� 	���3 ��, ��$	F�   	"��!� )� �#��� .  

ax bx c , ax bx c2 20 0+ + > + + <   

ax bx c , ax bx c2 20 0+ + ≥ + + ≤  

	  �#�  0&�a ,b,c∈ℝ  !a 0≠ 0�� .  

	F��+��3 K� 	3�LZ 	  �#�Q��� -�� �(  �#�  ^; �� )2Q .)� _#R ���� ��� ��;   �+��3 K'� o��'" 	
��
� 	  ��� 	'F�  

 	"��!� 	� 	3�LZ ��  U���!� 0��  

	F��+��3 ��O� -���
 	�  ���#L� �M3 �� �� ��, .  

x x2 5 6− ≥ −   

)� ��, @��> 	� �� -� ����� 	F��+��3 ��� ^; ���� �#/��3) . c?* 	  ���90 ���� 0��� 0�� �� (.  

x x2 5 6 0− + ≥   

  

0�n
 ��� 	  �#�  0&� ≤  ��≥ 	F��+��3 �� 	D�� ���� .������ �$ 	T�"��Z ��$  	"�� ��!�    o��'" �e'" e'#3   ��'$  -�

���/$ 	F��+��3) .U��Z (  

	D�� ����� ��������  ��$x x2 5 6− + )� �� �#��� .  

x x (x )(x ) x , x2 5 6 2 3 0 2 3− + = − − = ⇒ = =   

	���� ��  )2Q ��$��� �* ,� ��� �$ ���� �� 0�n
 �##+( �!�"x −2 !x −3 	T�"��Z ��� )� ��� ��  ^>�; ! �#� 

-� )� o�\ �$ �� �� �$ �#�  .  

+×+ =+

+×−=−

−×+=−

−×−= +
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 	  ��� 	� 	"�( ��x x2 5 6 0− + ≥ 0�/& �������� �0�� 0�� 	F��+��3 ��� o��" 	
��
� �08O� ��$ .  

0�� ��, @��> 	� 	F��+��3 ��� )T  o��" 	
��
�:  

( , ] [ , )2 3−∞ +∞∪   

.�!�=� �� ���?� -��  ��#R �	F��+��3 K� -��  ^; ,� ��M�� �#�  0&�  -� ���
�(x) 0��.  

#3��� 0�� EF�")� e#3 	T;�� K� �� ���( 	  � 	T�"��Z -��( 	"�� ��  !�  �� -� o��" 	
��
� ! ��  0�n
 �##+( ��

	� ��!� 0�� .  

�#�  ��83� �� ��, ^;��� ��M�� ��� ����.  

• ���0∆ < 	T�"��Z 0�n
 .����$ ����� ��ax bx c2+ + 0�n
 ��a 0�� -�/V� .  

  

• ��� 0∆ = ��Z �����	T�" ��ax bx c2 + +  �� 0�n
 �$a 	D�� ���� ��� �0�� 	T�"��Z ��$ ���#L� �M3 �� �� �� .  

  

•  ���0∆ > ��Z �����	T�" ��ax bc c2 + +	D�� �#� �� �  0�n
 `F�C� �$a 	#?� �� !  .,��  �� 0�n
 �$ �$a 0��.  

  

  

�?
�9���  − − <−2 4 5x x �:3( >, �� .  

  

x x x x

x x ( x )(x ) x , x

2 2

2
4 5 5 4 0

5 4 0 4 1 0 4 1

− − < − ⇒− + − <

− + − = ⇒ − + − = ⇒ = =
   

  
x ( , ) ( , )1 4∈ −∞ − +∞∪   
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 �:3( >, �� � � 2U
�9��� :  

x x23 4+ ≥ )`F�  

x(x )2 35+ > )o  

x x29 12 4 0− + ≤ )�  

x
x2 2 1 0

4
−− < )�  

�?
�9�+ + + =2 2 1 1 0x (m )x � �:G� �6� �
 �� .���$� g��( ����m  4 ��?
�9�  

`F� (����3 )?#?; 	D�� .  

o ( `
�N� 	D������.  

� (	D�� !�  ���� �e
�.  
  

�:3( >, �� � � 2U
�9��� :  

( x)(x x x)(x )3 2 23 2 8 3 0− − − + < )`F�  

( x )(x )

x(x )(x x )2
3 2 5

0
1 1

+ −
≥

− + +
 )o  

(x x )(x )

x ( x )

2 17

8 2 55
6 1

0
1

− − −
≤

−
 )�  

�?
�9���
+ − − ≤
+ −

2 2

2
2 3 2 1

0
3 2

| x x | ( x )

(x x) |x |
 �:3( >, �� .  



 

 

 

110  

  

  های قدرمطلقی لهنامعاد

)�  �#3��| x |  ��| x |0−  	T>�* )�+� 	� ! 0�� �����x 0�� ��8� �!� ��> 	2?3 ,� .  

)� )�&! ��������   �#'/��3| x | 2≤   	'
��
� )'�+� �     -� 	T'>�* 	'  )9�'?3   ,� �'$  K'Z�  ��'8�     �!�'/� �'� �'(2   ��'���  

0�� ��, @��> 	� -� )���$ �����3 :  

  
 )�+�x2 2− ≤ ≤ ��O� -���
 	� �| / | /1 5 0 1 5 2− = <.  

)� )�&! E#(�( �#�$ 	�  �#/��3| x | 2≥ 	T>�* 	  )9�?3 ���( )�+� �  -� i�e� ��8� ,� �$ /� �� �( �!�2  �����  

�#�  .�$�D� �� -� )���$ �����3.  

  
 )�+�x 2≥  ��x 2≤ −  .  

 ��O� -���
 	�| |− = >3 0 3 2   

  : تعریف
 �#�  a�*a  ! 08O� )?#?; ��
 K�U �8
 K�@��> ��� �� ����� ��8" @� :  

1 ( ���| U | a≤ -� �  .��a U a− ≤ ≤.  

2 ( ���| U | a≥ -� �  .��U a≥  ��U a≤ −.  

  

�?
�9��� �:3( >, �� �� � ��5 :  

| x |4 2− ≤ )`F�  

| x |1 3+ ≥ )o  

  
	F��+��3  )`F� (��3�� )9�?3 	
��
� )�+�(x) 	T>�* 	   -� 	2?3 ,� �$  4 KZ�   �!�/� �� �(2 ���� .  

| x | x x x4 2 2 4 2 2 4 2 4 2 6− ≤ ⇒− ≤ − ≤ ⇒ − + ≤ ≤ + ⇒ ≤ ≤   

      

	F��+��3  )o (	
��
� )�+�  )9�?3 ��3��(x) 	T>�* 	   -� 	2?3 ,� �$  )1- (i�e�  �!�/� �� �(3 ���� .  

x 4≤ −    ��x 2⇒ ≥ x 1 3+ ≤−      ��| x ( )| x1 3 1 3− − ≥ ⇒ + ≥   
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  دستگاه نامعادلات
�L��� ����� 	F��+��3 ��Z ^��� 	  )$�L��� 	��#��� @1��+��3 . .  

)� ^; 	3����" �� -� @1��+��3 ,� ���  �$ �@1��+��3 .�L��� K� ^; ���� o��" �#� xz� ��#�  )� h����� �$ ���#�.  

  

�:3( >, �� � � 2U
�9��� :  

 − − >


− + >

2

2
7 8 0

4 3 0

x x

x x
   

  

	T�"��Z ,� ���  �$ �� )� 0�n
 �##+( �� �$ �#� :  

x x2 7 8 0− − > )1  

x x x ,x2 7 8 0 1 8− − = ⇒ = − =   

x x2 4 3 0− + > )2  

x x x , x2 4 3 0 1 3− + = ⇒ = =   

  

)� 	T�"��Z !� �$ 	  �#�#� 	#;�3 �� �� i�e� .�� BCD� ��$ xR ����/$ ��> ,� �( :  

x ( , ) ( , )1 8∈ −∞ − +∞∪  

�:3( >, �� � � 2U
�9��� L�GK�
 :  

 + − <

 <

2

2

4 1

64

x x

x

x

   

�?
�9���  − < +2 1 2x x �:3( >, ��.  



 

 

 

112  

�?
�9���  + − >2 2x x x �:3( >, ��.  

  

  پلسخ مثال

  

x x
55 2 0
2

− = ⇒ = )`F�  

  

x x : ( , )
5 55 2 0
2 2

− < ⇒ > +∞   

x x x x14 12 4 56 3 363 3
6 8 24
+ − + − +− ≤ ⇒ ≤ )o  

x x92 72 20 0+ ≤ ⇒ + ≤   

����� :  

x x20 0 20+ = ⇒ =−   

  

x ( , ]20∈ −∞ −   

x (x ) (x ) (x )26 2 2 4+ − + ≥ + )�  

x x x x x2 26 4 8 16 2 20 0⇒ + − ≥ + + ⇒− − ≥   

����� :  

x x2 20 0 10− − = ⇒ = −   

 

x ( , ]∈ −∞ −10  
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x x x x2 23 4 3 4 0+ ≥ ⇒− + + ≥ )`F�  

x x2 3 4 0− + + =   

x , x1 29 16 25 1 4∆ = + = ⇒ = − =   

  

x [ , ]1 4∈ −   

x(x ) x x235 2 2 35 0< + ⇒− − + < )o  

x , x∆ = + = ⇒ =− = −1 24 140 144 7 5  

  

x ( , ) ( , )∈ −∞ − − +∞7 5∪  

x x29 12 4 0− + ≤ )�  

, x x1 2
12 2144 144 0
18 3

∆ = − = = = =   

  

 ���( ��������x
2
3

= 0�� o��" 	
��
�.  

x
x x x2 22 1 0 4 2 1 0

4
−− < ⇒ − + < )�  

4 16 12 0∆ = − = − <   

  

0�� 08O� .����$ ���, �0�� )�( 	F��+��3 ��� o��" 	
��
� .  
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����� :  

b ac ( (m )) ( ) ( ) m m m m2 2 2 24 2 1 4 1 1 4 8 4 4 4 8∆ = − = + − = + + − = +   

m 0=  ��m m m24 8 0 2+ = ⇒ = −   

� 0�n
 �##+( �!�" ���� �∆ )� ��� �#� .  

  

)� ��; 	  �#�#� :  

`F� ( ���0∆ < 	D�� 	F��+� �����   xR �����3 )?#?;m ( , )∈ −2 0.  

o ( ���0∆ = 	D�� ����� 	F��+� �����   xR �0�� `
�N�m 2= −  ��m 0=.  

� ( ���0∆ > 	F��+� �����   xR �0�� )?#?; 	D�� !� �����m ( , ) ( , )2 0∈ −∞ − +∞∪.  

  

	T�"��Z ��$��> ����� �@1��+��3 ��� o��" 	
��
� -��  ��#R ���� )� ��#R �� .�� .��� �� �#�  .0�n
 xz�  �$

	T�"��Z ,� ���  �� )� 0�� 	� �� �$ -� 0���3 �� ! ���!� )� o�\ �$ �� �� �$ �#�  .  

( x)(x x x)(x ) ( x)x(x x )(x )3 2 2 2 23 2 8 3 3 2 8 3− − − + = − − − + )`F�  

x x

x

3 0 3

0

− = ⇒ =

=
   

x 4=  ��x x x2 2 8 0 2− − = ⇒ = −   

����3 )?#?; 	D�� .x2 3 0+ = ⇒   

  

 ,� ���  ��$���?�0 )� �� xR ��#$��Q :  x ( , ) ( , ) ( , )∈ −∞ − +∞∪ ∪2 0 3 4   
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o ( 	  �#�  0&� ���� ���� ��� ��x)� ��> �� ��C� 	  )��$ ���/#3 o��" 	
��
� �e" ����  .  

( x )(x )

x(x )(x x )2
3 2 5

0
1 1

+ −
≥

− + +
   

x x
23 2 0
3

+ = ⇒ = −   

x x5 0 5− = ⇒ =   

 .�D3 `��+( 	2?3 ��� �� ��C�x 0=   

 .�D3 `��+( 	2?3 ��� �� ��C�x x1 0 1− = ⇒ =   

	D�� 	F��+�  ����3 )?#?; .x x2 1 0 0+ + = ⇒∆ <   

  

i�e� ��$���?� )� �� ��> �!�/� �� �( xR ��#$��Q :  x ( , ] ( , ) [ , )
2 0 1 5
3

∈ −∞ − +∞∪ ∪   

(x x )(x )

x ( x )

2 17

8 2 55
6 1

0
1

− − −
≤

−
 )�  

 �#�  0&�x8 i�e�  ����3 ��#kl( @��8
 ^  �� -� 0�n
 ! 0�� ��> �!�/� �� �( . �##+( �� -� 0/#3 �,�#3 ��������

�#�  0�n
 .	D�� c?*  )� )���� �� -� �#�  .  

x 3=  ��x x x2 6 0 2− − = ⇒ = −   

) 0�n
(x )171−  0�n
 ��(x )1− 0�� )V�(.  (x ) x x171 0 1 0 1− = ⇒ − = ⇒ =   

)� ��> �� ��C� 0/#3 o��" 	
��
� �e" ���  .x x8 0 0= ⇒ =   

)0�n
( x )2 551−  0�n
 ��( x )21− 0�� )V� (.( x ) x x x2 55 2 �''� 1 0 1 0 1 1− = ⇒ − = ⇒ = =−
����	���


   

)� ��> �� ��C�  ��� 
0/#3 o��" 	
��
� �e". 
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KZ�  ����?� )� �� ��> �!�/� �� �( �#$��Q .xR :  x ( , ) [ , )2 1 3∈ − − +∞∪  

  

  

��� 	� 	"�( ��  	 | x |2−  !| x x |22 3 2+ − i�e� @���8
  0�� �,1 c?* ����/$ ��> �!�/� �� �(	D�� -� ��$   �� �'$

�3���3 ��#kl( @��8
 ^  0�n
 �� ! �#�  )���� .  

x x x , x2 12 3 2 0 2
2

+ − = ⇒ = − =   

x x2 0 2− = ⇒ =   

2-  !1
2

  ��� ����/$ o��" 	
��
� ��x 2= �� ��C� ���, �0/#3 	F��+��3 ��� o��" 	
��
� �� )� ��> �� .  

x : x , x

x x : x , x

2

2

1 0 1 1

3 0 0 3

− = = − =

+ = = = −
   

  

x ( , ) [ , ) { , } [ , ) ( , )
13 1 0 2 1 2 2
2

∈ −∞ − − − +∞∪ ∪ ∪ ∪   
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x x x x x x

x x x

2 2 24 4 41 0 0+ − + − − −< ⇒ < ⇒ < )1  

x x2 4 0 2− = ⇒ = ±   

x 0=   

x x2 264 64 0< ⇒ − < )2  

x x2 64 0 8− = ⇒ = ±   

  

��+��3 !� �$ � .�L��� ��� ��KZ�  	F xR ��3���> ,� �( :  

x ( , ) ( , )8 2 0 2∈ − − ∪   

  

)� ����� xR �0�� )����3 .����$ ��V���� ��, @��8
 �#3��:  

x ( )2 1 0 1− ≥   

 )*�9 ,�x x2 1 2− < + xR �0��:  

x ( )2 0 2+ >   

 -��( 	� �� �!�/��3 �#*�92 )�  � �#3�������� ��!�� �#� ,� ��V���� �( :  

x (x ) ( )22 1 2 3− < +   

����� �� ��, @1��+��3 .�L��� �������� :  

x ( )

x ( )

x (x ) ( )2

2 1 0 1

2 0 2

2 1 2 3

 − ≥


+ >


− < +
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( ) x x x23 2 1 4 4− < + +  

x x

x x

2

2

2 5 0

2 5 0

+ + >

+ + =
   

����3 )?#?; 	D��0∆ <   

( ) x2 2 0+ ≥  

x 2 0+ =   
x 2= − .�D3 `��+( -� �� .�L���  

)� )��� ��V���� ��, @��8
 ���.  

( ) x1 2 1 0− ≥  

x2 1 0− =   

x
1
2

=   

x [ , )
1
2

⇒ ∈ +∞  

  

  

x ( )

x x x ( )

≥


+ − >
2 2

0 1

2 2
   0F�;)2              (                 ��

x ( )

x x ( )2

0 1

2 0 2

<


+ − ≥
  0F�;)1 (

( ) x ( ) x

( ) x x ( ) x

x , x x x

2

1 2

1 0 1 0

2 2 0 2 2 0

2 1 2 0 2

< ≥

+ − = − >

= − = − = ⇒ =

   

  

x ( , ] [ , )2 2∈ −∞ − +∞∪
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 5فصل 

  مفهوم تابع و بازنمایی آن 

  

����   ��� 	�
 ��
              ���� ������ ������ ��� ��� �� ���� ����� �������� ��� � ���� ������ ��  !��" ��� ������ .  

$��% 	& ��'
 � � ��� ���.  

 ������

	()�  

 ����

���(c)  
  *��   � (cm)  

	+'"  10    �./  169  

2� 	+'"  12    ����  183  

	+'"��  11    ��67&  190  

	� 	+'"  13    ��8�  175  

	+'"��7;  15    ��7�  175  

<'= 	+'"  14    ��?�@  186  

	8�%  16        

  

$��% 	& 	%�@ �& �� AB�& ��� C�"�& 	("�� ��� ������ DE�  �� *�� ��(� � $�� ��(� ��& F�+@�� 2� C����@.  

  

� AG�/H
� I���� J��" ��� 	&�� ���K�= ����� �'��L.  

���& M �� �� ���K�= ������ 	/��N� ��& 	O&�� �L �A �B ���.  

��'
 P�QX �Y 	/��N� �� �� M&�@ 2� A�'"�& �7@�� �X 	&Y 	O&�� �� �R/ �� 	& 	
 ��� ��X    ��R/ 2�� S��� �

��Y �� �+T� �� ��� .  
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$�U� :	O&��  ���)1 ( �)2 (M&�@  ��� .  

$�U� :��� M&�@ 2� �����& ��� ���K�= ������ .  

�� �R/ �� M&�@ ��� 	/��N� �A �� �&��& �� ��  �'
  

	/��N� 	& � �B �� ��& .  

  

���� :��	
  �	�
�� ���� ��� ����� �� ��  

  

��:  

	O&��  �)1 (	/��N� �� �R/ �� ���� A��� M&�@ �A 	/��N� �� �R/ 2� 	& �� �B �� �+T� ��� .  

	O&�� �)2 (�T�� M&�@ . �R/ ����5 	/��N� ��A 	/��N� �� �R/ �� 	& ��B �� ��&.  

5 4

5 8

→ 
 → 

   

	O&��  �)3 (��� M&�@ .  

	O&��  �)4 (��� M&�@ .  
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  های مرتب و نمودار مختصاتی  ورت زوجنمایش تابع به ص

���� ��� ���K�= ������ J�'�� 2���/ ���8@ � 	Y& �� J��L 2� ��� ��� Z��
 �7� ���.  

)2���/ ���8@ � ���Q� �[ ��� �� (  

  

�� ��� $��% G��\ 	& �� J�" J��� G�/H
� C�T��� .  

 �'��

)4(  

 ����

)3(  

 ���"

)2(  

 C���

)1(  
���Q�  

4  2  3  5   ���8@2���/ ��  

  

�� �� B�& $��% G�/H
� ]�� G��\ 	& C����@ C��� I���� ��� ���) .2���/ ���8@ ���Q� A�� (  

( , ),( , ) ,( , ) ,( , )1 5 2 3 3 2 4 4   

	& G��(�� �����^� ��� F��� ��� I���� C���L M&�@ ������ �[ 	& � ��� ��� G��\.  

  

 ]�� 	
 ��'
 � �( , )1 5  �&( , )5 1 ]�� �� 2� �� 	& _�E� ���� 	& A��� G��)(� �� D@�� ]�� B�& ��� C���L.  

 J���E� D@�� ]�� ��(x , y) Ax  ��»	)Ea� $�� � « �y  ��» 	�)Ea� *�� � « ���  C����� .     D�@�� ]�� �� $��U� ����'/ 	�&

( , )5 1 A5 	)Ea�  � $�� �1 	)Ea� ��� *�� � .  

]�� � 	�� �L� 	/��N� �� �� D@�� ��� I���� 2� AC��� ���  ��  	& J�" J��� G�/H
� ���& ���� �� ���  �[ 	& 	
 ��[

	O&�� �+@�� ]�� I���� �� J�" J��� � �'��L .  

���& �� *  �'��� �Q��? �� 	/��N� ��� ���cLf �g �� J��)(�� C�'
 .  

f {( , ) ,( , ) ,( , ),( , )}1 5 2 3 3 2 4 4=   
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���� :��� �����    ! "��#$%& ��'(#�� � 	%�' ����� )�*
+� ,�-
.' /�� �� ��� 0��� /��    	#%�
 1#.� �� �#�.  

�	
 	%�
 3+4� 56.�  ! �� �� 7.� ���� �� .  

{( , ) ,( , ) , ( , ) ,( , )}1 3 2 4 5 1 1 4 )dE�  

{( , ) , ( , ) , ( , ) , ( , )}2 1 3 2 5 2 4 6 )e  

{( , ) , ( , ) , ( , ) , ( , )}1 3 2 1 2 2 4 2− − )]  

��:  

)dE�  

  

  

  

�� A���K�= ������ 	& 	%�@ �&   	�O&�� 	�
 C�'�&    ��T�� M&��@ Ad�E� � .   ��R/ �����1  	�/��N� �� �A    ��R/ �� 	�&3 �4  ��

	/��N�  �B ��� J�" J��� �+T� .
1 3

1 4

→ 
 → 

   

	O�� �� �L� ��'
 � �  �( , )1 0 ��^� ����� �Ofy C�'
 C�� ��)gfx 1=(	O�� �� �� ������ A  �� MO  �'
.  
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)e  

  

  

  

	/��N� �� �R/ �� 	& ���� A��� M&�@ 	O&�� ��� �A	/��N� �� �R/ 2� S��� � A �B �� �+T� ���.  

)]  

  

  

	/��N� �� �R/ �� 	& ���� A��� M&�@ 6�� 	O&�� ��� �A  �R/ 2� S��� �	/��N� �� �B �� �+T� ��� .  

   ����^� ������� g��f ���� 6���� G����(�� �������^� ���y   ���� M��O  	��O�� 2��� �� �U
����? �� �������� A���� ���'
 .  

)	O�� h�� �� �� �'8� ��� MO  �� �� MO  	O�� 2� �� g�Q �� �'
 �'
(  



 

 

 

124  

  : گیری نتیجه

	O&�� 2� �L�     ����� �[ �� �6����(� D�@�� ]�� �� h��� 	
 ��� M&�@ ����'� A��" 	("�� �+@�� ]�� I���� G��\ 	&

	)Ea� �'"�+� �&��& $�� ��� .�'8�:  

x x y y1 2 1 2= ⇒ = �L�  

���� :��	
 89��� �� ��  �7.� ���� ��� /��  

{( , ) ,( , ) ,( , ) ,( , )}3 2 1 4 5 1 1 6− − )dE�  

{( , ) ,( , ) ,( , ),( , )}1 2 3 5 0 6 1 7− − − )e  

��:  

	O&��  �)dE� (�T�� M&�@ .D@�� ]�� ����  ���)4 �1- ( �)6  �1- (	)Ea� �����    	�)Ea� ��E� A����&��& $�� ���   �[ *�� ����

��� G��)(�.  

	O&�� �)e (��� M&�@ .���� �� J����� 	
 ��
      	�)Ea� ����� �[ �� �6����(� D�@�� ]�� �� h��� ���'
    ��&��& $�� ����

�'(T��.  
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 ������� ���� �� =��0;	 �
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8. ���� "��8$ ���� .��@ 	
 ��� 
��. 

[ , ) ( , )6 6 7 2− − − )���  
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�F)	 �	�G$ D-�	 ��2 A/B+.  
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11. �H	⊆A B �B �)��*+ 
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 ���� ����0+�� �� ����0+ �
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12. ���� J�KA �)��*+ (��L+ 
 ��M)  ��) 
��12 �B �)��*+ (��L+ 
 ��M)   ��N) 
��15  �N2�� .  �
�N+ 
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���� ����0+�� �� ����0+A B∩ I���$ ����. 

13. �H	= 1 3 5R { , , }D= 3 4 5S { , , } �= 2 4T { , } �)��*+ 
�F)	 �	�G$ D�2�� ���� A/B+ 	
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R S T∩ ∩ )���  
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�� �)��*+ ,� =��0;	 "O2 �� E��P�� � ����0+�� 
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15. �)��*+ 1��
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18. �)��*+ 
{ }= 2 3 2 2 3 3A { }, , ,{ },{ , },{ }φ 1�
	� �F) ��9 

19. �)��*+ 
�F)	 

  −= ∈ ∈ 
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2

x
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B
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	� �� �� 

27. �)��*+ �H	 
��A �B �� 	�G$ D��2�� ��� �
��
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 ��
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= ∈ ≤

= ∈ ≤

5 5 30

3 3 30
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28. �H	− =7n(B A)D− = 10n(A B) �= 14n(A) �� ��Hn(A B)∪ ���� �#��4+ 	
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29. �H	= −A B A B∪  D�2��B �)��*+ �9 1-�	 
	 

30. �H	− =A B A �� D�2�� ��H−B A �)��*+ �9 1-�	 
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+na2 5�U�#�� (d	 �� 
	 �
��+
−

n

n

3 1
2 1

 �M�; D�2�� �+ �9 ��  ����� 
 1��2  

43. �M�; e�V �� a�	 
�U�# 
−= n
na ( )12 3 ������� 	
.  
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� (�D�� ���78�P �Q"! S���# (G�� .%��*G�,GP 9�$�E0 ��� ���,I0�! ��.  

10.   

k , , , , ,...,

A { , , , , , , , , , , , , , , , , , , }

1 2 3 4 5 19
5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95

=
=

  

%��*G�,Gn(A) 19= � ���A 9�$�E0 ��� ���,I0 ��.  

11.  

*T�A B⊆ �B 9�$�E0 9�$�E0 O�#�G ���,I0�! �� �A�0 F� O   ��#�G ����,I0�! F� � ���,I0 �!�$8 .    J��X0 5�$�,� 9�G

⊆ℤWOℤ �W 9�$�E0 �� *�  ���,I0�! ���,IQ� .%",Y��{ , }0 1 ⊆ℤ 93 ���{ , }0 1 9�$�E0 ��� ���,I0 ��. 

12.  

{ , , , , , }1 2 3 4 6 12= 9�$�E0 V$QB0 � 9"Z� ���A:12  

{ , , , }1 3 5 15= 9�$�E0 V$QB0 � 9"Z� ���B:15  

A B { }3=∩  

9�$�E0 %��*G�,G �A B∩��� ���,I0 O. 

13.  

R S T (R S) T { , } { , }

n(R S T)

3 5 2 4
0

= = =φ
⇒ =
∩ ∩ ∩ ∩ ∩

∩ ∩
  

)

���  
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( )
(R S) (R T) { , , , } { , , , , } { , , , }

n (R S) (R T)

1 3 4 5 1 2 3 4 5 1 3 4 5
4

= =
⇒ =
∪ ∩ ∪ ∩

∪ ∩ ∪

  

)


  

  

14.  

�0 ��*78  F"�,3A { k | k }2 2= − ∈ℕ �B { k | k }2 1= − ∈ℕ . 9��$�E0 �� �A �B  ����,I0�!   5U ���D�� � ��!�   ���

9G >�$NA { , , , ,...}2 4 6 8= �B { , , , ,...}1 3 5 7= ���.  

%��*G�,GW 9G �� 9�$�E0 �� L��IM� >�$N F"I#$! ���,I0�! �:  

A B= ∪W  

�0 %",Y�� F"#�G 9I#�� F"!�$8:  

{ }0= ∪ℕW  

%�� �� �MW 9G 9�$�E0 \� L��IM� >�$N 9�$�E0 \� �G ���,I0 � ��� ���,I0�! �.  

15.  

��� (�0 () �� ���Q0�! ��IG� OJ�$� %�� () ��*G F",3.  

x x x x x x

A {x | x }

1 1 5 83 1 3 3 3 1 4
2 2 2 5

8
5

+ > − ⇒ − >− − ⇒ >− ⇒ >−

⇒ = ∈ >−ℝ

  

%��*G�,GA 9�$�E0 ��� ���,I0�! ��. 


(  

x x x /

B { , , , , , , } n(B)

1 132 7 7 5
2 2

1 2 3 4 5 6 7 7

+ < + ⇒ < =

⇒ = ⇒ =
  


 ( ����� �6,82 O3 O4 �0 W�N ���Q0�! %�� �� �,,3 .%��*G�,G:  

C { , , } n(C)2 3 4 3= ⇒ =  

� (9�$�E0 ���Q0�! �� �7"]R ����� 9"Z3 �D �0 W�N �,,3 .%��*G�,GD =ℕ ��� ���,I0�! �.  

��(  

x , , , , P { , , } n(P)1 2 0 1 2 1 4 0 3= − − ⇒ = ⇒ =  

�(  

x , , , F { , , , } n(P)0 1 2 3 0 2 4 6 4= ⇒ = ⇒ =  

16.  

A { , , ,..., } n(A)

B { , , , ,...}

A B { , , , , , , , , }

2 3 4 20 19
1 3 5 7

3 5 7 9 11 13 15 17 19

= ⇒ =
=

=∩
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��D��A B∩ � ��� S���# (G��n(A B) 9=∩%��*G�,G OA B∩ 9�$�E0 ��� ���,I0 ��. 

  

17.  

B A { , } n(B A)1 3 2− = ⇒ − =  

18.  

n(A) 6=  

19.   

x ,1 1= − 9�$�E0 �� �B �0 ��*� �*"T .%��*G�,Gn(B) 2=.  

20.  

{ }A U A a ,{a , b},{b},b′ = − =  

21.  

(A ) (U A) A (A ) A A′ ′ ′ ′ ′ ′−φ − = = =φ∩ ∩ ∩  

22.   

U

A
B

C

 )���  

U

A
B

C

 )
 

U

A
B

C

 )
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23.  

�G 9�$�E0 OJ�$� 9G 9M$8 �U { }0= −ℤ �A { , , ,...}1 2 3= − − − �0 �$# .%��*G�,GA′ 9�$�E0 ��� �7"]R ����� �. 

24.  

 () ��*GJ�$� 9�$�E0 O ���AOB �A B∪ �0 ^_A0 �� F",3.  

A { , , , , , }

B { , , , }

A B { , , }

n(A B) n (A) n (B) n(A B)

1 2 3 4 5 6

4 5 6 7

4 5 6

6 4 3 7

=

=

=

⇒ = + − = + − =

∩

∪ ∩

  

25.  

F���� O�,IQ� �:E0 9�$�E0 �� 5$-:  

n (A B) n (A) n (B)

n (A) n (A) n (A) n (A)14 6 2 8 4

= +

⇒ = + + ⇒ = ⇒ =

∪
  

  

  

26.  

�0 ��*78 F",3:  

U

A B

30 4020

  

}�!��� *� *G /`3 93 �!�*T�#��8A {=  

}T�#��8/�"#$< �#&�� a�]� 93 �!�* �!�B {=  

J�$� ��D�� ���78 �0 &�(A B)′∪ �0 �� ���$;.  

(A B) U (A B)

n (A B) n (A) n (B) n (A B)

n (A B) n (U) n (A B)

50 60 20 90

100 90 10

′ = −

= + − ⇒ + − =

′= − = − =

∪ ∪

∪ ∩

∪ ∪

 

27.  
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A { , , , , , }

B { , , , , , , , , }

A B { , }

n (A B) n (A) n(B) n(A B)

5 10 15 20 25 30

3 9 12 15 18 21 24 27 30

15 30

6 9 2 13

=

=

=

= + − = + − =

∩

∪ ∩

  

28.  

F����:  

  n (B A) , n (A B) , n (A)7 10 14− = − = =  

�0 F"!��n (A) n(A B) n (A B)= − + ∩*G�,G O%��:  

n (A B) n (A B)14 10 4= + ⇒ =∩ ∩  

%",Y��:  

n (B) n (B A) n (A B)

n (A B) n (A) n(B) n(A B)

7 4 11

14 11 4 21

= − + = + =

⇒ = + − = + − =

∩

∪ ∩
 

29.  

A B A B n (A B) n (A B)

n(A B) n (A B) n (A B) n (B A)

n(B A) n (A B) n (B) B0 0

= − ⇒ = −

⇒ = − + + −

⇒ − + = ⇒ = ⇒ =φ

∪ ∪

∪ ∩

∩

 

30.  

A B A n(A B) n (A)

n (A) n (A B) n (A B) n(A B) 0

− = ⇒ − =

= − + ⇒ =∩ ∩
  

F���� �2*R &�:  

  

b<:  

B A B− = 

31.  

��� (93 ��� �6��G: 

(B A) (A B)

n ((B A) (A B)) n (B A) n (A B) n (B) 8

− =φ

⇒ − = − + = =

∩ ∩

∪ ∩ ∩
  


 (�0 F"!��A B A⊆∩  

b<:  

( )A (A B) A n A (A B) n (A) 6= ⇒ = =∪ ∩ ∪ ∩ 

 

n (B) n (B A) n (A B)

n (B A) n (B)

= − +

⇒ − =

∩
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32. �)��*+ 	�0�	 �+ �K�G+ 	
 ��� 
��  ���: 

}/$"0 �!�"#$! 93 ���*2� �!��� ���� ��A {=  

}%"12�3 �!�"#$! 93 ���*2� �!��� ���� ���B {= 

  

��� ( %�� �$c,0J�$� 5�*3 ��"<n (A B)− ���.  

n (A B) n (A) n (A B) 14 6 8− = − = − =∩ 


 ( %�� �$c,0J�$� 5�*3 ��"<n (A B)∪ ���.  

n (A B) n (A) n (B) n (A B) 14 11 6 19= + − = + − =∪ ∩ 


 ( %�� �$c,0J�$� 5�*3 ��"<n (A B )′∪ �0 � ���  5�$8�*3 () 5� ���$�! F�� �G �� 5U.  

U

A B

8 56

1
  

n (A B ) n (A) n (B ) n (A B )

14 9 8 15

′ ′ ′= + −

= + − =

∪ ∩
 

33. �0 F�� �� ���,� �$K�� >��`R� d���! 9G H$G*0 J��M ��IG� F",3.  

6  5  4  3  2  1  : n('# /���#  

?  ?  13  

9  5  1  
n: a 9�eB! ���78    *�� ����

('#  

��$K�� 5��� fQG �G�0 ���,� � 9eB! ���78 F","G  OFE,< ('# ���17 9eB! ���78 �  FA# ('# ���21 ���.  

�0 J�) 9eG�� 93 ��$0*2 F"!�$8 �0 5�A! �� H�B! � F"G�"G O���.  

−3 /���# ('# �= ×4 9eB! ���78 ('# *� ���  

na n⇒ = −4 3  

��� �e; $K�� %��*G�,G. 
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34.  

�0 d���! ����M �� �� ('# 9G H$G*0 >��`R� O9A"�� �,!�0 F"��.  

4  3  2  1  : n('# /���#  

7  5  3  1  n: a/*��� ���78 ('# *� ���  

/*��� ���78 �0 �� ('# *� ��� 9G F"!�$8 F"Q�$,G *�& >�$N.  

n

a ( )

a ( )

a ( )

a ( )

a (n)

1

2

3

4

1 2 1 1

3 2 2 1

5 2 3 1

7 2 4 1

2 1

= = × −

= = × −

= = × −

= = × −

⇒ = × −

⋮

  

%��*G�,Gna n2 1= − ��� �e; /�# /��� �$K�� �.  

35.  

n ( ) a a

n ( ) a a

n ( ) a a

1 1

2 2

3 3

1 5 1 16 11

2 5 2 16 6

3 5 3 16 1

= ⇒ × + = ⇒ =

= ⇒ × + = ⇒ =

= ⇒ × + = ⇒ =

  

3  2  1  n  
1  6  11  na  

36.  

�0 �� /�# /��� J��M >`�M 9G F"!�$8 F"Q�$,G *�& >�$N:  

a ( )

a ( )

a ( )

a ( )

a ( )

= × +

= × +

= × +

= × +

= × +

1

2

3

4

5

3 1 2

3 2 2

3 3 2

3 4 2

3 5 2

⋮

  

�0 9E"I! �� F"Q�$,G F"!�$8:  

na n= +3 2 
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37.  

g8*0 
�& ���( , )1 4O( , )2 5O( , )3 6O( , )4 7 �( , )5 8 � /�# /��� 5�A! >�hI_0 9i+N �����.  

  

f; ��� H�B! %��y x 3= + �!��� ��*� .9Z�M %��*G�,G 9��]!� �0$�� �na n 3= + ���.  

38.  

�0 �� 9��]!� >��`R� 9G H$G*0 J��M 9A"�� �,!�0 F"Q�$!:  

 \��

�M�; 
na  

na

  

n

  

( )
( ) +−

+

2
1 1 1

1
1 1

  

1
2

  1

( )
( ) +−

+

2
2 1 2

1
2 1

  

− 4
3
  

2

( )
( ) +−

+

2
3 1 3

1
3 1

  

9
4

  3

( )
( ) +−

+

2
4 1 4

1
4 1

  

  

−16
5
⋮

  

4
⋮

  
  

  

  

n n
( )

n

+−
+

2
11

1
  

  

na

  

  

n
  

9E"I!��: n
n

n
a ( )

n

+= −
+

2
11

1
 ���.  

( )
a ( )

2
21

20
20 4001
21 21

= − × = − 
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39.  

b b b= +8 7 6  

9Z�M ���G %��*G�,G ���b3Ob4Ob5Ob6 �b7 9G �� F���U ���:  

b b b

b b b

b b b

b b b

b b b

3 2 1

4 3 2

5 4 3

6 5 4

7 6 5

3 3 6

6 3 9

9 6 15

15 9 24

24 15 39

= + = + =

= + = + =

= + = + =

= + = + =

= + = + =

  

%��*G�,G:  

b b b= + = + =8 7 6 39 24 63  

40.  

   ��0 F��� �� 9���]!�� %�� >��`R� 9G H$G*0 J��M ��IG� J�$� %�� () ��*G    9�Z�M ��7G � F"�,3    %"�"78 �� 5U �0$��� �

�0 F",3:  

 \��

�M�; 
na  
na  

n

  

    ( )21  a =1 1  1

( )22  ( )a ( )= + − =2 1 2 2 1 4  2

( )23  
( )a ( )= + − =3 4 2 3 1 9

  
3

( )24
⋮

  

( )a ( )= + − =4 9 2 4 1 16

⋮

  

4
⋮

  

(n )2  

  

n na a n−= + −1 2 1  
  

n
  

9Z�M %��*G�,G 9��]!� %�� �0$�� �na n= 2 ���. 
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41.  

9eG�j 9G 9M$8�G F���� 9��]!� �:  

( )
a

( )
a

a a

−= = =

= = =

+ = + =

2

5

2

6

5 6

5 1 24 6
4 4

6 36 9
8 8 2

9 216
2 2

  

42.  

%�� ��*G 93a11 9G �� F"�� ��*� ���G OF����"G ���.  

n + =2 5 11 ).�*-(  

na

n n

( )n
n a

n ( )

33 3
11

2 5 11 3

3 11 282 5
2 1 2 3 1 5

=

+ = ⇒ =

+++ = → = =
− −

  

43.  

nn a ( )

n a ( )

n a ( )

n a ( )

n a ( )

−

−

−

−

−

= ⇒ = =

= ⇒ = =

= ⇒ = =

= ⇒ = =

= ⇒ = =

1 1

2 1
2

3 1
3

4 1
4

5 1
5

1 2 3 2

2 2 3 6

3 2 3 18

4 2 3 54

5 2 3 162

  

F����:  

162, 54, 18, 6, 2  

  

44. 5��� �M 5�# ^_A0 ��*G F"I+T l`]� 93 �$R9Z 9��]!� \� �0$�� �      9�Z�M 9�3 ���� �2��3 �G��Q) �  � J�� �  

F"#�G 9I#�� �� 5U �]Q! ��� .%��*G�,G:  

 

nt (n ) ( ) n63 1 4 67 4= + − × − = −  

45.  

9��]!�  �)��� (��� �G�Q) 9��]!� \� .9Z�M �� *� m`I;� �*�&        9���]!� %��� �]�Q! ���� ���� ��G�n ���B0 5U ���$I0 �  

 ���2 ��� . 9��]!� �� ���)
 (F����: 

t t

t t
2 1

3 2

3
5

− =
− =

 

�A! �IG�n ���B0 9��]!� %�� ���$I0 9Z�M �� (j�+8 .�Q"! �G�Q) 9��]!� \� O9��]!� %�� %��*G�,G . 
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46.  

9��]!� \� ("'A8 9Z�M 9� 93 %�� ��*G  9�Z�M ��*� (j�+8 ���G O�,��G �G�Q) �  5U ���$�I0 �     ��#�G �IG��n ����B0 ��� .

F���� %��*G�,G:  

q ( q ) q (q )

q q q q

5 4 3 4 3 20
73 2 3 23 6 21

2

+ − + = + − −
−⇒ − + = + ⇒− = ⇒ =  

47.  

9eG�� �� ���G J�o� %�� ��  �nt a (n )d1= + − ���B0 On9G �� F����"G ��� . 

(n ) n91 3 1 11 9= + − × ⇒ =  

48.  

F���� : 

{

t t a d a d

t t a d a d

a d
d , a

a d

t t a d a d a d

( ) ( )

5 6

8 9

13 15

3 4 5 3

2 7 8 2

2 9 3 5 21
2 15 2 6 4

12 14 2 26

21 5 672 26
4 6 6

+ = ⇒ + + + =

+ = − ⇒ + + + = −

+ =
⇒ =− =

+ =−

+ = + + + = +

= × + × − =

 

49.  

F����:  

t t a d a

d

7 1 720 6 720

120

− = ⇒ + − =

⇒ =  

50.    

t a d d
t a d a
3

6

8 8 2 3
17 17 5 2

= ⇒ = + =
⇒

= ⇒ = + =
 

�0 J�)  F"!�$8t149G �� F���U ���. 

t14 2 13 3 41= + × =  

51.  

t a d x ( x ) x6 5 3 1 5 2 6 13 31= + = + + + = +  
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52.   

F����:  

nt n6 3= +  

b<: 

n a (n )d a d nd6 3 1+ = + − = − +  

 %��*G�,Gd 6=  � ���a 9= .  

53.  

�",3 p*2xOy �z 9��]!� ("'A8 �,��G �G�Q) � .9��]!� ��*78 q]R F���� �G�Q) �: 

, x, y, z,

x y d , z y d= − = +
… …

 

�0  ��� 9� %�� L$�E0 F"!��21��� /�#. 

<F���� b: 

x y z

(y d) y (y d) y

21
21 7

+ + =
⇒ − + + + = ⇒ =  

��� /�# 9I+T J�o� >�$N �� %",Y��: 

xyz ( d) ( d)

d d d2 2

231 7 7 7 231
23149 33 16 4
7

= → − × × + =

⇒ − = = ⇒ = ⇒ =±  

 *T�d 4= �,IQ� *�& >�$N 9G ��� 9� %�� �#�G . 

, , , ,3 7 11… …  

 *T�d 4= −  *�& �,!�0 ��� 9� g"8*8 O�#�G��� .  

, , , ,11 7 3… …  
 

54.  

F���� J�o� >�$N >��`R� q]R: 

, , , , ,
t t t t t t

d d

1 2 3 4 5 6

19 39

39 19 5 4= + ⇒ =

 

%��*G�,G:  

t

t

t

t

t t t t

2

3

4

5

2 3 4 5

19 4 23
23 4 27
27 4 31
31 4 35

23 27 31 35 116

= + =
= + =
= + =
= + =
+ + + = + + + =
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55.  

9��]!� ��� *�& >�$N 9G �Z� ��< %I2� /�� 5�0& 9G H$G*0 �G�Q) �: 

, , ,12 18 24 …  

 9��]!� %�� �]Q! ���6��� . 

�0 F�� �� J�o� %�� 9G H$G*0 >��`R� J��M F",3 .  

4  3  2  1  :n9I+� ���78 /�# �*r� ��� 
? 24  18  12  n:a9I+� �� %I2� /�� 5�0&  �nV�  

  

3 F",3 ��"< 93 O��� %�� J�o� m��9I+� �� 9 V�,- �(n) �Z� ��< O60�0 /�� 9B"�� ��� .  

(n ) n60 12 1 6 9= + − × ⇒ =  

56.  

9,�:� 9��]!� \� ("'A8 /�# �;��*< ��� �]Q! ��� �G ���� �d 9000= �0 �,�� . 

9eG�� &� F���� �h� �na a (n )d1= + − F",3 /��+I�� .9Z�M 5$-  &� J�� �33�0 L�*# �$# .9]��i0 ��*G %��*G�,G  �

9,�:�  9G H$G*0 ���60 ���G 5��60 *+!( ) a2860 33 1 28− + = F",3 
�Q) �� .  

a28 500000 27 9000 743000= + × =  

57.  	
 A/2 l�L@ �H	 a�	 a�� 
�a    �N� (�� a�N� 
� l�NL@ D ��N�S� �o� 
�  �
�N�a a
7

100
+  -N�	 .

��G�/ a1 07 �+  a�� 
� � ��2n (	n( / ) a11 07 −-�	 . 

�M 93 F���� ���,� 9��]!� \� %��*G�,G9Z 9G 5U �0$�� � >�$Nn
nt ( / ) 1800000 1 07 −= × ��� .  

b<:  

t ( / ) /5
6 800000 1 07 1122041 38456= × =  

 &� �7G W$B) �,7�6 l�]�*B8 J��/ /1 122 000��� 5�0$8 . 

58.  

F����:  

t , t , t1 2 32 8 32= = =  

t t
,

t t
3 2

2 1
4 4= =  

� %��*G�,G9��]!� \� O/�# /��� 9��]! �]Q! ��� �G ���,� �r 4= ��� . ���GnF���U ��� 9G �� . 

n
nt ( ) 12048 2 4 −= = ×  

2048 �0 9�:E8 �� F",3 .F���� :112048 2= .b<: 

n n( )

n n

11 2 1 2 12 2 2 2

2 1 11 6

− −= × =

⇒ − = ⇒ =
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59.  

t a

t a ( )

t a

1

6
7

2

2

2

=

= ×

= ×

 

%��*G�,G: 

t t a a

(t ) (a )

6 6
41 7

2 2 2
2

2 2 2 16
2 2

× ×= = = =
×

 

60.  

F���� J�o� >�$N 9G 9M$8 �G:  

t t ar (ar ) r8 5 3
9 65 5 5= ⇒ = ⇒ =  

t a

t
11

5
= r

a

10
r (r ) ( )

r

6 3 2 2
4

5 25= = = =  

61.  

F����: 

___ ___ ___ ___ ___, , , , , ,
t t1 7

3 192
 

t ar r r r6 6 6 6
7 192 3 64 2 2= ⇒ = × ⇒ = = ⇒ =±  

 J�o� >�$N 9G 9M$8 �Gr 2= −��0 *c! �� � F�*"T. 

t2 6= −  

t3 12=  

t4 24= −  

t5 48=  

t6 96= −  

t t t t t2 3 4 5 6 6 12 24 48 96 66+ + + + = − + − + − = −  

62.  

t
r

t
2

1

6 2
3
−= = = −  

n n
nt ar ( )1 13 2− −= = × −  

63.  

9Z�M ��IG� �  FI+�9��]!� �0 
�Q) �� V�� F",3. 

t a( ) a( ) a6 3 6 18
7 27 3 3= = = ×  

9Z�M �G �� >��]� %�� J�) �n�0 ��*� *G�*G J�� 9��]!� &� V� F"�� . ���B0 �8n9G ���"G ��� . 

na a ( )18 13 3 −× = × −  

�0 9E"I!  F�*"Tn 19=. 
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64.  

 9M$8 �G 9GF���� J�o� >�$N:  

t , t4 7
4 32
3 81

= =  

ar , ar3 64 32
3 81

⇒ = =  

�0 F"QB8 F� *G �� ���Q8 %"2*R F",3 .  

ar
( )

ar

6
3

3

32
32 3 8 281

4 81 4 27 3
3

×= = = =
×

 

r ( ) r3 32 2
3 3

⇒ = ⇒ =  

 
 

65.  

tan a a= = = ⇒ =
2 1 3

30
32 3 3

�  

  

66.   

 HL: ���M/ *��) �� �N�;�� �� 1��-% 
/�)*+,:  

      
BC

Sin A BC x , AB x
AB

= = ⇒ = =
2

2 3
3

                           


���� -P1� ��:  

AC (AB) (BC) x

AC
tan B

BC

= − =

⇒ = =

2 2 5

5

2
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67.   

 

tan /

/ x /
x /

θ = ⇒ θ

= ⇒ =

≃

≃

24 0 44

5 5
0 44 11 36

0 44

  

68.   


���� �� 1�� HL::  

�Q�C�� �� R<$% &�0-% &��S8
"' .  

 

 R<$% ��ABH
���� �:  

m
cotx m cot x= → = 4

4
  

 R<$% �� ��=ABC �Cot x tan y=  �T".� ��  

m tan y= 4  

69.   

ABH :Sin B
AB

AB ABAB AC ABABC :Sin B
BC

AB AB AB AB AB AB

2 2 2

2 2 2 2

2
2 5 2 5

5 25

100 100 21
2 25 5 4 100 25 21 100

2121

= 
→ = ⇒ =

+ +=


⇒ + = ⇒ + = ⇒ = ⇒ = =

 

 

 

 ��

sZX0  

 ��

sZX0  
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70.   

Sin Cos
1 2 1 2

30 45
2 2 2

+
+ = + =� � )34�  

tan Cos Sin
3 2 2 3 2

45 30 45 1
3 2 2

+ −
+ − = + − =� � � )5  

71.   

-% ��A� >��!�� 
"��� �� 1.D  JUV10 @/�  .   

ABB AB
CotB

ACB AC

AB AC BC BC BC

AB
Sin C

BC

2 2 2 2

412 4

39 3

16 9 5

4

5

=
= = = = ⇒

=

+ = ⇒ + = ⇒ =

= =

      

72.   

  J�K;�� �!.��AH  R<$% &�1� ��ABC -% 
/�
"' .  

 

����:  

h
Sin B h cSin B

c
cSin B bSin C

h
Sin C h bSin C

b

= ⇒ = 
⇒ =

= ⇒ =


  

�T".� ��:  

Sin c Sin B
( )

C b
= 1  

 J�K;�� ��=CH ' -% 
/� ��
"' .  

  

h
Sin A h bSin A

b
bSin A a Sin B

h
Sin B h a Sin B

a

′ ′= ⇒ = 
⇒ =′ ′= ⇒ =



  

���E0 tZj 9G  

9G (G�B0 tZj 
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�T".� ��:  
Sin A Sin B

( )
a b

= 2  

 ��)1 ( �)2 (-% �T".�
�1"8:  
Sin A Sin B Sin C

a b c
= =  

73.   

�� ����� X+�  ���/ �� >!%9 @/�8 
����:  

Sin B Sin

Sin
Sin B

30

8 6
1

88 30 4 22
6 6 6 3

=

×
⇒ = = = =

�

�

  

74.   

AB
AB

Sin Sin

3 2
3

30 45
= ⇒ =
� �

  

75.   

 �� -����� ����P �; X��Y �<)�P 18�x 
"'  Z1P� 
����:  

tan / x /
x

= = ⇒
120

15 0 26 461 53�
≃  

76.  

�  [�� �� �N�;��sin tanθ θ<0 !'.\"� @%U, 
0 �� [�� -']� �@/�.  

C�/ � C�� F�� �� �E';sin θ �tanθ@%U, &���� !'.\0 -K<.^% &�0.  

77.   

-% >���D0 
"���cos x− ≤ ≤1 1� [��1��'�:  

m m m− ≤ − ≤ → ≤ ≤ ⇒ ≤ ≤3 51 2 4 1 3 2 5
2 2

  

78.   

( )

cos cos
cos

cos

3

2

1 1 11 1 2 3 4
4 3 2

2 11
3 2

+

× −

− ≤ θ≤ → ≤ + θ≤ → ≤ ≤
+ θ

−→− ≤ ≤−
+ θ

  

 1− : ��!B% [�1.D   

1
2

− :!B% [�1.�"� ��  
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79.   

@/� -K'% >!: >��� *��+, 1\  61^%) .?�1A (&��\%�� �� �T".� ��cos

sin

θ <
θ−

0
1

  !���cosθ>0 !:��.  [��1��'�θ 

���� ��1Y C��EA �� ��� �"=�� ��.  

80.    

A cos cos cos cos

(cos ) A (cos )

2 2

2 2

4 3 4 4 4 3

2 1 2 1

= θ− θ+ = θ− θ+ − +

= θ− − ⇒ = θ− −
  

-P1� ��  

cos cos

(cos ) (cos )

2

5�$��8 9G 2 12 2

1 1 3 2 1

1 2 9 0 2 1 8

−

−

− ≤ θ≤ →− ≤ θ− ≤ −

→ ≤ θ− ≤ → ≤ θ− − ≤
  

 ��!B% [�1.�"� [��1��'�A  �� 1��1�8 @/�.  

81.   

@+\� @%U, �� @/� -P� �"=�� �� -;�$<$% &�0
"'  >�_� �0.  

tan tan cot sin

tan tan sin tan

sin sin cos sin

cos cos

20 100 350 60

120 260 80 310

30 290 110 110

340 100

< <

> <

< <

>

� � � �

� � � �

� � � �

� �

��

� �

��

�

  

82.  

 ��Ay  `a �@/� -K'%θ��  F���� C�/ F�� @/� C��EA .��  �  [�� �� �N�;θ  `a �@\"� C��EA F�� ��θ  �� b�D.=

@/� C�/ F��.  

x y x x x+ = ⇒ + = ⇒ = ⇒ =−2 2 2 29 16 41 1
25 25 5

  

 C�/ F�� �� �1��x @/� -K'%.  

y
tan

x

−
θ= = =

−

3
35

4 4
5

  

83.   

 ��B� ��Ax -% ��� F�� ��\D"� &�� `a �!:��y x=. [��1��'�:  

x x
cot

y x
θ= = =1  
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84.   

x y y x y x
3 5 33 2 5 2 3 5 f��; g"��# 
2 2 2

+ = ⇒ =− + ⇒ =− + ⇒ =−  

tan α =− 3
2

  

85.   

m tan
330
3

= =�  

-% -P1� �� 
"���y y m(x x )0 0− = −� � ��
���� �T".:  

y (x ) y x y x
3 3 2 3 3 3 2 31 2 1
3 3 3 3 3

−− = − ⇒ = − + ⇒ = +  

 

  

86.  

	
�� 
��� �� ����� sin 0θ≤  ���.  

  �����
�� θ�� �����   
� 
� !� �"
� #!
$% & #�� '
� .θ �� !��( �! ���� .  
  

  

θ = +180 30� �  

��	 �� )*" !� 
� !��  �����  

  

sin( ) sin( )

cos( ) cos( )

sin cos ( )2 2

1
180 30 30

2

3
180 30 30

2

1 3 3 1
� 210 1 210 1 1

2 2 4 2

+ =− =−

+ =− =−

⇒ =− − − =− − − =− − =−

� � �

� � �

� �

  


�&�+ 
� ����� ,��
-�210� �� .�/ 0�1� 2!�/ ,�" ,��� 
3��! !� ���.  

87.   

���! 4��: 
sin

cos tan cos sin
cos

θ
θ θ = θ = θ

θ
  : 6% 4��)���  

���! 4��: 
tan tan

tan
cot

tan

2
1

θ θ
= = θ
θ

θ

  : 6% 4��)�  

( sin ) ( sin )cos sin

sin sin

2 2 1 11

1 1

− θ + θθ − θ
= =

+ θ + θ ( sin )1+ θ
sin1= − θ )�  

sin cos (sin cos )(sin cos ) sin cos4 4 2 2 2 2 2 2θ− θ = θ− θ θ+ θ = θ− θ )�  
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cot
tan cotcot cot

cottan cot

cot cot

1 1
11 1

1 11 11

θ−
−

− θ θ−θ θ= = =
θ++ θ θ++

θ θ

 )&  

sin cos sin

tan sin (cos sin )cos cos

cot cos sin cos cos (sin cos )

sin sin

2 2 2

2 2 2 22 2

2 2 2 2 2 2 2

2 2

1
1

1
1

θ θ− θ
−

− θ θ θ− θθ θ= = =
− θ θ θ− θ θ θ− θ

−
θ θ

 )7�  

tan (tan ) ( ) sec
cos cos

2 2 2
2 2

1 1
1 1 1 1 1=− θ=− θ+ − =− − = − = − θ

θ θ
  

cot sin
sin cot

2 2
2 2

1 1
1

1
+ θ= ⇒ θ=

θ + θ
)'  

tan tan
sin

cot tan tan tan
tan tan

2

2 2 2 2
2 2

1 1 1
11 1 1 11

θ θ
⇒ θ=± =± =± =± =±

+ θ θ+ + θ + θ+
θ θ

  

cos cos cos sin cos sin cos

sin cos sin cos sin cos sin cos sin cos

2 2 2 2 2 2 21 2 1− θ − θ− θ θ− θ θ θ
= = = −

θ θ θ θ θ θ θ θ θ θ
 )	  

sin cos
tan cot

cos sin

θ θ
= − = θ− θ

θ θ
  

88.   

a
cot a sin a sin a

sin a cot a cot a

sin a sin a

2 2
2 2 2

��� �"=�� �� 1 1 1
1

1 1

1 1 3

47 16
1

9 9

+ = ⇒ = → =
+ +

⇒ = = ⇒ =

+

  

89.   

x cos x sin x

sin x
tan x

cos x

2 9 16 4
  C�� �"=�� �� 1 1

25 25 5

3
35

4 4
5

⇒ =− − =− − =− =−

⇒ = = =−

−

  

90.   

x
tan x cos x

cos x tan x

sin x cos x

2
2 2

2

  C�/ �"=�� �� 1 1 1 1 5
1

551 41

5 20 2 5
C�/ �"=�� �� 1 1

25 25 5

+ = → =− =− =− =−
++

=− − =− − =− =−⇒
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91.   

sin asin a sin a ( sin a) ( sin a)

sin a sin a cosasin a cos a

2 2

2 2

11 1 1 1

1 1 1

++ + + +
× = = =

− + −
  

a  89 :��� #&� 
� 
� !�cos a cosa=− 	�% :cos a 
� :��� �;�� #&� 
� 
� !���� 
� 
<��  
�sin a1+ 

 89 :��� �=>� ,!���� ��!
=?sin a sin a1 1+ = + �����
��:  

  

sin a sin a sin a sin a sin a sin a sin a
tan a

sin a cosa cos a cos a cosa cosa

1 1 1 1 1 1 2
2

1

+ − + − − − + − −
+ = + = = =−

− −
  

92.   


�&�+202� ��� �;�� 	@ A���� 
B�C� !� :��� #�� D�! !� .����� 	
-� 
C"EF A!� !�cos( ) cos−θ = θ 

89cos cos( )22 22= −� � 
�&�+ ���G�� &22� �� !��( 0&� D�! !� ��� �=>� 	@ A���� �����
�� :���F .��!��:  

cos( ) sin( ) cos( ) sin( ) cos sin

sin( ) sin( ) sin

cos sin
cot

sin sin tan

22 202 22 180 22 22 22

382 360 22 22

22 22 1 5 3
22 1 1 1

2 222 22 22

− + − + + −
= =

+

= − = − = − = − =

� � � � � � �

� � � �

� �
�

� � �

  

93.   

( )( )

( )( )

cos x sin x cos x sin x cos x sin xcos x sin x

sin x cos x sin x cos x

cos x sin x cos x sin x
cos x sin x

cos x sin x

2 23 3

1 1

1

1

− + +−
=

+ +

− +
= = −

+

 

 

 

  

94.   

 HI>� &�ABC  &ACD �-$� �� ���.  

  

cos /43 0 7=�  
�� �����:  
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~ /

tan
cos

tan tan tan
( / ) ( / )

h
tan h h / m

+ θ=
θ

⇒ + θ= ⇒ θ= − = ⇒ θ=

θ= = ⇒ = → =

2
2

2 2
2 2

51 7 1

1
1

1 1 51 51
1 1

49 70 7 0 7

51 5 51
5 07

5 7 7

  

  

95.   

 )1  

( / ) ( ) /
/

( / ) ( )
( / ) ( / )

− − −
− −

− −
= × = × = ×

⇒ × < ×
= × = ×

<

5 1 5 5 3
3 3

3 1 3 3
5 3

0 2 2 10 32 10 0 32 10
0 32 10 27 10

0 3 3 10 27 10
0 2 0 3

 

)2  

( / ) ( ) ( )
( )

( )
( / ) ( )

− −= × = =
⇒ <

=
<

10 1 10 10 10
10 1

1 1
10 1

10 1 1 10 10 110 2
102 2

0 1 2

 

)3  

/ / / /
/

/ /

− −= × = × = ⇒ =

=

4 20 0004 4 10 2 10 0 02 0 02 0 02
0 02

0 0004 0 02

 

)4  

/

/ / /

− −
− −

− −

= × =
⇒ =

= × = =

5 5 15
1 1

4 4 14 5 4

0 00001 1 10 10
10 10

0 0001 1 10 10 0 00001 0 0001

 

96.  

>��]� 0 9�:E8 �� J�'���� *�& ���� F",3.  

)1 ( )× = × × × × = × × × = × × × =5 55 3 2 10 5 5 2 555 5 5 5864 46080 2 3 3 2 5 2 3 2 5 2 3 4 5 24 5  

)2 = × = × =272 36 2 6 2 6 2  
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)3 ( )× × = × × × = × = × = × =4 4 45 2 3 2 8 4 2 4 4 244 4288 8 9 2 3 2 3 2 3 2 3 2 3 12  

)4 = × =3 33 340 2 5 2 5  

)5 / /− − − −× = × = × = × =4 43 4 4 4 141 6 10 16 10 2 10 2 10 0 2  

)6 x (x ) x (x ) ) (x )( ) 53 120 8 3 5 120 8 3 5 8 35120 2 3 5= × × ⇒ = ⇒ = =  

x (x ) x x x (x ) x= = ⇒ = = =
2 32 5 22 23 120 8 3 8 120 8 4 2 43 25  

)7 x y x x y x xy= × × × × =5 3 4 4 3 34 4 480 2 5 2 5  

)8 / /− − −= × = × = × =3 36 3 6 230 000216 216 10 6 10 6 10 0 06  

)9 + + = + + = + = =4 4 43 4 3252 52 144 252 52 12 252 4 256 4  

)10 ( )( )− × + = − + = − = =4 444 410 19 10 19 10 19 10 19 100 19 81 3  

97.  

)1  

�0 F"!��: 

5 52 32 68 3 243= < < =   
 ��� 
�$M ��*G �0 a�)3/2 �*�& O���:  

( / ) /52 3 64 36343=  

%��*G�,G:  

/≃5 68 2 3 
  

)2  

�0 F"!��: 

4 43 81 254 256 4= < < =  

�0 a�)  �]�*B8 ��� P��< OF"!&9/3 F���� O�#�G:  

( / ) /43 9 231 3441=  

%��*G�,G:  

/≃4 254 3 9  
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98.  

x
x

x

x ( )

= ⇒ = × = × ×

⇒ = × × × = × × =

2
3 4 6

3 2 3 23 3 3

162 162 128 2 3 2
128

2 3 3 2 2 3 6 12 6

  

 

99.  

)1
1 0 11 0 1

2 3 4
2 2 22 2 2

2 2 2

−−

− − −
+ ++ + =

+ + (3 1 0 12 2 2 2− −+ + )

3
3

1 2 8
2−

= = =  

)2 38 18 2 9 2 2 2 3 2 5 2+ = + × = + =  

100.  

x y xy x y xy(x y) (x y)

(x y)(xy )

(x y)( ) x y x y

+ + + = ⇒ + + + =

⇒ + + =

⇒ + + = ⇒ + = ⇒ + =

2 2 5

5

5 4 4

16807 7

1 7

6 1 7 7 7

  

101.  

)1 x( ) ≠125 0  

  

bا��**  ≠ 
	�� و 0=ab cb ن� 
	�=a c ا��.**  

  

x x( ) ( )25 125 x( )= 125 x( ) ( ) x−⇒ = ⇒ =−11 25 25 1
25

 

 

)2  

x x

x x x

+ + + + + + + = ⇒ × =

⇒ × = ⇒ = ⇒ =

8 8 8 8 8 8 8 8 8

3 8 11
2 2 2 2 2 2 2 2 2 8 2 2

2 2 2 2 2 11
 

102.  

x x2 100 10= ⇒ =±  

5$-x3 1000≠ �����B0 �6,8 %��*G�,G O�x 10= − ��� J$]� (G��.  

b<:  

x ( )= − = −5 510 100000 
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103.  

x x x

xx x x

x x x

x x x (x x x )

(x x x ) (x x x )

− − −− − − = ⇒ =

⇒ − − − =

⇒ − − − = − + + + + =

⇒ + + + = ⇒ + + + = =

2 3

3 2 3

2 3

2 3 3 2

3 2 3 2 10 10

1 1 1 11 0 0

1 0

1 1 2 0

1 2 1 2 1024

 

104.  

( ) x xx x x x( x) ( x) x ( x) x416 2 4×= = = ⇒ = ⇒ = 

105.  

:( / )( / )− − =10 2 2 25 6 2 2 25 21S*2 �)�Q0  

 

106.   

− + + =− × + × +

= − + + =

3 160 8 40 90 3 4 10 8 2 10 3 10

12 10 16 10 3 10 7 10
  

  

107.   

× = = =
4 43 3 3 42 10 12 45 5 5 5 5 )���  

a a

( a ) a

a

)

a

ب > ⇒ − >

− −= =
− −

66

1 1 0

1 1 1
1 1

   

b b b b b b b b b= = × =11 6 11510 2 18 11 10 2 3 105 )
  

(x ) xx x x x x ( )
x xx xx x x

= = = = = =
2 33 32 3 6 7

33 33
10 33 3 310 10 10

1 1 1 )�  

( )= = =
5

555 5
5

32 2 2 2
243 3 33

 )�  
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108.   

+ − + − +4 4 4 4 4 43 405 5 5 2 80 4 5 405 80 )���  

( ) ( ) ( )

( )

= − + + + − +

= × + − ×

= × + −

= + −

=

4 4 4

4 44 44

4 4 4

4

4

3 1 405 5 4 5 2 1 80

2 3 5 9 5 2 5

2 3 5 9 5 2 5

6 9 2 5

13 5

  

  

a b b a b a b a ab ab ab− − + +5 5 5 56 6 6 6 6 6 52 5 3 3 )
  

( ) a b ab b a ab a ab b ab ab

ab ab ab ab ab ab ab ab

( ) ab ab

( )ab ab

= − − + +

= − − + +

= − − + +

=
=

5 5 55 5 5 5 5

5 5 5 5

5

5

1 5 2 3 3

4 2 3 3

4 2 3 3

0
0

  

  

a a a a a a a a a
a

aa a a a

a

× × × × ×= = = =
÷

5 3 5 3 5 3 5 53 6 3 6 3 6 2 5 2

27 5 7 714 2 14 14

5 2

 )
  

109.   

x ( x) ( ) x ( )

x

= ⇒ = ⇒ = =

⇒ = = =

6 6 2 6 126 6

12 6

4 4 2 2

2 2 64
  

110.   

F����:  

( )
x( ) ( )

( ) x x ( ) ( ) x

×
=

⇒ × = ⇒ = × = ⇒ =±

7
6

54 54

7 6 6 7 6

5 5
4 4

5 4 5 5 54 5
4 5 4 4 4

  

111.  

x y ( x y ) ( ) (x ) (y ) xy= = =
1 1 1 1

2 4 2 4 2 4 22 2 2 236 36 36 6 )���  

a b ( a b ) ( ) (a ) (b ) ab− = − = − = −
1 1 1 1

3 3 6 3 6 3 6 23 3 3 327 27 27 3 )�  
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( ) (( ) )
×

= = = = =
1 1 5 1

5 510 10 10 1 225 25 25 25 25 5 )�  

( ) ( )( )

1 1 1 2 1 2 13
2 25 3 5 3 5 3 5 3 1599 99 99 99 99 99 99 99

+
× = = × = = )�  

  

112.   

N N

12 108 4 3 36 3 2 3 6 3 8 3 64 3 192

192 192

+ = × + × = + = = × =

⇒ = ⇒ =
  

  

113.   

( ) ( ) ( ) ( ) ( )( )

( )( ) ( )( )( ) ( ) ( ) ( )

1 1 15 6
15 6 15 63 3 2 3 2

5 3 2 3 3 2 3

2 5 2 5 2 5

2 5 2 2 5 2 10 4 1000 4000

= =

= = = × = =

  

114.   

 ��IG�/0 15 �*Q3 >�$N 9G ��15
100

 �0�0 /��� �� 5U � F"Q�$!F",3.  

b( ) b b

3
42015 3 3 20 802 2 4 4

100 20 20 3 3
= ⇒ = ⇒ × = ⇒ = × =  

115.   

( )( )

( )2 2
4 2 5 7 3 54 2 5 4 2 5 7 3 5

7 3 5 7 3 5 7 3 5 7 3 5

28 12 5 14 5 30 2 5 2 5 1
49 45 4 2

+ −+ + −= × =
+ + − −

− + − − −= = =
−

  

  

116.   

x x

x x

x x

( ) ( )

( ) ( )

( ) ( ) x (x )

x x ( )x

x

+

+

+

=

=

= ⇒ = +

⇒ = + ⇒ − =

⇒ =

13

1 1
2 12 3

5 1
12 3

25 5 5

5 5 5

5 15 5 1
2 3

5 1 1 5 1 1
2 3 3 2 3 3

2
13

 

 

  

117.   
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=3 3 3 3 3 3  )���  

( )= =
3 3 1 7
2 2 2 43 3 3 3 3 3 3 3 3 3 3 3 3 3  

( ) ( )= = =
7 1 15 15 1
4 2 8 8 23 3 3 3 3 3 3 3 3 3  

=
31
163 3  

( ) ( )= = × = = =
31 1 31 63 63 1 63
16 2 32 32 32 2 643 3 3 3 3 3 3  

  

a a

 
   

=    
  
 

45
45 75 35 3 3 7 37 7  )�  

(a ) a a
×     

     = = =
             

45 45 457 1 7 7 155
3 3 9 9 577 7  

a a a
 
 = = =
 
 

457
7 7457  

  

118.   

5 2 2 5 1 2 2 5 1 2 4
3 33 3 3 3 3 3 3 3 3 3 3

3
14 2 2 2 2 2 2 2 2 2

2 2

− − − − − + − −
× × × = × × × = = =  )���  

1 1 1 1 1 1 1 1 1 15
16 2 4 8 16 2 4 8 16 16

4 8 15 16 15
16

1 1 1 1 13 3 3 3 3 3 3
3 3 3 33

− − − − − − − − − −
× × × = × × × = = = =  )� 
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119.  

�",3 9M$8:  

�� 
I�< &� ����� '� '
�A B− &A B+ �� �&�J� �! 
I�<&� ���G�� :����F '� 
�����
� �»a b , a b− +« :

»a b+:a b− « &»a b−4 4  &a b+4 4 «����F �&�J� �!.  

( )
( )

( ) ( )

−− −= × = = = −
−+ + − −2 2

5 3 25 5 3 2 15 10 15 10
3 23 2 3 2 3 2 3 2

 )���  

( )( ) ( )( )

( ) ( )

− − − −− − −= × = = = −
−+ + − −

4 4 4 44 4
4 4

4 4 4 4 4 4 2 24 4
5 3 5 3 5 3 5 35 3 5 3 5 3 5 3

5 35 3 5 3 5 3 5 3
 )�  

( ) ( ) ( )

( ) ( )

− − −− − −= × = = =
−+ + − −

2 2 2

2 2
7 5 4 7 5 4 7 5 47 5 4 7 5 4 7 5 4

245 16 2297 5 4 7 5 4 7 5 4 7 5 4
 )�  

120.  

5��� �0 /���A0 ('# �� 93 �$R tG*0 tZj J$R O�",3 ��    ��0 ����,� 9���]!� \�� ("'A8 O      5U �]�Q! ���� 9�3 O��,��

r = 2 ���.  

, , , ,...2 2 2 2 4  

 D��� DIM 0��18P�	
�� :#nt ���.  

t t r ( ) ( ) ( )= = × = = = =
1

17 17 18 18 92
18 1 2 2 2 2 2 512  

121.  

�]Q! ��� �G ���,� 9��]!� \� ("'A8 O*6# %�� ��*2� �"7�Mr /=1 03 �0 ���.  

t ( / ) /= × = × =2
3 250000 1 03 250000 1 0609 265225  

  

122.  

( ) ( ) ( ) ( )+ + − = + + + + − + − = × =3 33 3 3 3 27 27 3 27 3 3 27 27 3 27 3 3 4 27 108  

123.   

( ) ( ) ( ) ( ) ( ) ( ) ( )
33 6 3 2 3 3 33 2 2 2 1 3 2 2 2 1 3 2 2 3 2 2 9 8 1 − + = − + = − + = − =  

 

  



 

 

177  

124.   

x x
x

x x x

(x ) ( ) (x)( ) (x)( ) (x )
x x x x

(x ) x
x x

A x (x )(x ) (x )(x ) ( )( )
x xx x x

2 4
2

4 2 2

2 2 2

2

3 2 2
3 2 2

1 1 13 3
31

1 1 1 12 2 3 2 3

1 15 5

1 1 1 1 11 1 5 3 1 2 5

+= ⇒ = ⇒ + =
+

⇒ + + − = ⇒ + − =

⇒ + = ⇒ + =

= + = + − + = + + − = − =

  

125.   

��!��:  

x x x x x
x

x x x x
xx x x

x (x )(x ) ( )( )
xx x

− + = ⇒ + = ⇒ + =

+ + × = ⇒ + + = ⇒ + =−

+ = + + − = − − = −

2 2

2 2 2
2 2 2

3 2
3 2

32 3 0 3 2 2

9 3 9 92 4 6 4 2

27 3 9 3 2 2 3 10

  

126.   

x x (x )(x )+ + = + +2 7 12 3 4 )���  

[ ][ ](x y) (x y) (x y) (x y)− − − − = − − − +2 30 6 5 )�  

x x (x )(x ) (x )(x )(x )(x )− + = − − = − + − +4 2 2 25 4 1 4 1 1 2 2 )Q  

a a (a )(a ) (a )(a a )(a )(a a )− − = − + = − + + + − +6 3 3 3 2 27 8 8 1 2 2 4 1 1 )2  

x xy y ( x y) ( x y )( x y )− + − = − − = − − − +2 2 29 12 4 9 3 2 9 3 2 3 3 2 3 )R  

ax bx ay by x( a b) y( a b) ( a b)(x y)− + − = − + − = − +8 8 8 8 8 )�  

x x x x x x (x x ) (x x ) (x x )(x )+ + + + + = + + + + + = + + +5 4 3 2 3 2 2 2 31 1 1 1 1)S  

y y y y y y y y y y

y y y y y y y y

y (y y ) y (y y ) (y y ) (y y )(y y )

5 5 4 4 3 3 2 2

5 4 3 4 3 2 2

3 2 2 2 2 2 3 2

1 1

1

1 1 1 1 1

+ + = + − + − + − + +

= + + − − − + + +

= + + − + + + + + = + + − +

 )7�  

a(a )(a )(a ) a(a )(a )(a )

(a a)(a a )2 2
1 2 3 1 3 1 2 1

3 3 2 1

+ + + + = + + + +

= + + + +

)&  

 �F� 0
 a a A+ =2 3 ��!�� :���� !��(:  

A(A ) A A (A ) (a a )= + + = + + = + = + +2 2 2 22 1 2 1 1 3 1 
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127.   

bc ac ba
ab ac bc

a b c abc

a b c a b c ab ac bc

a b c (ab ac bc)

a b c

+ ++ + = ⇒ = ⇒ + + =

+ + = ⇒ + + + + + =

⇒ + + + + + =

⇒ + + =

2 2 2

2 2 2

2 2 2

1 1 1 0 0 0

1 2 2 2 1

2 1

1

  

128.   

a b c a b c (ab ac bc)+ + = ⇒ + + + + + = ⇒2 2 20 2 0  

(ab ac bc) ab ac bc (ab ac bc)+ + + = ⇒ + + = − ⇒ + + =21 11 2 0
2 4

  

a b a c b c a bc ab c abc⇒ + + + + + =2 2 2 2 2 2 2 2 2 12 2 2
4

  

a b a c b c abc(a b c)⇒ + + + + + = ⇒2 2 2 2 2 2 12
4

  

a b a c b c a b a c b c+ + + = ⇒ + + =2 2 2 2 2 2 2 2 2 2 2 21 10
4 4

  

a b c a b c (a b a c b c )+ + = ⇒ + + + + + =2 2 2 4 4 4 2 2 2 2 2 21 2 1  

a b c a b c⇒ + + + × = ⇒ + + =4 4 4 4 4 41 12 1
4 2

  

129.   

x x

(x )(x ) (x )(x )x x x x

(x )(x ) (x ) x x x x

(x )(x )(x ) (x )(x )(x )

x x x

(x )(x )(x )

+ ++ = +
− − + −− + − −

+ + + − + + + + −= =
− + − − + −

+ + +=
− + −

2 2

2 2

2 3 2

3 2

4 3 4 3
3 1 2 34 3 6

4 2 3 1 2 4 8 3 3
1 2 3 1 2 3

2 7 5
1 2 3

  

130.   

���(  

x yx y x yx y y x x y

x y x yx y

 − + − + − − +
+ ÷  − +− 

2 2 2 2 2 2

2 2

3 2 4 3 2

3
   

�� ,�
� �! JC���9 )W�� ��C�� ����.  

(x y)(x y) (x y)(x y) x y x y x y
x y

(x y)(x y) x y x y x y

− − − − − − + −+ = + − =
− + − + +

2 22 3 2 2
3

  

�� ��+ )*" 
� �! 0�1� 2!�/ 0
  ��X���:  
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x y x y x y

x y y x x y

− + − +× = −
+ − − +

2 2

2 2
2

1
2

  

�(  

�� 	
X*� �! 
��F 2!
=? 
� ��Z� ��C�� 
� �! )/
  �[� & ���� �� ��� ��!&@:  

(z x) (x y) (y z)

(x y)(y z) (y z)(z x) (z x)(x y) (x y)(y z)(z x)

− + − + −+ + = =
− − − − − − − − −

1 1 1 0  

131.   

( )− +− += × =
− + ++ +

3 3 33 3 3

3 3 3 23 32 23 3

19 100 90 8119 19 100 90 81

100 90 81 10 310 3 10 3
 )���  

= − +3 3 3100 90 81  

( )−−= × = = −
−+ + + + −

33
3

3 3 3 3 3
3 4 13 3 4 1 4 1

4 116 4 1 16 4 1 4 1
 )�  

  

132.   

34� (�4��]% �  
���� ���� ��� ��� ��  &ax , a2 0 0= ≠  5��N &����x 0= @/�.  

x x22 0 0= ⇒ =  

x x21
0 0

5
− = ⇒ = )5  

( )x x23 2 0 0− = ⇒ = )c  

x2 5 0+ =   ��x x x( x ) x22 5 0 2 5 0 0+ = ⇒ + = ⇒ = )d  

x
5

2
=−  ��x 0⇒ =   

x7 3 0− + =  ��x x x( x ) x27 3 0 7 3 0 0− + = ⇒ − + = ⇒ = )*  

x
3

7
= �� x 0⇒ =   

x x | x | x2 249 0 49 7 7− = ⇒ = ⇒ = ⇒ =± )6  
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x 1=−   ��x x (x )(x ) x2 2 0 2 1 0 2− − = ⇒ − + = ⇒ = )�  

x 1=−   ��x x (x ) (x ) x2 3 2 0 2 1 0 2+ + = ⇒ + + = ⇒ =− )�  

(x )1 3 0+ − =   ��[ ](x ) (x ) (x ) (x ) x21 3 1 0 1 1 3 0 1 0+ − + = ⇒ + + − = ⇒ + = )70  

x 2=  ��x 1⇒ =−   

( x ) (x ) ( x )(x )2 1 3 3 2 1 3 3 0− + =− ⇒ − + + = )&  

x x x x x x( x )2 22 6 3 3 0 2 5 0 2 5 0⇒ + − − + = ⇒ + = ⇒ + =   

x
5

2

−
=  ��x 0⇒ =   

133.   

x (a ) x a2 1 0+ + + = )ZU	  

x ax x a2 0⇒ + + + =   

x x ax a x(x ) a(x )2 0 1 1 0⇒ + + + = ⇒ + + + =   

x a 0+ =   ��(x ) (x a) x1 0 1 0⇒ + + = ⇒ + =   

x a=−   ��x 1⇒ =−   

ax ( b a)x b22 5 2 5 0+ − − = ).  

ax bx ax b22 5 2 5 0+ − − =   

x( ax b) ( ax b)2 5 2 5 0+ − + =   

b
x

a

5

2
=−  ��( ax b) (x ) x2 5 1 0 1⇒ + − = ⇒ =   

(x ) (x )(x ) (x )+ − + − + − =2 22 2 1 3 3 0 )&  

x x (x x ) (x x )⇒ + + − − − + − + =2 2 24 4 2 2 3 6 9 0   

x x x x x x⇒ + + − + + + − + =2 2 24 4 2 4 6 6 9 0   

x x+ = ⇒ =−
19

2 19 0
2
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134.   

x x2 4 1 0− − = )ZU	  

x x x x (x )2 2 24 1 4 4 1 4 2 5− = ⇒ − + = + ⇒ − =   

| x | x x , x1 22 5 2 5 5 2 5 2⇒ − = ⇒ − =± ⇒ = + =− +   

x x x x x x (x )− − = ⇒ − = ⇒ − + = + ⇒ − = ⇒2 2 2 26 13 0 6 13 6 9 13 9 3 22 ).  

x x− = ⇒ − =±3 22 3 22  

x , x= + =− +1 222 3 22 3   

  

x x x x x x
22 2 21 1

3 0 6 1 0 6 1
2 2

×
− + = → − + = ⇒ − =− )&  

x x (x ) | x |2 26 9 1 9 3 8 3 8⇒ − + =− + ⇒ − = ⇒ − =   

x x , x1 23 2 2 2 2 3 2 2 3⇒ − =± ⇒ = + =− +   

x x x x x x

1
2 2 22 7 11 7 11

2 7 11 0 0
2 2 2 2

×
+ + = → + + = ⇒ + =− )�  

x x ( ) ( ) (x )+ + =− + ⇒ + = =−2 2 2 27 7 11 7 7 27 39

2 4 2 4 4 4 16
   

�Q"! 
�$M ����� 9���70.  

135.   

a b c1 4 2= =− = )ZU	  

( ) ( )b b ac
x

a

2 4 16 4 1 24 4 8 4 2 2
2 2

2 2 2 2

± −− ± − ± ±
= = = = = ±   

x , x1 22 2 2 2⇒ = + = −   

a b c2 1 1= = =− ).  

( ) ( )b b ac
x

a

2 1 1 4 2 14 1 9 1 3

2 4 4 4

− ± − −− ± − − ± − ±
= = = =   
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x , x⇒ =− =1 2
1

1
2

    

( x ) x x x x2 22 3 11 19 4 12 9 11 19− = − ⇒ − + = − )&  

x x24 23 28 0⇒ − + =   

a , b , c= =− =4 23 28   

( ) ( )( )b b ac
x

a

22 23 23 4 4 284 23 81 23 9

2 8 8 8

± −− ± − ± ±
= = = =   

x , x= =1 2
7

4
4

   

x
(x ) x (x ) x x

2
2 21

11 1 1 22 1 1 22 22
2

−
= + ⇒ − = + ⇒ − = + )�  

x x2 22 23 0⇒ − − =   

a b c1 22 23= =− =−   

( ) ( ) ( )
x

222 22 4 1 23 22 576 22 24

2 2 2

± − − − ± ±
= = =   

x , x=− =1 21 23   

136.   

��� (9M�� 9���70 93 %�� ��*G 9A�� �� ����� �� �  ���G �#�G :���I00∆> �$# . 

a a , b , c3 10= = =   

b ac (a) ( )

a a a

2 4 9 4 10 0

9
9 40 0 9 40

40

∆= − = − >

⇒ − > ⇒ > ⇒ <
   


 (9M�� 9���70 93 %�� ��*G  ���G O�#�G 9I#�� 9A�� \� �� �0∆=   

b ac a a2 9
4 9 40 0

40
∆= − = − = ⇒ =   


 (%�� ��*G 9���70 93 9M�� �  �9A�� ��  ���G O�#�G 9I#�� �B"B) �0∆<   
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a a a
9

9 40 0 9 40
40

∆= − < ⇒ < ⇒ > 

137.   

 *T�x �y 9G �� F���� OF�*"KG �Z� ��< %� � �Z� %� �G *G�*G g"8*8 : 

y x , (y ) (x )= + = + 28 1 1   

( x ) (x ) x x x x x2 2 28 1 1 8 1 2 1 6 0⇒ + = + ⇒ + = + + ⇒ − =   

x , x0 6= =   

x 0= ��� J$]� (G�� *"v . �Z� %��*G�,G7  �� ��< � ���� %� J��8 7 42× = ���� %� J��.  �Z� ��< �,7�42 

��� 9���.  

138.   

�0 9A�� t�M (N�) F"!�� 9���70 ��� 9M�� �  �� �ax bx c2 0+ + =  �G *G�*G �$M� >�$N ��
b

a
− ���. 

b , a=− =11 10 )ZU	  

x x1 2
11 11

10 10

−
+ =− =   

x ( x )( x ) x x x x27 2 1 3 2 7 6 4 3 2+ = − − ⇒ + = − − + ).  

x x x x x2 27 6 7 2 6 8 5 0⇒ + = − + ⇒ − − =   

x x1 2
8 4

6 3

−
+ =− =   

x ( x x) x x x x ( )x2 2 22 3 2 3 2 2 3 2 2= − ⇒ = − ⇒ = − )&  

x ( )x2 3 2 2 0⇒ − − =   

x x1 2
3 2 2

3 2 2
1

−
+ = = −   

139.   

b k
x x k k k k

a k
1 2

7 3
3 7 15 6 22 6

5 2 11
+ =− =− = ⇒− = + ⇒− = ⇒ =−

+
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( )
c k

x x
a k

( )
1 2

3
88 2411

35 2 75 2
11

− × −
−

= = = =
+ − +

   

140.   

(x ) ( x )2 26 2 1 697+ + + =   

x x x x2 212 36 4 4 1 697⇒ + + + + + =   

x x x x2 25 16 37 697 5 16 660 0⇒ + + = ⇒ + − =   

9A�� �0 ��� 9G J$0*2 &� /��+I�� �G �� 9���70 %�� ��� F���U.  

a , b , c= = =−5 16 660   

( ) ( )( )
x

216 16 4 5 660 16 13456 16 116

10 10 10

− ± − − − ± − ±
= = =   

x2
100

10
10

= =  -�	 a�#f "��f��� �x1
132

10
=−   

tG*0 &� �'� tZj 9E"I! ��  ��16  *K�� tG*0 tZj �21 ��� .  

tG*0 �)�Q0 %��*G�,G  ��256  �441 ��� .  

141.  

y x= 22 )���  

+∞ 2 1 0 1− 2− 
−∞

  x  

+∞ 8 2 0 2 8 
+∞

  y  
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y x x= − + +2 1 )
  

a = − <1 0  ����� ��6� O%�*IA"G 9!��� � ��� ���B0  ��� %"��< 9G�� 5U .  

b
h

a ( )
= − =− =

−
1 1

2 2 1 2
   

( ) ( ) ( )ac b
k

a ( )

− −− − −= = = =
− −

22 4 1 1 14 4 1 5
4 4 1 4 4

   

��6� aw� >�hI_0                      V:( , )
1 5
2 4

   

�$i0 �G ��$;*G 9eB!y            ( , )0 1     x y= ⇒ =0 1   

y x x= ⇒− + + =20 1 0   

b ac ( )( )∆ = − = − − = + =2 4 1 4 1 1 1 4 5   

b
x x , x

a

− ± ∆ − ± + −= = ⇒ = =
− 1 2

1 5 1 5 1 5
2 2 2 2

   

9eB! �$i0 �G ��$;*G ���x    ( , ) , ( , )
+ −1 5 1 50 0
2 2
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y (x ) (x )= + −3 1 4 )
  

a = >3 0��� x�G ��� 9G ��6� 9!��� O  .y (x x ) x x= − − = − −2 23 3 4 3 9 12   

b
h

a ( )

−= − = − =9 3
2 2 3 2

   

( )( ) ( )ac b
k /

a ( )

− − −−= = = − = −
22 4 3 12 94 225 18 75

4 4 3 12
   

 ��6� aw�V:( , )−3 225
2 12

   

9eB!  �$i0 �G ��$;*Gy      x y ( , )= ⇒ =− −0 12 0 12   

y (x ) (x ) x , x= ⇒ + − ⇒ =− =0 3 1 4 1 4   

H�B! �$i0 �G ��$;*Gx                          ( , ) , ( , )1 0 4 0−   
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y (x )= − + −23 5 )�  

y (x x ) x x x x= − + + − = − − − − = − − −2 2 26 9 5 6 9 5 6 14   

a = − <1 0 O9!���  < ��� 9G ��6���� %"�� .  

b
h

a ( )

−= − =− = −
−
6 3

2 2 1
   

( ) ( ) ( )ac b
K

a ( )

− − − −−= = = = −
− −

22 4 1 14 64 20 5
4 4 1 4

   

     ��6� aw� >�hI_0( , )− −3 5   

9eB!  �$i0 �G ��$;*Gy  ( , )−0 14     x y= ⇒ =−0 14   

�$i0 �G ���$�!x��! ��$;*G �,3.    y = ⇒∆ =− <0 20 0   

  

S�� &� /��+I�� �G �0 :"! ��6� J�BI!� ��� �*3 F�� �� ���$�! 5�$8 .  
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y (x )= − + 22 4 )�  

y (x x ) x x= − + + = − − −2 22 8 16 2 16 32   

a = − <2 0��� %"��< ��� 9G ��6� 9!��� O .  

b
h

a ( )

( )( ) ( )ac bk
a ( )

22

16 4
2 2 2

4 2 32 164 256 256 0
4 4 2 8

−= − = − = −
−

− − − −− −= = = =
− −

   

       ��6� aw� >�hI_0V:( , )−4 0   

9eB!  �$i0 ��$;*Gy x y ( , )= ⇒ =− −0 32 0 32   

9eB!   �$i0 *G a��0x y (x ) x ( , )= ⇒− + = ⇒ =− −20 2 4 0 4 4 0   

  
142.   

x − =4 3 0  f; ��6� 5��B8y x (m ) x= + + −22 1 4 ��� .  

 5��B8 f; x x− = ⇒ = 34 3 0
4

   

(m )
h m m b

− += = ⇒ + =− ⇒ =− ⇒ =−13 1 3 4 3
4 4

   

a = >2 0  ����� ��6� %��*G�,G O���%�*I�3  ��� ���B0)���B0y ��6� aw� >�hI_0 ��.(  

( ) ( ) ( )ac b
k

a ( )

− − −− − −= = = = −
22 4 2 4 34 32 9 41

4 4 2 8 8
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143.  

�$i0 ��� ��6� aw�y ���� ��*� .9���70 �,7�   5U 5��B8 �$i0x =0 ��� .  

( k )b
h ( k ) k

a

+= − = = ⇒ + = ⇒ =−
−

2 2 5 50 2 2 5 0
2 6 2

   

144.  

 9eB! &� ��6�( , )2 9 �0 9���70 �� 9eB! %�� �,7� O��yT  �0 W�N ��6� �,3 .  

y m x (m )x m= − + + −2 1 2 1   

m ( ) (m ) m m m m m= − + × + − ⇒ = − − + − ⇒ =9 4 1 2 2 1 9 4 2 2 2 1 3   

145.   

��� (9eB! 9�  ( , )0 0O( , )6 1 �( , )5 0F���� �� ��6� %�� &� .  

�0  J$0*2 &� F"!�$8y ax bx c= + +2 F",3 /��+I�� .  

( , ): c=0 0 0  

( , ): a b c a b ( )
a , b

( , ): a b c a b ( )

6 1 6 6 1 3 15
5 0 0 25 5 5 0 2 2 2

= + + ⇒ + = −⇒ = =
= + + ⇒ + =

  

9G ��6� 9���70 %��*G�,G  >�$Ny x x= − +23 15
2 2

 ���.  


 (5����� ���0 /�����A0 ('��# �� 9��3�$R  ���",3( , )3 0 �( , )−3 09��A�� �,I��Q� ��6��� ����� .���0  J$��0*2 &� F"!�$��8

y a(x x )(x x )= − −1 2 F",3 /��+I�� .F���� :  

y a(x )(x )= − +3 3   

9eB!  ( , )0 3 ���� ��*� ��6� ��� .�0 W�N x�G 9���70 �� �,7� �,3 .F���� :  

a a=− ⇒ =− 13 9
3

   

9���70 %��*G�,G  9G ��6�  >�$Ny (x )(x )= − − +1 3 3
3

 ���.  


 (9G 9M$8 �G ('#O    ��6�� aw� >��hI_0( , )−3 0    9�eB! &� ��6�� � ����( , )0 3  ��0  ��y�T . ��0    J$�0*2 &� F"!�$�8

y a(x h) k= − +2 F",3 /��+I�� .  

y a(x )= + 23   

 5��� ��*� �G( , )0 3 ���� ��6� 9���70 ��F :  

a a
13 9
3

= ⇒ =   

 9E"I! ��y (x )= + 21 3
3

��� ��6� 9���70.  
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146.   

��� (9���70 ���$�! F�� ��*G  y | x x |2 3 2= − + O9���70 9G H$G*0 ���$�! ��IG�  y x x= − +2 3 2 �0 F�� �� F",3 .

�$i0 *�& 93 ���$�! &� ��Q� 5U br�x ��� ��)��� �+,0 (�$i0 9G �]Q! ��x �0 9,�*� F",3.  

a = >1 0 ��� x�G 9G �� ���$�! 9!��� 9E"I! �� .  

b
h

a ( )

−= = =3 3
2 2 1 2

   

( ) ( ) ( )ac b
k

a ( )

− −−= = = −
22 4 1 2 34 1

4 4 1 4
   

 ��6� aw�V:( , )−3 1
2 4

   

 ��$;*G 9eB! �G�$i0y x y ( , )= ⇒ =0 2 0 2   

y x x (x )(x ) x , x= ⇒ − + = ⇒ − − = ⇒ = =20 3 2 0 2 1 0 2 1   

9eB! �$i0 �G ��$;*G ���x ( , ) , ( , )2 0 1 0   

  

  

 ���$�! �+,0 ���B0 J�))�$i0 *�& ��Q�x (�$i0 9G �]Q! ��x �0 9,�*� F",3.  
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y x | x |= − + +2 2 3 )
  

�0 *c! �� �� *�& ���) �� F�*"T.  

1 (x ≥0   

x , | x | x y x x20 2 3≥ = ⇒ =− + +   

a 1 0=− <��� %"��< ��� 9G ��6� 9!��� O .  

b
h

a ( )
= − = − =

−
2 1

2 2 1
   

( )( ) ( )ac b
k

a ( )

− −−= = =
−

22 4 1 3 24 4
4 4 1

   

                                    ��6� aw� >�hI_0V:( , )1 4   

9eB!  �$i0 �G ��$;*Gy x y ( , )0 3 0 3= ⇒ =   

y x x (x )(x ) x , x= ⇒− + + = ⇒ − + = ⇒ = =−20 2 3 0 3 1 0 3 1   

9eB! 0 �G ��$;*G ����$ix ( , ) , ( , )3 0 1 0−   

2 ( x <0  

x | x | x y x x< ⇒ =− ⇒ =− − +20 2 3   

a = − <1 09!��� O  ��� %"��< ��� 9G ��6� .  

h
( )

−= − = −
−
2 1

2 1
   

( ) ( ) ( )ac b
k

a ( )

− − −−= = =
−

22 4 1 3 24 4
4 4 1

   

 ��6� aw� >�hI_0     V:( , )−1 4   

9eB!  �$i0 �G ��$;*Gy    x y ( , )= ⇒ = ⇒0 3 0 3   

y x x x , x= ⇒− − + = ⇒ =− =20 2 3 0 3 1   

9eB! ��� �$i0 �G ��$;*Gx                ( , ) , ( , )−3 0 1 0   

  

y x | x |= +2 )
  

 ���$�! %�� F�� ��*G�� �0 *c! �� �� *�& ���) F�*"T:   
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1 (x + ≥2 0   

x x , | x | x : y x x+ ≥ ⇒ ≥− + = + = +22 0 2 2 2 2   

a = >1 0��� x�G ��� 9G ��6� 9!��� O .  

b
h

a ( )
= − = − = −2 1

2 2 1
   

( ) ( ) ( )ac b
k

a ( )

−−= = = −
22 4 1 0 24 1

4 4 1
   

 aw� >�hI_0 ��6�V:( , )− −1 1   

9eB!  �$i0 �G ��$;*Gy         ( , )0 0     x y= ⇒ =0 0   

y x x x , x= ⇒ + = ⇒ =− =20 2 0 2 0   

9eB! ���  �$i0 �G ��$;*Gx                    ( , ) ( , )−2 0 0 0   

2 (x + <2 0   

x x | x | (x )+ < ⇒ <− ⇒ + =− +2 0 2 2 2   

y x x= − −2 2   

a = − <1 0 ��� %"��< ��� 9G ��6� 9!���.  

h
( )

= = −
−
2 1

2 1
   

( ) ( ) ( )ac b
k

a ( )

− − −−= = =
−

22 4 1 0 24 1
4 4 1

   

      ��6� aw� >�hI_0V:( , )−1 1   

9eB! ���  �$i0 �G ��$;*Gy        ( , )0 0   x y= ⇒ =0 0   

y x x x , x= ⇒− − = ⇒ =− =20 2 0 2 0   

9eB! �$i0 �G ��$;*G ���x                     ( , ) , ( , )−2 0 0 0   
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147.  �0 9G ��*G F"!�� F"#�G 9I#�� �� 5U p*� � J$R ���G ("eIQ0 �)�Q0 5���U ��� .  � aw� >��hI_0 *T� ��6� %�� ��

9eB!  �$i0 �G ��$;*Gx  �y �0 OF"#�G 9I#�� ��  9G �� ("eIQ0 p*� � J$R F"!�$8 ��U ���F� :  

y x x= − +2 6 5   

b
h

a

−= − =− =6 3
2 2

   

( ) ( ) ( )ac b
k

a ( )

− −− −= = = = −
22 4 1 5 64 20 36 4

4 4 1 4
   

��6� aw� >�hI_0      V:( , )−3 4   

�$i0 �G ��$;*G 9eB!y   x y ( , )= ⇒ =0 5 0 5   

y x x (x )(x ) x , x20 6 5 0 5 1 0 5 1= ⇒ − + = ⇒ − − = ⇒ = =   

9eB! ���  �$i0 �G ��$;*Gx          ( , ) , ( , )5 0 1 0   

F����:  

  

ABCDAB , DC S= = ⇒ = × =2 5 2 5 10   

148.   

      ��6� a�� >�hI_0b
( , )

a a

− −∆
2 4

   

b
b

a

− = ⇒ =0 0
2

   

ac b
c

a a

24 30 30
4 4
−∆ −= = ⇒ =   

y ax a a y x2 22500 250 25030 0 2500 30 30
30 3 3

= + ⇒ = + ⇒ =− = − ⇒ =− +   
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149.   

x x x
23 2 0 3 2
3

− = ⇒ = ⇒ =  )���  

  

x x
2 3 2 0
3

≥ ⇒ − ≥   

x x
2 3 2 0
3

< ⇒ − <   

x x (x ) (x ) x , x2 5 4 4 1 0 4 1− + = − − = ⇒ = =  )
  

  

x x212 4 3 1 0+ + =  )
  

b ac ( ) ( )( )2 24 4 3 4 12 1 48 48 0∆ = − = − = − =   

b
x

a

4 3 3
2 2 12 6

= − = − = −
×

   

  

x x24 10 25 0− + − =  )�  

b ac ( ) ( )( )2 24 10 4 4 25 100 400 300 0∆ = − = − − − = − = − <   

����! �B"B) 9A�� 9���70.  
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150.   

x x x x2 29 20 9 20 0< − ⇒ − + <  )���  

x x (x )(x ) x , x2 9 20 0 4 5 0 4 5− + = ⇒ − − = ⇒ = =   

  

x ( , )4 5∈  ��x4 5< <  :9�$�E0   
�$M  

  

x x24 7 0− >  )
  

x x , x
44 7 0 0
7

− = ⇒ = =   ��x x x( x) x24 7 0 4 7 0 0− = ⇒ − = ⇒ =   

  

x ( , )
40
7

∈     ��x
40
7

< <  : 
�$M 9�$�E0  

  

( x ) (x ) x x x x2 2 2 22 1 5 4 4 1 10 25− > − ⇒ − + > − +  )
  

x x23 6 24 0⇒ + − >   

x x x x (x )(x ) x , x2 23 6 24 0 2 8 0 4 2 0 4 2+ − = ⇒ + − = ⇒ + − = ⇒ =− =   

  

x ( , ) ( , )4 2∈ −∞ − +∞∪  ��x 2>  ��x 4< −  :
�$M 9�$�E0  
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151.  

��� (%�� ��*G  ���G O�#�G 9I#��! �B"B) 9A�� 9���70 930∆ < �$#.  

b ac ( k) ( )( ) k k k k( )2 2 2 24 2 1 4 1 1 4 4 8 4 4 8∆ = − = − − = + − − = −    

k k20 4 8 0∆ < ⇒ − <    

k k k(k ) k , k24 8 0 4 2 0 0 2− = ⇒ − = ⇒ = =  

  

 9E"I! ��k0 2< <.  


 ( ���G O�#�G 9I#�� ���D0 9A�� 9���70 93 %�� ��*G0∆ = �$# .  

k k k , k24 8 0 0 2∆ = − = ⇒ = =    


 (%�� ��*G  ���G O�#�G 9I#�� �:E0 9A�� 9���70 930∆ > �$# .  

k k24 8 0∆ = − >    

  

k ( , ) ( , )0 2∈ −∞ +∞∪    

  

152.   

x(x )21 0− ≥  )���  

x 0=   

(x ) x21 0 1− = ⇒ =   

 93 F",3 ���(x )21− z�:G ����B0 /��$�� ��! �0`� %""78 �� 5U %��*G�,G O��� *+N ���Q0 �� *8 F",3.  

 5$-x(x )21 0− ≥ G O��� %��*G�,x 1= �0 
�$M 9�$�E0 {:M �$#.  

  
x [ , )0∈ +∞   ��x 0≥  : 
�$M 9�$�E0  
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( x)( x )( x )2 3 1 2 3 0− + − >  )
  

( x)( x ) ( x ) x , x , x− + − = ⇒ = =− =1 32 3 1 2 3 0 2
3 2

   

  

x ( , ) ( , )
1 3 2
3 2

∈ −∞ − ∪  : 
�$M 9�$�E0  

( x ) (x ) (x ) (x )− − + + <2 2 43 2 3 1 2 0  ) 
  

>��]� ���(x )23−O(x )21+O(x )42+ z�:G 9A�� ���G fB2 %��*G�,G O�,IQ� *+N ���Q0 �� *8 5U ���  
�$M 9�$�E0 &� �� ��

F",3 
��; .  

  

( ) ( , ) ( , )
22 2 1 1
3

−∞− − − −∪ ∪  : 
�$M 9�$�E0  
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(x )( x )

x

1 3 2
0

5 2

− −
≥

−
 )�  

x x

x x

x x

1 0 1
23 2 0
3
55 2 0
2

− = ⇒ =

− = ⇒ =

− = ⇒ =

   

x
5
2

= �0 *+N �� 
*_0 �*�& O�Q"! 
�$M 9�$�E0 {:M �,3 .  

  

( , ] [ , )
2 51
3 2

−∞ ∪  : 
�$M 9�$�E0  

x
| |

x

2 3
2 3

+ <
−

 )�  

x

x

23 3
2 3

+⇒− < <
−

   

F���� 9E"I! �� :  

x

x

2 3
2 3

+ <
−

  )2    (   �x
( )

x

21 3
2 3

+− <
−

   

 >x��70�! 
�$M 9�$�E0)1 ( �)2 (9G �� �0 ��� 5U %"G � F���U �0 |�*I#� �� F�*"T) ..�*- (  

x x x x

x x x

2 2 2 6 93 3 0 0
2 3 2 3 2 3

+ + + + −> − ⇒ + > ⇒ >
− − −

   

x

x

7 7 0
2 3

−⇒ >
−

   

x x7 7 0 1− = ⇒ =   

�0 *+N �� *Q3 
*_0 �,3 .x x
32 3 0
2

− = ⇒ =   
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( , ) ( , )
31
2

−∞ +∞∪  : 
�$M 9�$�E0)1 (  

x x x x

x x x

2 2 2 6 93 3 0 0
2 3 2 3 2 3

+ + + − +< ⇒ − < ⇒ <
− − −

   

x

x

5 11 0
2 3

− +⇒ <
−

   

x x
115 11 0
5

− + = ⇒ =   

�0 *+N �� *Q3 
*_0 �,3 .x x
32 3 0
2

− = ⇒ =   

  

( , ) ( , )
3 11
2 5

−∞ +∞∪ �E0 
�$M 9�$)2(  

�0 |�*I#� /�0U ��� 9G 
�$M 9�$�E0 �� %"G J�) F�*"T .  

( , ) ( , )
111
5

−∞ +∞∪  :
�$M 9�$�E0 
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153.   

x x

x x

x (x )
(x ) x

(x )x

(x ) x

x x

x x

( x ) ( x ) ( x ) ( x )

( x ) ( x )

x

( x ) ( x )

x x

x x

x x

− −
− −

− −
− −

< ⇒

< ⇒

−− < ⇒
− −

− −− < ⇒
− −
− − − − −

<
− −

− <
− −

− = ⇒ =

− = ⇒ =

− = ⇒ =

3 1 33
1 3 7

3 1 3 3
3 1 3 7

2 8

2 2

3 33 1
3 1 3 7

3 1 3 9 0
3 3 3 7
3 1 3 7 3 9 3 3

0
3 3 3 7

12 20 0
3 3 3 7

512 20 0
3

3 3 0 1

73 7 0
3

  

  

x ( , ) ( , )
5 71
3 3

∈ −∞ − ∪   

154.   

x x ( )

x x x x ( )

2

2 2

3 2 0 1

3 2 2 2

 − + ≥


− + ≤ −
  : a�	 -U�@  

x x ( )

x x x , x

x x x x x x ( )

2

2

2 2 2

3 2 0 1

3 2 0 1 2

3 2 2 2 5 2 0 2

− + ≥

− + = ⇒ = =

− + ≤ − ⇒ − + ≤

   

x x x , x2 12 5 2 0 2
2

− + = ⇒ = =   
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x x ( )

(x x ) x x ( )

2

2 2

3 2 0 1

3 2 2 2

 − + <

− − + ≤ −

  (�� -U�@  

x x ( )

x x x , x

(x x ) x x ( )

2

2

2 2

3 2 0 1

3 2 0 1 2

3 2 2 2

− + <

− + = ⇒ = =

− − + ≤ −

   

x x x x2 23 2 2− + − ≤ −   

x 2 0− ≤   

x x2 0 2− = ⇒ =   

x [ , ] ( , ) { }

x [ , ]

1 1 1 2 2
2
1 2
2

∈ ⇒

∈

∪ ∪

  

  

155.   

 g8*0 
�& ��(a ,b)  �(c,d)  /�T*� OF"�$T *G�*G ��a c=  �b d= �#�G.  

( a b , a ) ( , )2 3 4 1 5 2− − =    

a b
a ,b

a

2 3 5 3 7
4 1 2 4 6

− =
⇒ ⇒ = = −

− =
  

156.  

 
( m , ) ( ,m )

m m

2 1 4 5 1

1 4 3

− = +

+ = ⇒ =
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157.   

9,�:T  �)��� (��� tG�8.  

9,�:T �)
 (��� tG�8.  

9,�:T  �)
 (�Q"! tG�8  .J�� S�� :� 9eB! ��*Gx 1=  ���B0 ��1  �1- ���� �$M� .  

( )( , ) , ( , )1 1 1 1−   

V�� S�� : f;x 1= �0 te� 9eB! \� &� d"G �� �� ���$�! �,3 .  

9,�:T �)� (�Q"! tG�8.  

 f;x 1=  �x 2= �0 te� 9eB! \� &� d"G �� �� ���$�! �,,3.  

158.   

%�� ��*G 
�& ���G O�#�G tG�8 9eG�� %�� 93  g8*0  ���( , )4 3−  �( ,a )24 1− − �,#�G *G�*G .%��*G�,G :  

a a a2 21 3 4 2− = ⇒ = ⇒ = ±   

)b ��� *� �0 �B"B) �#�G �!�$8 (a (a , ) , ( , ) b2 6 3 4 3= ⇒ − − ⇒ ∈ℝ  *T�  

a (a , ) ( , ) ( , ) ( ,b) b2 6 3 8 3 8 3 8 3= − ⇒ − = − ⇒ − = − ⇒ =  *T�  

159.   

��� (9+�o0 �� ("eIQ0 *T� 9+�o0 �� 5U f"i0 O J�� � 9eG�� OF�*"KG *c! �� V�� �  *T� ��� ��� tG�8 /�0U �$M� 9G �

9+�o0 �� f"i0 9+�o0 �� ("eIQ0 � J�� � OF�*"KG *c! �� V�� � ("eIQ0 ��� %'�0 �*�& O�Q"! tG�8 9eG��  O>��+I0 ���

f"i0 �,#�G 9I#�� �!�Q'� ���.  


 (9,�:T �Q"! tG�8 � . ��� ��*G �*�&3 ���� �$M� >��+I0 ���B0 ��.  

  

  

160.   

{( , ) , ( , ) ,( , ) ,( , )}1 1 2 2 1 2 2 1   

9eG�� �Q"! tG�8 *c! ��$0 � .  

161.   

��� (\� �6,8 ^_# *� ��*G �*�& O��� tG�8 9eG�� %�� ���� �$M� �AK!� *n� .  


 (�Q"! 5�Q'� ������ ~"� V$� 5�$8 �*�& O ��� tG�8 9eG�� %��.  


 (���� �h_A0 5�K��Q�� ���78 �$A3 \� �*�& O��� tG�8 9eG�� %��.  

� (W��,N \� 5��� �*�& O�Q"! tG�8 90�! ���78 9A"�� �IQ< �!���! ��*� 5�Q'� ���.  
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